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CONVENOR, CENTRALIZED SELECTION & APPOINTMENT COMMITTEE
-CUM-PRINCIPAL DISTRICT & SESSIONS JUDGE, PATNA

NOTICE

In connection with the appointment to the post of Clerk in Civil Courts
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QUESTION BOOKLET OF THE CLERK (15T SHIFT) EXAMINATION-2022

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Booklet Series
Eoll No. : A
Time Allowed : 2 Hours Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series,

Enter your Roll Number on the Question Booklet in the Box provided above, DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken ene circle by black or blue ballpoint
pen only. Do not mark on more than one cirele. Darkening more than one
circle will be treated as wrong answer.,

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer,

Questions in General Knowledge, Mathematics, Reasoning & Computer are

both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi

Translation.
Two pages have been provided for Rough Work in this Question Booklet,

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates,
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Directions (01-04) : Read the passage
and then answer the guestions based on it
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASBAGE
The debate about whether men are
stronger than women is often unclear

because the word "strong” may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease.
They also often excel in tasks reguiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different
areas, and to argue otherwise
oversimplify the topic,

is to
1. Why is the debate about whether men
are stronger than women unclear ?

{a) Because both genders are equally

strong in all aspects.

(b) Because the word “strong” may

mean many different things.
(<)

Because men are always stronger

than women.

Because strength is only measured
by physical power.

(d)

2.  According to the passage, men generally
excel at which of the following ?

{a) Living longer.

{h) Tasks requiring precision.

{c) Lifting heavy objects and physical
labour.

{d) Resistance to disease.

101

&)
(b)

(e}
{d)

(&)

(b}

e}

(d)

(A-3)

4, What is the main
passage ?

3. What strength do women tend to have
over men, according to the passage ¥

They are better at lifting heavy
objects.

They live longer and have stronger
resistance to disease.

They can strike forcefully.

They are in physical

labour.

stronger
message of the

Men and women are equally strong
in all areas.

All women are incapable of
running, jumping and doing
physical labour because they are
not strong.

Men and women are strong in
different ways, and the argument
about one being stronger than the
other oversimplifies the topic.

Only physical strength should be
considered when comparing
genders.

Directions (05-09) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words

given,
5. Vitriolic
{a) Imaginative (b] Sprightly
e}  Vivacious (d] Abusive
6. Candid
{a) Kind (b) Courtecus
{c] Generous (d) Frank
7. Profane
(a) Assert {b) Benefit
{c] Lengthen [d) Desecrate
8, Interpolate
(a) Clarify (b) Investigate
{c) Reverse (d) Insert



alternative that is most nearly opposite in (s

me

10.

11.

12.

13.

14.

Nadir

{a) Asylum {b) Heaven

{c] Lowestpoint ({d} Zenith
Directions (10-14) : Choose the

aning to the given words.
Flasco
la] Success (b) Joy
(e} Fun (d] Disaster
Confident

la] Imprudent (b} Impatient

(c) Diffident {d) Reluctant
Mammoth

(a) Significant (b) Small

[c) Unruly (d) Noisy
Engrossed

(@) Occupied (b} Inattentive
(¢) Engaged (d) Absent
Altruistic

{a) Selfish (b) Inhuman
e} Brutal (d) Wicked

Directions (15-17) : Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

15. To leave no stone unturned

16.

a) to keep clean and tidy
(b} to try utmost

(c) to work enthusiastically
{d] to change the things
Through thick and thin

a) bigand small

(b} large object

(c) wunder all conditions

(d) thin and fat
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17. 1l at ease
[a) Restless ib) Worthless
¢} [Listless (d) Sleepless

Directions (18-20) : Out of the given
alternatives, choose the one which can best
ke substituted for the pgiven words or
sentence,

18, One who cannot be corrected.
{a) Incurable (b} Incorrigible

{¢) Hardened (d) Imvulnerable

19. One filled with excessive and mistaken

enthusiasm in a cause.

(a) Pedant (b] Patriot
e} Fanatic (d) Martyr

20. An office with no work, but high pay.
(g} Honorary {b) Sinecure
e} Ex-officio (d] Reticent

21. The loudness of sound depends upon the

(a) velocity of sound waves in the
medium

(b) amplitude of the sound waves
{¢c) frequency of the sound waves

(d) frequency and velocity of the sound
waves

21, e B Eea R e B
(o) =TeEE F ey W @ AT 9
(b) eaf Tl @ A W
() eafy T W amghy W
@) ef g @ emghy iR 9T R

22. The absolute zero temperature is 0O

Kelvin. In degree celsius ("C) unit,
which one of the following is the
absolate zero temperature 7

(@) 0°C (b) -100°C
(¢ -273.15°C  (d) -173.15°C



22,

23.

23,

24,

24,

25,

25,

we g e o Sfead B fER
Afewas (°C) wrFe § 9T I T
frafafed # & P 8 7

(a) 0°C (b) -100°C

() -273.15°C (d) -173.15°C
Brine is an agueous solution of

(a) NaCl (b) NaOH

(e} NaHCO, {d) Na,CO,

waor e (gree) e Wty e 27
(a) MNaCl (b) NaOH

{c) NaHCO, {d) Na,CO4

Blood is a type of

(a)
(b)

(e)
(d)
T UH THR H
()
(b)
(e}
(d)

Epithelial tissue
Muscular tissue
Nervous tissue

Connective tissue

IIHAT HAP
9 P ©

aferm &0s &
A Has &

‘Lub-Dub’ sound is produced due to
action of :

(a) Large intestine
(b) Lungs

(c) Heart

(d) Oesophagus

wa-Ta @ feuer frar @ oRY
T~ 2T E 7

(@) TE &t
() =4

(b) BEHES
(d) T
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26.

26.

27.

27.

28,

Who was the Education Minister in the
first Cabinet of Independent India ?

{a) Sarvepalli Radhakrishnan

(b) Sardar Vallabhbhai Patel
{¢} Maulana Abul Kalam Azad
(d) Acharya Narendra Dev

wds Wa & wow dtmvea # e w15
B 9 ?

(a) TR T

(b) TRER FeerHIg Ued

(c) WG HYA FelH e

) amerd 9= 29

which ene of the following associations
was founded in London by Dadabhai
Naogroji in 1866 ?

(&)
(b
(e}
(d) The Madras Native Association

a§ 1866 § TETAE AR g @=A A,
fyfafag & @ S99 ¥9 (R #
YA B TS 7

The Bengal British India Society
The East India Association

The British Indian Association

(@) T &ma Aty s v
(b) = $¥T TS THIRGY

© = fafew ghegs gaRge
(d) < TET AfeT gHITH

Who is presently the Secretary General
of United Nations Organisation :

{a) Antonio Guterres
(b) AminaJ. Mohammed
{c) Dennis Francis

None of these

d)



28. FAM ¥ WgEW WS WA P FEAAG B

29,

29,

30,

30.

a1,

€7

(a) VerHE TR
(b) ST S0 HIEEE
(c) =g wiftrd
(@ T H Prd TE

Jelep La pass is located in
(a) Punjab Himalaya

(b} Sikkim Himalaya

{c] Kumaon Himalaya

(d) Keshmir Himalaya

Wy g HEl oAt 2 7

(a) Hoirg feATerd

(b) fafews e

() A fEmTE

(d) @R fRwrea

Which one among the following is the
coral group of islands of India ?

(a) Andaman (b) Nicobar

(c) Barren |d) Lakshadweep
fefefea § & @98 e ANd &
ware gro—wng & ?

(@) 3wSHH (b) FrEER

() &% () FEET

Fundamental Right under
Constitution of India ?

{a) Right to equality

{b) Right to freedom

(c) Right to citizenship

(d) Right against exploitation
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Which one among the following is not a

the

(A-8)

31.

32,

32.

33.

33,

WA & WA ® g eferEd § |
BF—a U Afes (1) sifter T8 8 7

(a) VIR T IR

(b) &I FT ARHR

() AMRE BT ARBR

d) W & [Tog ler

The Basic Structure Doctring’ was
enunciated by the Supreme Court
during the

[a) Golak Nath case

(b) Maneka Gandhi case

{c} Kesavananda Bharati case

(dl S.R. Bommai case

ETeE He famra @R wER
Eiftes) Fegan =ATay g foa Al
& ¥R e figr T ?

la) TS AHAI

(b) E® TN AT

(c) AT IR AHT

(d) TR0 RO AT AT

Wha among the following was not a
member of the Drafting Committee of
the Constitution of India ?

{a) B.E. Ambedkar

() K. M. Munshi

(e} Krishnaswamy lyer

(d) M. K. Gandhi

T U B AR @ i @ yree
wafafe & e FE o1 7

(@) H0 RO FESFR

(b) 0 THO H¥T
(c] MM TR
(@ THo wo W



34.

34.

35.

335,

36.

36.

37.

Which one of the following is not an
ASEAN member ?

(e) Cambodia (b) Laos

¢} Myanmar (d} Taiwan
frafafaa & § S9-1 U6 ASEAN &l
e A8 8 7

(a) FHEIETT (b) TR

fe) wAHR (d) argar

In the term GIS, ‘G’ stands for

(a) Google (b} Geographic
() Goodness (d) Geological
gsTeE o frmyas foge?
(@) TS (b) formfes
() TETH (a) P

What will be obtained by multiplying the

difference obtained by subtracting 3-;

from 9% by 450 ?

(a] 2250 (b) 2045
(c) 2540 (d) 2450

9%#% %mrwmﬁmaﬁdrsu
A O HET I T T B 7

fa) 2250 (b) 2045

{c] 2540 (d) 2450

If ik B N then, what is the value of
2 2 5

ratio (C+A) : (A+B) :(B+C)'?
fa) 64:25:49
(b) 54:35:39
(c) 64:55:49
[d) 64:25: 51
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(A7)

37.

38,

38,

39,

39.

40,

, @ e
+C) &1 A4 w27

o2 B
3 2

(C+A)y:(A+Bf

|6

o]

(@) 64:25:49 (b) 54:35:39
() 64:55:49 (d) 64:25:51

Two numbers are in the ratio 1 : 3. If
their sum is 240, then what is their
difference ?

(a) 120 (b) 108

() 100 (d) 96

q HWemd 13 @ agua # #) ulR
TEl AMTEE 240 BN, AT gF@ N
from 8 ?

(&) 120 (b) 108

(¢} 100 {d) 96

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then
B leaves the work. In how many days can
A alone do the remaining work ?

(a) 11 (b) 13

(e} 15 (d) 17

A e TF B @ 20 B A wera
FY HFAT & Wald B JbA 3T @G B
25 feq 4 9w P wWear & g
frase 5 i =t w0 & fFr B F19
BlEdY ool Wl &1 99 wmrd @ A
arden fras f&a & e urdom ?

(@) 11 (b) 13
() 15 (d) 17

A can do a piece of work in 4 hours, B
and C together in 2 hours and A and C
together in 2 hours. In how much time
B alone can complete the work ?

(@) 10 hours {b) 12 hours
{c}] 8 hours (d} 24 hours



40. A TS Hd # 4 e | B a1 ¢ Faw

41.

41,

42.

3 gve § @ A 3y ¢ fAesy 99 2
e ¥ R P WA E| B ¥wen IH

®d @ e vy § O & ?
(@) 1097
(b) 1292
(e 8HWE
(d) 24"V

A man goes from A to B at the speed of
60 km/h and returns from B to A at the
speed of 40 km/h. What is his average
speed for the whole journey ?

(a) 50 km/hr
(b) 48 km/hr
(€] 45 km/hr
(d) 55km/hr

T @fegd A 9§ B @ 60 fdle ufe
grer B My W T 2 G B Y A TF
40 fFfte oft Tver & 7% | e 8|
Wt g @ forg sweR sftea TR
fHT 8 ?

(@) 50 e /HeT
(b) 48 fdHie /HET
(c) 45 o /der
@) 55 f&e /HeT

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken toreach rom Bto A 7

(a) (b) 2:3
(] (d) 3:2

o
B |
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(A-B)

42,

43,

43,

44,

44,

vm @ g A @ g B 9 4
fadto / mver 1 i | e & @ 9w
fog B @ fig A @@ 6 f&¥lo,/ wwem
@ nfd § wea &) A § B @ dgu
991 B § A TF AW H @ WG @

FUTeT @91 N 7
(a)
(e

Simple interest on a sum of money is

5:3 b] 2:3

2:1 d) 3:2
equal to % of principal, and number of

vears is equal to rate of interest. What is

the percentage rate of interest per
annum ?
la) 2.5% (b) 5%
1
&) 7,% (d 10%

ﬁﬂﬂ?ﬁwwmqﬁmm%

2 oy a9t #) wem, kv ¥ F avEy
T Haffs e e ?

fa) 2.5% (b) 5%

(d) 10%

Find the compound interest of Rs.
125000 at 8% per annum for 9 menths,

when the interest is payable quarterly.
(8}
{c)
125000 B0 &7 8% THF S A 9 A F

PGl @A T PG, TEE @
fomrer g #

7651 %0

Rs. 7651 (b) Rs. 7605

Rs. 8652 (d) Rs. 8052

(&) (b) 7605 %0

8652 %0 (d) 8052 %0

(c)



45.

45,

46.

46.

47,

47,

48.

What is the value of {0.74 +0.48 +0.90)
(a) L1.87 ) 214

) 356 d) 412

(0.74 +0.48+0.90) &1 = @1 & 7

(a) 187 (b) 214

() 356 (@) 412

A set of instructions in a sequential
manner telling the computer what to do
is called :

{a) Instructor
(c) Program
TRIEY @, 99 &A1 8, g8 qar @ forg
R o T el GHR) B wE
(set) T THET AT 8§ :

(a) F¥EIN (b) FHIRER

c) WA (@) F—arE

Electronic components predominantly
used in first generation computers were

(a)
(b)
(c)
(d)
e O B FeEy § T WY 9
ﬁﬁﬂﬁ‘rﬁﬂiﬂﬁﬂﬂﬁﬁﬁ:

(&) FHESHT T

(b) AfoTRER

(c) frrafe ey

(@

A source program is directly converted
to .exe file by which of the following ?

(b} Compiler
{d}) Key-Board

Magnetic drum
Transistor
Vacuum tubes
IC

(b) Interpreter
(d) Linker

(&)

]

Compiler

Assembler
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48,

48,

49,

50.

50.

ol.

S51.

= § @ fawe g9 e =0 WHH
W exe WA # giafda 2 & 7

(@) THETEEY (b) FERHER

(c) oTH=EN (d) e

Which protocel is commonly used on
internet to exchange files ?

(a) Telnet (b) Gopher

(¢} FTP (d) SP

BEA & AgE-4cel BY FEve W
e fa weTele @ S e
W 87

(a) TeHT

(c) UWoElcdio
Which of the following command is used
to-add hyperlink in a document ?

) Ctrl+F (b) Ctrl+ K

(¢) Ctul+B (d) Ctrl+V

TH Sy ¥ SR oM @ o
e & | g @wis & wam e S
27

(a)

(e)

The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called

(b) TIMET
(d) wHedlo

Ctrl+ F (b) Ctrl+K

Ctl+ B (d) Crl+V

as;
(s} HDD (b) ROM
(c) RAM (d) SSD

FAN HT 98 FHR W aF & SR el
w0 ¥ @fa gifod sifest & dulsd
oYl B

HDD
RAM

(b) ROM
(d) SSD

()
e)



22,

52,

53.

54,

54,

59,

23,

A web page is primarily written in the 56.
language
a] C++ (b} Python
[c) HTML (d} Java
forar @ &1

56.
fa) C++ (b) GrEET
{c) HTML (d) ~ITET
Every web page has an address
associated with it. This address is
known as

S7.
(a) URL (b) IP
cj TCP (d} Browser
B 49 UW @ W UF I Ger el 2|
(a) URL (b) 1P 57,
() TCP (d) FTIEN
A popular protocol for sending e-mail is
(@) TCP (b) UDP
{c) SMTP (d) HTML
-9 wom ® o va Al detetd -
& ;
&) TCP (b) UDP
c) SMTP (d) HTML
MAC address is .....cooovvivninenns bits long.
(a) 24 (b) 48 &8,
) 124 (d) 64
A& (MAC) TRW ......... [CH &7 BTl 8
(a) 24 (b) 48
) 124 (d) &4

{A-10)

101

Temporary storage area that
compensates for differences in data rate
and data flow between devices is known
85 ereirreens
(a) Bus (b} Channel

{c] Modem (d) Buffer

FRYTET YOSV & Wl IUSIO H 4™
€7 oX &R BT YAE & I B HRUE

FAT & 98 FEoTT B
(b) A

(d) TR

(a) ®H

() S
FTP stands for
a] Folder Text Protocol
(b)  File Transfer Push

(c) Fixed Terminology Flacement

(d) File Transfer Protocol

FTP & @9y &

(a) TR THT WEIDId

(b) BIEA grTHY g

(c) frrae efifFme i<
(d) WTFH STHEY TRl

All the deleted files go to

(a) Recycle Bin

(b) Taskbar

(e} Tool bar

(d] My Computer

W fecfie & g8 wge e J o 2
(a) TreTawe @

(b) EREER

(c) TEER

(d) TS TR



59.

5O,

B0.

60.

Which of the following is not an
operating system ?

(a) DOS (b) UNIX
(c) LINUX (d) MS-Office
ffefiag % § o afnfen fawes 78
g7

@) W (b) gfra

(c) ferTed (d) THOUHO MU

The process of switching from one open
windeow to another is called

(a)] Task switching (b} System call
ic) Moving (d} None of these

TE ST fase ¥ o sl fasst A
i B e B 1 O 1 L 5

fa) T Rl (p) Ried @@
(c) AT (@) P T
e (61-65) : F=fofag & & 4=

FIA1 918 TS ol T8 Sihey—

B1.

62.

63,

B4,

B5.

(a) faerry (o) faserem
€ fazerm (d) faweror
la) HESTH (b) EEEOT
(c) ¥reeryTr (d) HwrEE
(a) HfEATS (b) WTENGE
(c) wTEfT® (d) wifefeas
(a) RR (b) v
c) FEEHR (d) TR
(a) et (b) freisich
(c) Fremsfar @ freerefe

frder (66-70) : Frforfa wes woEl &
fog w& e ww s fay v Rwedt d @ 74
66. forad WA g1 7 B1-
() @RS (b) w@fife
(c) e (d) sl
67. T8 WD g WE Y I H TN
wred 8—
(a) T (b) ¥t
fc) W ¥ (d) IIRTE
68. T ¥ H BT HYAT B
(a) TFE (b) =¥aR
(c) TR (@ frddr
69. foH® FN—IR ST W HI—
(a) e (b) WeEFEE
(c) e (d) SrTeTEE

70, Mg | 997 Afe-
(a) @S (b) gfRw
() WS (d) qEg

e (r1-72) : f=fefeaa Hemasr/
wrefaagl o1 aef 99 fou v fawei H 9

T
71. AR B G W "o @ of 8-
(a) I B
(b) ERTReTE @R oAl
(c) = F=
(d) Fiea T FET

72, ‘B @7 #a @ aref -
(a) T TN (b) P TG
(c) wET T (d) | TG

(A-11)
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fader (73-76) : frefafad sraaRor @1
W e @ Rewgar @, Ry Ty e
W gHT-

@ A forw W] F OEl, 99 98 9Ed
I% N & w9 9w AW @ Wi, wten o
STEAT | W A8 9 | g =@E § fF g
a—dr B a1 TvEr e B e & am,
W4 I EIGY U A BN @Y ol 8, O S
B w W ok wifly @ geeT e o /s
8, foret s W= omR ok wif & amee
¥ faqw vear 2| o 78 & oo @ 09,
e & Sav § uH= 819 B, 98 S e
U G o < A Es o S
apTEny YEal & | 9ue fag @ & 9w o FE
2| ST, SHE—PE ¥ SO 5@ B
o et § U8 aE—der wWIfds &
W 8, W 9w A W fim & o g2
W &1 A T o Swew 98 wee g §
v 7 O dwWHN IS W BT 8| F9 W
wam gifeas Witas @1 7 garar 7ar € |

73. TENE w1 WE oE B
(a) 3T (b) EF—™
() @ e e () @ e i

74, A B FAEIU Wed IWEHT T
vEdl 8 7

(a) @€ Wiftad HEA S o €

(b) ToE=T & 9+ & yg= & @ 9%
FH! ITEL S| Horan

(c) M N I B 98 HDD G
H) Wi & Har 8

(@) o & 999 9 98 s 8 o
2

(A-

101

75. WIfead oiaw H1 ST 59 wEr M E 7
fa) e (b) W
(c) TRIYDN (d) =T

76, JHAN [F¥ WHR 9 @ H T4 8 ?
(o) w7 @ off T BN wrogm A

T ®

(b) O WISl 5 BIF 1 g% H/E T B
(c) WA WIS BH H g AAT TAT 8

(d) IT-TEA W TOAH GW AN
T

fdy (77-78) : fA=fofaa o1 @
TRt e &1 wae 9ed [/ v fest A
W P —

77. e
(a) EmERETT (b) 9Ew
() HaH (d) el
78, T
(a) FEPR (b) HESN
fc) =a=T (d) wEET
frder (79-80) : F=fefEa sl &

fasim o= &1 9 99 R v Reei 4 8
o

79. “IEH
(a) HGH (b) %A
() FR=d (d) =
8o. e
(a) RO (b) Wer
() 3he (d) e

12)



Direction (81-84) : Read the following

information carefully
questions given below it ;

Six friends A, B, C, D, E and F are
gitting in a row facing towards North. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at
the right end.

and answer the

21. How many persons are there to the right

of D ?
(a] One (b) Two
(¢} Three (d) Four

82, Which of the following pairs is sitting to
one side of D ?

(a) FB (b) FC
{ci FE (d) AC
83. Who is sitting immediate left of C ?
fa) A () E
ic} B d F
B4. Who is at the right end ?
fa) A (b} B
(c} E (d) F

fAdwr (81-84) : Awfeias ga=mad &1
LGP EikEC A C | I G L S
S A

UE ST A, B, C, D, E 3R F o8 &1
SR 9 wed (9 90 F 40 T c, A SN E
AT SRIEI DT HAE B B,E T O
gW ST & | F S0 § 3@ # 78 &

81. D % ST ¥R foom @ & 7

(a) W& (b) &I

(c) (d) =X
g2, Ffefag 9 s9-wT TR D & %

A do1 7 7

(a) FB

(c) FE

(b} FC
(d) AC

83, CH OF ¢ NG P doT & ?

a) A (b) E
(e} B (d) F
84, T[T fF R B 43T 7
(@) A (b) B
e} E (d) F

Direction (85-87) : Read the following
information and answer the gquestions given

below :

B is the mother of A, C, B's gister, has a
son D and a daughter E. F is the maternal
uncle of D.

85, Howis Arelated to D ?
(al Cousin (b} Nephew
(¢} Maternal Uncle (d] Brother
86. How is E related of F ?
(a) Sister (b) Daughter
[c) Niece (d} Wife
87. How many nephews does F have ?
{a) Nil
fc) Two {d) Three
fade (85-87) : fA=fafag Ao od
affr 7 &y v et #1 9w d-
B, A @I # 8| C,B @ g8+, @I (@ &I
DESNUHE I EE|F,D B AAE|

85. A, D ¥ fbg yeR ddfdw & 7

(b) One

(@) AW HE  (b) W
(c) AT (d) =g
86. E,F ¥ frg vor w4 & 7
@) EF (b) 9
(e) Gl (d) T

(A-13)
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87, F& fhom Wi € 7
(a) TP A E
() & (d) T

Direction (88-90) : In each of the
following guestions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

88, NECESSARY

(b) U=

(a] One (b) Two

[e] Three (d) Four
B9. PREAMBLE

(a) One (B Two

(c) Three {d) Four
90. ORIENTAL

(a) One (b} Two

ic) Three (d} Four

fade (88-90) : Fr=faifie 4 ¥ W=
ed # faw U owswm A o & Ud fhae @i
g e &g 9= & 9v € R 1% sien
auiRTer # 3@ 4 B § 7

88, NECESSARY

& TP (b) &

fc) = (d) =M
89. FREAMELE

(a) T® (b) &

(c) W (d) =
90. ORIENTAL

(a) TP (b) =

e @ (d) =

(A-14)
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VY 0% NIHI I8 WA YRT Wie Bl 7 Pl WY 79 qb A @l |

e W g Sl

—— A

fuifts w9y : 2 e HRHTH 3T : 90
Wil @ fog fdy

10.

TiET Y& B @ qrd ae ot 9 gReT ax o & gw we-gRaer oo 16 tei @1 § @@
felt 0 TR 9§ SEfew T Bl g% 7O € U T6e U S B ame 5 T £ A U E
1 §8 WA AEe ai TE-gRas ¥ 989 o 9|

AP U FEHIF FE-gRaE 4 SR R T @ A v g e sfiie re-gRes w
@B A 7 fod 3R 5 vor &1 smaws fe | T

argfial @t Syee w8 OMR Sheet ® aifta gaan Fui ®@ ® wa 96 81 9
T Al & 3R I YR @ oeeed e T8 e 6| eegd S OMR Sheet ®
SueE |

w8 Tm-uiea e @ oy PeiRe @ e @ e @ A i @ e R @ E ofe
T @1 fifed 7 &) @ ¥ 9% e T o @ oY A BT 7 W 99 IR @ T w
oe |

w8 g 4 9 B 4@ = ) d@n 7 oY | Welw, OMR -1 @ &8 d8% &I
i & | snyeRt we-wA @ 9% Wi S0 R | O @l SE E

o ve-gfaat & w@ 90 ¥F £ | TRE U 9 AW 1 4% ¥ Tow IR B oy Big S T
e T |

W §, TRm, TENkT 9 TRER @ W i ug ool ot A € | 3R anh A it R
bk G L et e T B 1 A o = P B R B R R

T weA-gfe ¥ 6 # 3 fo ° e B T E)

wen wH F Hergoey, WE /Y, WG BN AU godapie Syl W ¥ T
THE TN FR qroid § |

spefiTor 39 @eg ® @ ¥ ff OMR Sheet &1 qegida soidg e #¥F g fan o |
sqd, OMR Sheet R 7l @ ¥ e § W 9o w7 s@@! 781 U6 W #R e
8 H ORI | 9 O T SRR U 7 S ) e § el swe Rl wd Rrean
Gl

Note : English Version of the instructions is printed on the First Page of this Booklet.
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QUESTION BOOKLET OF THE CLERK (15T SHIFT) EXAMINATION-2022

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Boolklet Series
Roll No. . B
Time Allowed : 2 Hours Maximum Marks : 90

10,

INSTRUCTIONS FOR CANDIDATES
Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series.
Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each guestion carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi
Translation.

Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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T ATel e BT ahE B

1. (a) fawermor ) Rzer=
(c) Tagewo (d) faemor

2. (a) WYMo (b) Sego
(c) e [d) HelEH

3. (a) wed® (b) wrdelis
c) wTefus (d) warfdfeos

4, (a) AR (b) afEwERR
(c) HET=R [d) afeemr

5. (a) forcrore (b) fereroien
) Frerafe (d) fereeriafer

frdw (06-10) : Fr=fofed o wEl &
fore U v 9@ Ry Y Rwed ¥ F TH-

6, forwd wAF O A B-
(a) wifpE (b) wafifa
(c) raferaT (d) T
7. % WHABENT a7 W9 UY a9 § AwaN
dred B
(a) TR (b) are
(¢ W & (d) SUNTE
8, Wit W W wedr DR B
(a) ¥ (b) ¥R
(c) TR (d) fada
9. fowe AR—UR <@ & "o
) gyedl (b) et
(c) TEE (d) arcTeTEEl
10. Mg ¥ g Ffdv—
(@) BS (b) TR
(¢) wU= d) e

(B-3)

frder (11-12) @ Fefefea qemdl/
wrifaal @1 ol wa Ry g fAEe 4 9
g;’f_

11, ToOR @ 9R W Fer o Aaef 8-

(a) TS BT

() "o @R &

(c) =l @A

(d) HRT FE B

1T T HeA @y o B

(a) G T

(b) T T

(c) FEM a%g

(@) WM v

fadw (13-16) : fr=fofaa s@awor @
o ewe & fewrgar &) v Ty Rt |
9 gf-

oy = fore o @1 81, W9 9% 954
T WA & 9 99 owg @) ik, 9 o
IearT | off 8l ARar| Ags wreal B {6 9w
aR—-ar e ar svE] fAemr <81 g9 @1 @,
g AT eew B d wR e o 8, g9 wif
g g fY e Wity & g9oT aER g e
g, forew 7y war angR ok Wity # =
¥ e e &) e 7 & woe @ 9,
e £ 9o ¥ WES & @, 99 B AN
& w1 fAoar| Suer Wi SRl Wel
AT vEal &1 owd forw ot # 98 AT =
¥ | Ay, IME—FeaAT W 99O U B o
fra el ¥ 78 aME—erT wWHRE &
S R, g ¥ 9w T e fRF & for g€
orar &) A 0 $ w98 W el B
3N I SEPY Bl WG gl 8 g9 W
walg Gifegd e 1 S g9 T B

2 57 1



13, TENY @ Wal e 8-

(a) AT

(b) EF—aH

[c) @ 3R 3
(@) w0 e Wi

14, AT B HRHNU Wag IMERT R
w g ?

(a) 9% Wifeasd iEd o @l 8
(b) foraam 2 999 § w9 B @1 99

T ey el Hear

(c) wm & Uff B I8 D TR
o iy @Y aar &

(d) foremr & 999 ¥ 98 w9 81 S
-4

15. Wifeas Wi &1 o S s T g 7
(a) -G (b) Hamw
¢ TSR (d) wfr

16. Ty W gH™ w1 g WA T § 7

(@ @ o TN @ g™ A
T #

(b) ©F W T EM B G HA 74T E

() WEIY WIS BF F W HAEN T E

(d) IAE-HEA ¥ TOH @ A
a8

frdg (17-18) : ffoitas o=l &
warreft = w1 gaw 99e v v fwet A
W sy -

17. af=
(a) RIS (b) GTEH
e) 9E9 (d) T

(B-4)
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18. T4
@ freer (b) EHN
(c) Tmer (d) @IFEE

fadw (19-20) : F=fafes o=t @
faeim oo @1 9ge S99 f&v v Rwed § 9
P

19. A
(a) 3G¥A (b) F==A
(c) fAfeem (d) e
20, gftz
(a) YT (b) W
(@) dfe (d) mer

Directions (21-24) : Read the passage
and then answer the questions based on it
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The debate about whether men are
stronger than women is often unclear
because the word “strong” may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease.
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different
areas, and to argue otherwise is o
aversimplify the topic.



21,

22,

23,

24,

Why is the debate about whether men
are stronger than wormnen unclear ?

{a)] Because both genders are equally
strong in all aspects.

b} Because the word “strong” may
mean many different things,

[c) Because men are always stronger
than women,

(d) Because strength is only measured
by physical power.

According to the passage, men generally
excel at which of the following ?

{a} Living longer.
(b) Tasks requiring precision.

{c) Lifting heavy objects and physical
labour.

(d) Resistance to disease.

What strength do women tend to have
over men, according fo the passage 7

{a) They are better at lifting heawvy
objects.

(b) They live longer and have stronger
resistance to disease,

(¢} They can strike forcefully.

{d) They are stronger in physical
labour.

What is the main message of the
passage 7

{a)} Men and women are equally strong
in all areas.

(b) All women are incapable of
running, jumping and doing
physical labour because they are
not strong,.

{¢) Men and women are strong in
different ways, and the argument
about one being stronger than the
other oversimplifies the topic.

(d) Only physical strength should be
considered when comparing
genders.

B
101
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Directions (25-29) : In the following
gquestions, out of the four alternatives, select
the word nearest in meaning to the words
given.

25, Vitriolic
(a) Imaginative (b) Sprightly

[c) Vivacious (d] Abusive
26. Candid

{a) Kind {b) Courteous

{c) Generous (d) Frank
27. Profane

(a] Assert (b Benefit

fc) Lengthen {d] Desecrate
28. Interpolate

(a) Clarify (b) Investigate

(c} Reverse (d) Insert
29, Nadir

{a] Asylum (b} Heaven

(/) Lowestpoint (d) Zenith

Directions (30-34) : Choose the
alternative that is most nearly opposite in
meaning to the given words.

30, Fiasco
{a) Success (b} Joy
{c) Fun (d) Disaster

31. Confident
{a) Imprudent (b) Impatient
{c) Diffident {d] Reluctant
32, Mammoth
{a) Significant (b} Small

{c) Unruly {d) Noisy

33. Engrossed
{a) Occupied (b) Inattentive
{c) Engaged {d) Absent



34,

Altruistic

{a) Selfish (b) Inhuman

{c) Brutal (d] Wicked
Directions (35-37) Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

3s.

36.

37.

To leave no stone unturned
{a)
{b)
{¢)  to work enthusiastically
{d) tochange the things
Through thick and thin

to keep clean and tidy

to try utmost

{a)] bigand small

(k) large object

{c) under all conditions

(d) thin and fat

Ill at ease

{a) Restless {b) Worthless
{c) Listless {d) Sleepless

Directions (38-40) : Out of the given

alternatives, choose the one which can best

be substituted for the given words or
sentence.
38. One who cannot be correctad.
{aj Incurable (b) Incorrigible
{[c] Hardened ({d) Invulnerable
39, One filled with excessive and mistaken
enthusgiasm in a cause.
(a) Pedant (b) Patriot
¢} Fanatic (d) Martyr
40. An office with no work, but high pay.

{a) Honorary (b} Sinecure

{c) Ex-officio (d) Reticent

101
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41

41.

42,

42,

43.

43.

The loudness of sound depends upon the

()

velocity of sound waves in the

medium

(b} amplitude of the sound waves

{c) frequency of the sound waves

{d) frequency and velocity of the sound
waves

et A e Y B 2

(a) WEEH A @ o @ A w®

b) & adf & s U

ic) = T B S-H'qﬁf L

(d) ey Tt @ emgf o AT W

is 0
Kelvin, In degree celsius ("C) unit,
which one of the following the
absolute zero temperature ?

The absolute =zero temperature

15

(@) 0°C (b) -100°C

fc)
R Y A9EE 0 wfea ¥ fEl
Hfewgw (°C) 7Ed 4 WA ¢ aOEH
frmfofad § @ - & ?

-273.15°C  (d) -173.15°C

{a) 0°C {b) -100°C

e)
Brine is an aqueous solution of
{a) (b) NaOH
e (d)
v e (gTeA) fwemr weitg Regs 27

-273.15°C (d) -173.15°C

NaCl

NaHCO, Na,CO,

NaCl (b) NaOH

(a

[e) MNaHCO, (d) Na,CO,



44,

44,

435.

45.

46.

- la)

Blood is a type of

{a) Epithelial tissue
{b) Muscular tissue
(¢} Nervous tissue
(d] Connective tissue
Xl U "R @l

(a) TUFA FAF B
(b) UT wmO@ ©

[c) tfes wo® &
(d) WU HEE E

Lub-Dub’ sound is produced due to
action of :

(a) Large intestine
(b) Lungs

{c} Heart

(d] Oesophagus

Fa-=4 @fa fraer B & &N
TOEM B ?

7S affa
(b) WES
(c) ®SH
(d) T

Who was the Education Minister in the
first Cabinet of Independent India ?

{a) Sarvepalli Radhakrishnan
(b) Sardar Vallabhbhai Patel
{¢) Maulana Abul Kalam Azad
{d] Acharya Narendra Dev

101
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46.

47,

47.

48,

48.

wWdd YRd @ yun wfEmvee A Ren q49
T 7

(a) WA M

(b) VNG TEENMIE U
(c) FIATT SgHA FoIA A
(d) @rErd A= €9

Which one of the following associations
was founded in London by Dadabhai
Naorgji in 1866 7

{a) The Bengal British India Society
(b)
(c)
(d)
¥ 1866 H TGS ARG W TEA H,
frforftag ® 9§ -9 Oy (W) @
AT @ g 7

The East India Association
The British Indian Association

The Madras Native Association

la) ® @mer RfRw sfsar wrmad
(b) = Tve giEAT gEIHEE

(@ = ffew shem v
(d) ¥ "Wer Afed gHfiveE

Who is presently the Secretary General
of United Nations Organisation ;

(a) Antonio Guterres

(b) AminaJ, Mohammed

{c) Dennis Francis

{d) None of these

A ¥ Wga g §Y & #ErifEd
g7

(a) TEIFET e

(b) ST S0 HiEwE

(c) = wiftrs

(@) I " BIE AR



49,

49,

a0,

a0,

al.

51,

Jelep La pass is located in

(a) Punjab Himalaya

(b} Sikkim Himalaya

(e} Kumaon Himalaya

{d) Kashmir Himalaya

wretg—ar &¥i FEl aaied & ?

(a) dure fRETEY

(b) fHfdws Eaeg

€) TS fesTerd

(d) wER A

Which one among the following is the
coral group of islands of India ?

{a) Andaman {(b) Nicobar

{c) Barren (d) Lakshadweep
frafafes § 4 $F9-—01 TS HRG 6
waTe E9-E € 7

(a) VA (b) FFER

() % (d) wHerE

Which one among the following is not a
Fundamental Right under the
Constitution of India ?

{a) Right to equality

() Right to freedom

{¢) Right to citizenship

(d) Right against exploitation

e & WuE § awia freeterad 7 |
Fi—ar & Hifers (e e el & ?
(a) HHET W AEFR

(b) EEAT B AN

(c) FATTRET BT AfEEN

(d) s $ faeg ARER

(B-8)
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22,

52,

53,

53

54.

The TBasic Structure Doctrine’

WaS

enunciated by the Supreme Court
during the

(&)
(b)
c)
(d)

Golak Nath case
Maneka Gandhi case
Kesavananda Bharati case

£. R. Bommai case

sy weE e (@R R
Sifae=) T=aaq ey g1 g aree

& IRM frefa famar T ?
(a) TSI AHAT
(b) AT TR AT
(c) AT WG A

(d)

TH0 RO AETE AT

Who among the following was not a
member of the Drafting Committee of
the Constitution of India ?

(a)
(b)
(c)
(d)

B. R. Ambedkar

K. M. Munshi
Krishnaswamy lyer
M. K. Gandhi

8 9 B9 YR @ wege $ 9rego
aftfy o1 wew el ar ?

(a)
(b)
()
(d)

Hl0 30 ST
W0 THD HE
FENETH! 3
THO 0 T

Which one of the following is not an
ASEAN member ?

a)
(b)
(e}
(d})

Cambodia
Laos
Myanmar

Taiwan



a4,

55.

55.

56.

57.

s7.

f=ferfas § § $9—W U6 ASEAN &
e S 8 7

O s L (b) AT

(c) WX (d) TFarT

In the term GIS, ‘G’ stands for

(a)] Google (b) Geographic

() Goodness d) Geological
gsTE o e afRwg?

(a) 0T (b) gt

(c) TETH CIREEIGIEEE]
What will be obtained by multiplying the
difference obtained by subtracting 3%
fici g-é- by 450 ?

(a) 2250 (b} 2045

(c) 2540 (d) 2450

Q%ﬁ“ﬁ 3§aa1‘rn?mtasﬁ=ﬁaﬁ‘r 450

W O FA U FT W S0 7

@) 2250 (b) 2045

lej 2540 {d) 2450

A

If B C
a

5 % then, what is the value of

ratio (C+A) : (A+Bf:(B+C)'?
(a) 64:25:49 (b) 54:35:39

{¢) ©64:55:49 (d} 64:25:51
A B C a\r

L e
(C+A):(A+BY :(B+C) @1 717 T 27
(a) 64:25:49 (b) 54:35:39

(€) 64:55:49  (d) 64:25:51

(B-9)
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58.

58,

59.

29,

60.

Two numbers are in the ratio 1 : 3, If
their sum is 240, then what is their
difference ?

(a) 120 b} 108

{c] 100 d) =6

9 werd 1:3 B o § #) afd
e GATHE 240 B, @ 991 IR
fepeam & 7

(a) 120 (b) 108

(c) 100 (d) 96

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then

B leaves the work. In how many days can
A alene do the remaining work ?

fa) 11 L) 13

fc) 15 (d) 17

A 3Fe TP Hrd @ 20 f@GF H @
o THAT & TaAfB B IHen 56 o Bl
25 R # WA @ w&Edr ¥ S
ey 5 o7 o o € iR B @9
gleey woll W@l 81 99 @ B A
e e & & w2 grdem ?

a) 11 (b) 13
e} 15 (d 17

A can do a piece of work in 4 hours, B
and C together in 2 hours and A and C
together in 2 hours. In how much time
B alone can complete the work ?

{a) 10 hours {b) 12 hours

{c) & hours {d) 24 hours
A TH @l @ 4 62 # B FUT ¢ e

3 gog § T A iR ¢ fraeR 99 2
uve § q¥ &N HH ©| B Hbel I

@wrd @ fra wHg § @ e ?
(@) 10¥TR (b) 1299
(¢) 8EVE (d) 24 99



61.

61.

B2,

62,

A man goes from A to B at the speed of

60 km/h and returns from B to A at the
speed of 40 km/h. What is his average

speed for the whole journey ?

(a) SO0 km/hr

(b) 48 km/hr

lc] 45 km/hr

(d) 55 km/hr

U Affd A 9 B @ 60 fdie uiy
HUET @ T W T R AU B WA TF
40 Tt wfy gver &t 7y & e 81

ool mEr @ for wwet ofwm wfy
fopeer & 7

{a) 50 fd¥lo /HET
(b) 48 o /Her
(c) 45 & /Her
{d) 55 e /e

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken toreach from Bto A ?

gl =5:3 (b) 2:3
€) 2:1
e Hfaw fivg A A g B 9% 4
freTo /Tver 9 T | ST & T a9y
fag B ¥ g A @F 6 fovio/ =ver
& T & cedl 21 A ¥ B O% dgan
T B Y A GF AW A AN WEY @

T @ B 7

fa) 5:3
) 2:1

(d) 3:2

(b) 2:3
(d) 3:2

(B-
101

10)

B3.

63,

B4.

B4,

B3,

63.

Simple interest on a sum of money is
equal to —}}- of principal, and number of

years is equal to rate of interest. What is
the percentage rate of interest per
annum ?

(@) 2.5% b) 5%

(€ 7T=% (d) 10%

B | =

mmmwwwﬁé

& aur g9t & de, ufeg g B aNEn
2| = Y Affe =3 et £ 7

(a) 2.5% (b) 5%

(c) ?%% [ 10%

Find the compound interest of Rs.

125000 at 8% per annum for @ months,

when the interest is payable quarterly.
(a) Rs. 7651 {b) Rs. 7605
e} Rs. 8652 (d) Rs. 8052

125000 0 T 8% dIffad &7 W 9 A8 &
gEgly @ §E @y, wdie S
formrEl <9 B

(al 7651 %0 {b) 705 %0

(c) 8652 %0 (d) 8052 %0
What is the value of (0.74 +0.38 +0.90)
(8) 187 (b) 21a
e) 356 (d) 412

(074 +0.48 +0.90) &7 Wi FT & ?

(a) 187 (b) 2.14

() 356 (d) 412



Direction (66-69) : Read the following
information carefully and answer the
questions given below it :

Six friends A, B, €, D, E and F are
sitting in a row facing towards North. C is
sitting between A and E. D is not at the end,
B is sitting immediate right to E. F is not at
the right end.

66. How many persons are there to the right

ofD?
ja) One (b) Two
lc) Three (d) Four

67. Which of the following pairs is sitting to

one side of D 7
(aj FB (b) FC
[c) FE (d] AC
68. Who is sitting immediate left of C ?
(al A (b) E
() B (d F
69. Who is at the right end ?
(a A (b) B
€) E d F

fadw (66-69) : Ffoiflgd |a=nall &1
wEurgEE Ye eiR A Ry o gt @
IR T

BE %I A, B, C, D, E 3R F I Bl
N s oXD (o AT A @3 §1 C, AR E
HdE T B DT K AE 2| B,E @ OF
T daT 8| F &G A S A T 2|

66. D & g7 ok fbo= wfeq 8 7
fa) TH (b) &
(c) @ [d) =N

7. fr=foflag § & o9—a1 99X D & US
N JoT & 7
(a) FB
(c) FE

(b) FC
(d) AC

68. C @ Olw 910 TYF T 96T & 7

(a) A (b) E
e} B (d) F
69. TG fbe W @fF da1 8 ?
a A b) B
e} E d) F

Direction (70-72) : Read the following
information and answer the questions given

below

B is the mother of A. C, B's sister, has a
son D and a daughter E. F is the maternal
uncle of D.

70. Howis ArelatedtoD?
{a) Cousin ib] Nephew
{c] Maternal Uncle ([d) Brother
71. Howis E related of F ?
(a) Sister {b)] Daughter
(o) Niece (d) Wife
72, How many nephews does F have ?
(a) Nil (b) One
{c) Two {d) Three
fadw (70.72) : fr=fefa @@ 98
aiR 9 ey Ty yeEt &1 oE d-
B,A P Hf §| C, B 9 g8, T U &=
DEaRuE 4 E | F,D & AL

70. A DA PR EERT & 7

(a) T T (b)
() (@) g
71. E,F 9 59 7R wafea g 7
(a) EF (b) 4
(c) T (d) weH

(B-11)
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72, F @& faber Wil € 7 76.
(8) THEAAE () T
fe) o (d) o=
Direction (73-78) : In each of the
following questions, find cut how many such 76.
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.
73. NECESSARY
O Two
fa)} One (B) i
{cj Three (d) Four
74, PREAMBLE
&) ©One (b) Two
[c] Three (d) Feour
75. ORIENTAL
(a) One (b) Two 77,
(e] Three (d) Four
fadw (73-75) : F=fafas 4 9@ wae
e § Ry ¢ 9 A avif & U9 fHod W
% e 49 oo & oof € fome &5 s g
AT H g9 drg Bl 8 ¢
73. NECESSARY
(8) T (b) &
() @ (d =N 78,
74. PREAMEBLE
(a) TH (b) @
(e) T (d) TR
79,
75. ORIENTAL
(8) TP (b) =T
(e} d) 9R”
(B-12)
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A set of instructions in a sequential
manner telling the computer what to do
is called :

fa}] Instructor
{(c) Program

FHRICR WY, FT BIAI B, Y8 qa @ oy
T wm g kel (FeR) & wE
(set) T FEN WA 2

(a) F¥RaeY (b) FEER

(c) STITH (d) PI—arE

Electronic components predominantly
used in first generation computers were

(b) Compiler
(d) Key-Board

(e} Magnetic drum

(b} Transistor

[e}] WVacuum tubes

(d 1IC

go gl & ®REN A & BT W
gAep T Te wyu A o :

(@ TEHE FH (b)) RN

() Fafmegg (@) A

A source program is directly converted
to .exe file by which of the following ?

{b) Interpreter
fe} Assembler (d) Linker

e 4 @ f59e g™ 1§ Sa AT
A exe Fiea § yRET a7 & 7

(@) FHETER (b) ¥EER

(c) SR (d) ferem

Which protocol is commonly used on
internet to exchange files ?

{a) Telnet {b) Gopher

(d] SP

(a] Compiler

(cj FTP



79

B0,

0.

81,

81.

B2,

82,

TEd @ IFEA-dgel B Fo¢ic W
T fee WeEeila @ Sgan
W 8?

(a) TETE

le) Uhodlollo

(b) TIET
(d) THolo

Which of the following command is used
to add hyperlink in a document ?

(a) Ctrl+F (b) Ctrl+ K

[c) Ctrl+B ({d) Ctrl+V

TFH TEW H sRwfé® se @ fow
= # ¥ 5w s &1 wanT e omar
&7

Al Ctrl+F (b} Ctri+ K

e Ctrl+B (d} Ctrl+V

The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called
as;

(s} HDD () ROM

fc) RAM (d} ssD

W B a8 FHR W o B AR s
w9 W @fg aifva sfes! @ wufda
e &
{a) HDD (b} ROM
{c) RAM {d) SSD

A web page is primarily written in the
language

(a) C#+ (b) Python
() HTML (d) Java

T 89 U T i T H
foran @ 21

{a) C++ (b) GrEdq

83.

83.

84.

B4,

B5.

B5.

B6.

826.

(B-13)
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() HTML (d) e

Every web page has an address
associated with it. This address is

known as

{a) URL (b) 1P

[t} TCP {d) Browser
B39 U9 & WY U Udl el &l B
TH T BT v, PEC B |

(a) URL (b) 1P

(c) TCP (d) FTIER

A popular protocol for sending e-mail is
fa}] TCP (b) UDP
e} SMTP (d] HTML

TS W & faU U Sy daieien
g

(a} TCP (b) UDP
(c) SMTP (d) HTML

MAC addressis .......occoevvnnnnn, bits long.

(a) 24 (bl 48

() 124 d) 64

#% (MAC) TSV ........... [ACH T BT 8 |
fa) 24 (b) 48

fc} 124 (d) 64

Temporary storage area that

compensates for differences in data rate
and data flow between devices is known

(a) Bus (b) Channel

(c) Modem {d] Buffer
SRRl HUSRY 8F Wl IUHE B 4
FET T SR 2T WATE B SN B AN
el & 98 FEA §

(@) TH (b) =T



B7.

87.

88,

Bg,

(c) wieH (d) dHT
FTP stands for

{z) Folder Text Protocol

(b} File Transfer Push

(e} Fixed Terminology Placement
(d) File Transfer Protocol

FTP &1 ae9d &

(a) WITSR ST WE@iel

(b) WIES FTHY 99

(c) frawrs =i A<

(d) TEA FAER HISTHId

All the deleted files go to

{a) Recycle Bin

{b) Taskbar

{c) Tool bar

(d) My Computer

o Resfre 2 ¢ wigel ey o ol & ¢
(a) rETaEe fam

(b) TGN

lc) SEER

(d) 1§ HEEER

101
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89,

B9,

90.

20.

Which of the following is not an
operating system ?

(a) DOS {b) UNIX

[c) LINUX (d) MS-Office
freferftaa # & oW SifeefT Rea w8
g7

(a) = (b) FfFFaE

(c) ferreg (d) THOTHO Sffth

The process of switching from one open
window to another is called

(a)

Task switching

(b} System call
()] Moving
{d) None of these

F Al e | g e fser #
fiag @ @ ufepar @1 ol 8

) T fafa

(b Fovew @fd
(c) A
(d) ETH BIE W
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W qF AIP] T8 Y YR Wi B A7 B8 WY 79 TP 7 @l |

g AT g Al

n— B

foeifa w9 : 2 He BT 3 : 90
weril & fov fdy

10.

e g BN @ ge @i ot 7w giie ov o 5 o8 we-gfew g9 16 g€l @l 8w
forehy 4 wER ¥ e W WA B T & A 6 T U wied onfy e e #) Al O
o TN WA NEe arel We-gfer ¥ 959 @ o |

ST S arEHi ge-gRtae # TR Ry T e # e 8 e s ge-giae |
g A 7 ford ok frlt vor @1 s e |

spfifal @1 wuer #vd T OMR Sheet 3 qifva q@ FeiRa wim w o6 g6 & ¥
o el § ofik Rl vaR @ armaws P @ g @) srees A< OMR Sheet ®
e & |

W wre-fafed wv @ forg PR v i @1 o a1 e dfedisT & g W U W afle
e @) fiftd 7 oY) @ ¥ offe T @ TR @ w9 A fftd o6 ) I9 SW @ T A
AT |

5 yei-gheE ¥ ¥ B W ot @) e A B | TR, OMR STR-UEG B B Qe B
v ¥ | oo Wen-wi ¢ T8 FEE-GRTET I RS o WM @ oA §

50 yei-gRee 4 &9 90 W § | Ve W F1 A 1 3% €| e O F forg #fE o T
T 1 |

T T, T, G TF sy @ ae R ud erel 2 4 € | o efeh A Hfw s
o ollv oed R e ¥ o R ), of afeh ¥ 5t v @ A a

7 wer-qftee % v v @ fie 9 78 B M E |

wheT By 4 demeey, TE U9 /U8, AEEE B Fa Sednie SUEY e ¥ v v
THFN SYANT FE] o 8|

s 56 T ¥ 99 78 % OMR Sheet &7 o057 geiagife 79 gw f&ar o &)

¥ava, OMR Sheet W 7ol @ w8 a0 ¥ W sy 79 g 78 13 qm i Feied
T T UM | 3 PEY # AR T T e @) o ¥ apoedl g fod ved R

& |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : _ Booklet Series
Eoll No, : C
Time Allowed : 2 Hours Maximum Marks : 90

10,

INSTRUCTIONS FOR CANDIDATES
Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series.
Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken ome circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator, You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or incomsistency between English version and its Hindi
Translation.

Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.

101

2  : Aee &1 R SR 59 g @ SR 78 W oW E|

(C-1)



Space For Rough Work / = @ & fofg oTe

(C-2)
101



The loudness of sound depends upon the

[a) wvelocity of sound waves in the
medium

(b) amplitude of the sound waves
{c) frequency of the sound waves

{d) frequency and velocity of the sound
waves

e @ mEer R w8

(a) Az F a9t B A W
(b) @ Tt @ s ue

(c) @@ wel & gy 9

(d) < T @ smERy SR 9T W

The absolute zero temperature is 0

Kelvin. In degree celsius (“C) unit,
which one of the following is the

absolute zero temperature ?
(a) 0°C (b} -100°C
fc) -273.15°C (d) -173.15"C

WH Y AW 0 dfesd B fER
Wfewaw (°C) 7156 ¥ UvA I A9EE

frerforfga & & -T2 7
(a) Q°C (b) -100°C
le) -273.15°C (d) -173.15°C

Brine is an aqueous solution of

(a) NaCl (b} NaOH

(c) NaHCO, (d] Na,CO,

AT Wl (sg) e ol e 87
(a) NaCl (b) NaOH

() NaHCO, (d) Na,CO,

(ct
101

3

Blood is a type of

{a) Epithelial tissue
(b) Muscular tissue
(e} MNervous tissue
(d) Connective tissue
ECO R COR COREE ]

(a) SUFE Had ©
(b} U Fow 2

(c) T Fod €
(d) WA Se &

Lub-Dub’ sound is produced due to
action of :

(a) Large intestine

(b) Lungs

¢} Heart

{d) Oesophagus

wa—-e9 @i fFue g & anw
Irg Bl & 7

(a) w3t (b) BFS
fe) ®Ed (d) ATETE

Who was the Education Minister in the
first Cabinet of Independent India ?

(a] Sarvepalli Radhakrishnan

(b) Sardar Vallabhbhai Patel

(e} Maulana Abul Kalam Azad

{d) Acharva Narendra Dev

wWoe NG & WoH Afadved § fRer 5=
BT Y 7

(a) AITEH VTETHWH

(b) VRER TEeHHE UTd

(c) HIETET ST WenH IS

[d) maTd A Td



Which one of the following associations
was founded in London by Dadabhai
Naorgji in 1866 7

{a) The Bengal British India Society
(B)
(e)
(d)
o 1866 ¥ TENTE ARG EWT &= ¥,
frfafan & & sH-2 w9 (g &
WA H Mg 7

The East India Association
The British Indian Association

The Madras Native Association

@) ¥ e Rfew shegr wEEd
(b) T ¥ e vEitgTs

() ¥ faRw sheaT vl
(d) = wer A iR

Who is presently the Secretary General
of United Nations Organisation .

(a) Antonio Guterres

(b} AminaJ. Mchammed
[e} Dennis Francis

(d] None of these

A H WY W WY D Herared Hie
g7

{a)
(b

e e

ST Slo HEES

(c) = wifes

(@ & BE A
Jelep La pass is located in
(a)
(b)
(c)
(d)

Punjab Himalaya
Sikkim Himalaya
Kumaon Himalaya

Kashmir Himalaya

101
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10.

10,

11

11.

12.

Selg—Tl SN Pel e & 7

(a) TEE fEEIE
(b) fuf¥ws fEmeE
() TS e
(@) @R fwe

Which one among the following is the
coral group of islands of India ?

a) (b) Nicobar
(c) (d) Lakshadweep
f=fafag § ¥ 29— @ 9Ra @1

Andaman

Barren

yaTel B1U-WE & ?

(a} SAU=AT (b) FomER

(c) A (d) FEET

Which one among the following is not a
Fundamental Right under the
Constitution of India ?

(a} Right to equality

(b) Right to freedom

[c] Right to citizenship

{d) Right against exploitation

HRE & dfgae » dwia Aefefaa ¥ 9
aF-u1 U@ Alfers () siftram 78 8 ?

o &1 AfrER
e W AEEN
(¢ TR @1 HAfEHR
(d) =wer @ Reg dfer

The Basic Structure Doctrine’
enunciated by the Supreme Court
during the

{al Golak Nath case

{b) Maneka Gandhi case
(c)
(d)

(a)
(b)

wasn

Kesavananda Bharati case

S. E. Bommai case



12, aERyE wye fEm @Rie gEr

13.

13,

14,

14,

15.

Sifee=) Segan araTed g R AT

& s e fa T ?
(a) TAHATS ATHEAT
(b) EET TR AT

{c) AT AT AR
UHO N0 qFE A

Who among the following was not a
member of the Drafting Committee of
the Constitution of India ?

(&)
(b)

{d)

B. R. Ambedkar

K. M. Munshi

{c] Krishnaswamy lyver

{d} M. K. Gandhi

TH W @i 9vd @ WRuE @ areger
wfEfr 1 waw o o ?

(a) H0 IO IS

(b) 0 THO HI
(c) OTNETHT IR
(d) THO wo Tifet

Which one of the following is not an
ASEAN member ?

{a] Cambodia
(e} Myanmar

Freifefaa 4 ¥ S99 UF ASEAN &7
Hew A8 & 7

fa) EESAT
(c) FIAR

(b} Laocs

{d} Taiwan

(b) @
(d) drEaT
In the term GIS, ‘G’ stands for
(a) Google
(¢} Goodness

(b) Geographic
{d) Geological

{C
101

5)

13,

16,

16.

17.

17.

18.

18,

gs e H o Fwmmafog g ?
(@) TS (b) forarnfies
(c) &I (d) forgriioree

A set of instructions in a sequential
manner telling the computer what to do
is called :

{a} Instructor (bl Compiler

{c} Program (d) Key-Board

FHIYEY B, 7T FO1 8, T8 g0 @ forg
fer @ are fdel (FER) @ wE
(set) B FHET TAT & ¢

(a) ST (b) HHTEEN

(c} Wrmw (d) ®—aTe

Electronic components predominantly
used in first generation computers were

[a) Magnetic drum
{b)

{c)  Vacuum tubes

Transistor

(dy IC

W Rl % SgeY A O gE w9 9
goaRie ged wgad B o |

(a) FEHE FA  (b) TN

) Prafoecgs (g ond

A source program is directly converted
to .exe file by which of the following ?

(] Interpreter
(d)

frr & ¥ e g Ue WO AU
T exe TEA A yRafta g & 7

(b) FETHER
(d) feime

(a) Compiler

(c} Assembler Linker

(a) WHEIFER
(c) aTHEwN



19.

19

20.

20.

21.

21.

22,

Which protocol is commonly used on
intemet to exchange files ?

{a) Telnet (b} Gopher

(c) FTP (d) SP

TEW @ deer-9eel g Fevie W
s frw Wt w1 SuEeT R
e 87

fa] Teme
fe) Uhedlodlo

(b) TTER
(d] UHoYlo

Which of the following command is used
to add hyperlink in a document ?

(a) Ctrl+F (b) Ctrl+K
(] Ctrl+B
T TEmw # EEWRfdE s @ forg
fo 3 9 frg s &1 WA far s
27

faj Ctrl+F

(d) Ctrl+V

(b) Ctrl+K

{c) Ctrl+B (d) Ctrl+V

The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called
as;

(a) HDD (b) ROM
{c) RAM (d) ssD

AERY T 98 W W7 dF € i smemd
w1 ¥ w@ig aifed sifeel & gulEg

P B
{a) HDD (5) ROM
] RAM (d) SSD

A web page is primarily written in the

language
(a) C++ (b) Python

{ci HTML (d) Java

(C-6)
101

22,

23,

23.

24,

24,

25.

2B.

26.

ferea wmar 21

) C++ (b) wrEEA

(c) HTML (d) o

Every web page has an address
associated with it. This address is
known as

(a] URL (b) 1P

[c} TCP (d) Browser

B 99 U9 $ W Q& 9 gel gl w
{a) URL (b) IP

e} TCP (d) ARSI

A popular protocel for sending e-mail is
(s} TCP (b) UDP

(c) SMTP (d) HTML

- Ho @ Y UB dlSiy A
g

(a) TCP (b) UDP
(c) SMTP (d HTML

MAC address is ........coccovninnis bits long.
(a) 24 (b) 48

e} 124 (d) 64

#e (MAC) TR faew @1 grar &1
la) 24 (b) 48

e} 124 (d] 64

Temporary storage area that

compensates for differences in data rate
and data flow between devices is known

(b) Channel
[d) Buffer



26.

27.

27.

28.

28.

29,

29,

FRT qUERY &9 W 9YeRvl @ 99
_t&aﬂaﬂ?éama%waﬁm
T & OF PHEelT &

(a) =¥ (b) Eel

c) Hfew (d) THY

FTP stands for

{a) Folder Text Protocol

(b) File Transfer Push

[c) Fixed Terminology Placement

{d) File Transfer Protocol

FTP &1 104 B

fa) WieEY SaE WIEIETE

(b) Wigel gI-EHY T

(c) frawe iAol e

[d) I TEWY WErmie

All the deleted files go to

() Recycle Bin

(b) Taskbar

{c] Tool bar

(d) My Computer

T fedhe @1 56 ot et F o 2
fa) WrEEed A (b)) ETEEPAw

() TEER (d) ATE TR
Which of the following is not an
operating system 7

(a) DOS (b) UNIX

(¢] LINUX {d) MS-Office
Frrfortaa # & @9 s Rien 58
87

(@ @ (b) gFreE

(c) femas (d) THOTHO ATfH

101

(C

'?}

30. The process of switching from one open
window to another is called
(a) Task switching (b) System call
() Moving (d) None of these
30. (& 99 I 4 g #iwg fo=st 4
g wva & witear @ @ 8
(a) e fEfET (b)) Red |
() [d) FT BIS TE
i (31.35) : Fr=fafem & @ 4=
qot aTel 9 &1 TG deTd—
31. (a) faworEor (b) fareeras
(c) fareme (d) fareeryor
32. (a) WEEWOT (b) e
(c) SrEeEor (d) HelEH
33. (a) WIEd® (b) RS
(c) wrsfeus (d) wfefea®
34, (a) dfe=ER (b) FEFHR
(c) TETR (d) IR
35. (a) forcioen (b) faeraiet
(c) Frarafer (d) fRreeiafa
fadw (36-40) : Pl o Wil &
fere s v 9 Ry T fmedt ® W -
36, forae |9 o9 A B
(a) wifds (b) w@fifs
(c) mferT (d) I
37. T8 WHHEE @ o9 9Y 99 0 A
died 8-
(a) LS (b) ¥t
(c) T FEA (d) 3T



38. Wl ¥ @I Bl BYe e-

(&) IFA (b); FEaE

(c) WY (d) T
39. forwd omR—uR S/ W Weh—

@ e (b) gt

{e) TS (d) eTeraEr
40, 1Y § 997 Hlki—

(a) @fre (o) @R

) S (d) o

frdw (a1-42) : F=fefag HEERl/
drpiaoal o def 9w Ry v et § 9
T

41, AN & GR G goWT o aref €

(a) @I BT
(b) OuIfeTd &¥ &

(¢) Fugf @
(d) @fes s He
‘T H1 B P anef B

@ T® I (b) @R A

() TR () AN A

Frém (a3—ae) : Pr=fifm amawor =y
eI YEs 9fdy 3R IH Wafda weAl o1 9y,
W oEe 3 [EREER 8, Ry 7y et §
H gfg-

@ @ forg 9vg @1 8L W9 9% 980
T WU §, 99 9H geg o ", @iy 41
ST F O AR T | A Jew © 5 98
Jr—a fAer o1 awER o @) g9 @ am,
v W e B d ouR @R o 8 a9 Wi
g9 W A o Wit @ geer avew & vEd!
& fr A W aTR ol wifte & s

42,

101

(C-8)

¥ fagm <ew 8| fyaw =€ & o0 @ 9w,
R & 994 § WS B @, 99 Hdl aEET
& F9 fAewr| SHer | SRR Hal
gAY YET & | 9ua fw o 8 9' o A8
2| oy, sME-HedT § 99 g B O
form foelt % @8 spE—Fer w@Wfas &
I R, U W 99a A vd fom @ fay g2
o &1 9 R @ dwey @' wwe g @
3R 7 OY TEox By " s Bl S ¥
T Hifcas was @ S garEr T4 8|

43. TEY F we WiE 2
A (b) ===
(c) ®H o sy (d) @ afie Wi

TS H ATEI Had INEET w4
B & 7

T8 wiftas Wia= i aver &

foo & SO @ w9 BF B e
H! IaEY el [Hetdl

@w o gfif 8 98 seme avgelt
@ Wity w o 8

foraar & 999 & 98 wae1 B omr
2

wifvads wias &1 &7 f5w wer T e ?
(a) EF-H (b) T
() TATHR (d) HfaRT
Ay 59 geR ®1 g w9 T e ?

(@) @M B gl T 8 @ gW "W
T 8

(&)

(a)
(b)

tc)
(d)

45,

(b) ©F WG 7 &I B §F A= Tl 8
(<)

(d)

HATT 9T B @ g A T 8
IE-Heddl W T g HM
T



frdw (47-48) : F=fofEn o=l @
waTeefl e T gaw 99a fRw v et A
o wifey —

47, FHAe
(a) @A (b) wEw
(¢} TaH (d) 3Tl
48. =4
(a) forwaR (b) IEDR
{e) =l (d) T

dwr (40-50) : F=fafea w=l &
o e T 99s 99e fRu v Aeedi H H
e

49, &
fa) g4 (b) %=
() = (d) =L
50. fte
fa) A (b) Held
€) 3 (d) =rer

Direction (51-54) : Read the following

information carefully and answer the
questions given below it

Six friends A, B, C, D, E and F are
sitting in a row facing towards North. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at
the right end.

51. How many persons are there to the right
ofD?
(g} One (b} Two
[c} Three (d) Four

101
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52. Which of the following pairs is sitting to
one side of D ?

(a] FB (b) FC
{c) FE (d) AC

53. Who is sitting immediate left of C ?
fal A (b) E
{c) B id) F

54. Who is at the right end ?
(@) A (b) B
) E (@) F

frder (51-54) : P=fafaa gemmel =
wEugdE gg R Am Ry oy gl @

TR T

UE ST A, B, C, D, E 3R F 9w &
IR e wve twm i A S #c, AR E
s degIpsaAadi 2 B,EF TS
W AST R F T Y T A AL 2|

51. D & T 3R fbeet afaw 2 7
(a) TH (b) =T
(c) () =N
52, f=fofag #§ § M-\ U D & U@
v doT ' P
(a) FB b) FC
(c) FE (d) AC
53, C & 3@ AV W P do1 & ?
fa) A (b) E
e} B (d F
54, TN AN W B doT R 7
(a) A (b) B
(€) E (d F



Direction (55-57) : Read the following

information and answer the questions given
below :

B is the mother of A. C, B's sister, has a
son D and a daughter E. F is the maternal
uncle of D,

55. Howis A related to D ?
() Cousin (b) Nephew
{c) Maternal Uncle (d) Brother
56. How is E related of F 2
(a) Sister (b) Daughter
(c) Niece (d) Wife
57. How many nephews does F have ?
a) Nil (b One
(c) Two (d) Three
e (55.57) : Fr=fofee amen 7d
s = fag Y gl @ 9w S
B,A ® #f 81 C, B @ ¥, T UF 92T
D % 3 7@ & E &1 F, D &1 AT B |

55. A, D @ g wor wefRa & ?

(@) HWEWT HTE (b) T

(c) AP (d) wrE
56. E,F ¥ frw uer Hafa & 7

(a) TET (b) A

(c) Tl (d) T
57. F & et wiat & 7

(a) THATE (b)) TF

(c (d) &=

Direction (58-60) In each of the
following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

58. NECESSAERY

(a} One (b) Two

{ci Three (d) Four
59. PREAMBLE

(&) One (b) Two

[c] Three {d] Four
60. ORIENTAL

fa) One (b)] Two

[} Three (d] Four

fdwr (58-60) : FA=fafaa # ¥ wals
we H Ry g weg F Aol @ U9 faoe @S
& forre g oom B gof & R & el

e # 5o 4 g & ?
58, NECESSARY
(a) U® (b) =T
(c) < (d) =
59, PREAMBLE
la) U= (b) &
¢y o (d) =R
60. ORIENTAL
(o) UH (b) =T
(c) T (d) TR

61. What will be obtained by multiplying the
difference obtained by sublracting 3%

from Qé— by 450 ?

(@) 2250
(c) 2540

(b) 2045
(d) 2450
61. géﬁ% %mﬁmwwﬁﬁu

TN HA IR T G B 7
(b) 2045
(d) 2450

(a] 2250
(c) 2540

(C-10)
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62.

62,

63,

B3.

64.

64.

If —=—== then, what is the value of

(] )
b | o

|

ratio (C+A) :(A+BF:(B+C)'?

T

(a) 64:25:49
(c) 64:55:49
AB C &

() 54:35:39
(d) 64:25:51

SRR
(c+AP:(A+BY :(B+C) & A1 41 &7
(a) 64:25:49  (b) 54:35:39
() 64:55:49  (d) 64:25:51

Two numbers are in the ratio 1 : 3. If
their sum is 240, then what is their
difference ?

(&) 120 (b) 108
(c) 100 (d) 96

2 WEgE 1 ;3 @ agaa H E) Tl
TIPT AMHA 240 B, T TG H=KN
e 2 7

(@) 120 (b)
() 100 (d) 96

108

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then
B leaves the work. In how many days can
A alone do the remaining work 7

(&) 11
() 15 (d 17

A e e o @ 20 fGF H A
TN GHal € WEle B Ade 59 I B
25 fBs ¥ wWw @R 9Har 81 SWl
ey 5 foe &t o € il B @M
Blgpy dal ol | W9 & B A
gaven foee fas & @ o ?

(b) 13

(5) 13

(a) 11
€ 15 (d 17

65.

B5.

66,

67,

(c-11)

101

A can do a piece of work in 4 hours, B
and C together in 3 hours and A and C
together in 2 hours, In how much time
B alone can complete the work 7

{a) 10 hours (b} 12 hours
(c) B hours (d) 24 hours
A TS Fd F 4 HE # B AW ¢ e
3 g2 F gyl A 2R ¢ feey 9d 2
e § 9w IN wed §| B Iden g9
wE & e g H RS Y
(a) 1090 (b) 12 ©VE
c) 8&EWE (d) 24 T

A man goes from A to B at the speed of
B0 km/h and returns from B to A at the
speed of 40 km/h. What is his average

speed for the whole journey ?

(a) 50 km/hr (b) 48 km/hr

{c) 45 km/hr {d) 55 km/hr
TF Ffdy A ¥ B 96 60 fhHIe U
YUE] F A W G ETH B WA TE
40 fdte ufey Gver &t 7y | @ear g1
warf @ & fou Swe afted i
fepemit & 7

@) 50 e /HEr
(b) 48 fF¥re /HET
c) 45 e /Hel
(d) 55 fFdre /HRT

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken to reach from Bto A ?

(b) 2:3
(d) 3:2

fa) 5:3
fc) 2:1



a7.

68.

68.

69.

69,

w A g A 9 Rg B ™ 4
o /wrver &Y TIf | T £ wRm ardd
fag B & &g A @ 6 ffo/ =ver
@ wfy & oear €1 A € B O 9gdd
TAT B 9 A TF I K AN WHA @
AT a4r sy ?

@ 5:3 (b]
(d) 3:2

2:3
e} 2:1
Simple interest on a sum of money is
equal to % of principal, and number of

years is equal to rate of interest. What is
the percentage rate of interest per
anmnum 7

la) 2.5% {b) 5%

e} 7T="% d) 10%

b |

1
a
2 oy o6t & T, wfae e B e
£ | = o1 aifte &% ot & 7

feredt 1?1 ov wEReT @S ey @

(a) 2.5% (b} 5%
e 7 %% d) 10%

Find the compound interest of Rs.
125000 at B% per annum for 9 months,

when the interest is payable guarterly.

(a) Rs. 7651 [b) Rs. 7605

¢} Rs.8652 (d) Rs. 8052

125000 B0 BT 8% e =X H 9 AE &
IWgly AW TO HifeY, wEfE =e

ferardY 29 81
(a) 7651 %0 (b) 7605 %0

(] 8652 %0 (d) 8052 %0

70. What is the value of (0.74 +0.38 +0.90)

(a) 187 b) 214

(c) 356 (@ 4.12

70. (0.74+0.38+090) P A7 T & 7

(a] 187 (b) 214

e} 356 d 412

Directions {71-74) : Read the passage
and then answer the gquestions based on it
You are requited to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The debate about
stronger than women
because the word “strong” may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longetr than men and
often have stronger resistance to disease.
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different

whether men are
is often unclear

areas, and to argue otherwise is 1o
oversimplify the topic,
71. Why is the debate about whether men

are stronger than women unclear ?

{a) Because both genders are equally
strong in all aspects.

(b) Because the word “strong” may
mean many different things.

{e] Because men are always stronger
than women.

{d) Because strength is only measured
by physical power.

(C-12)
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72. According to the passage, men generally
excel at which of the following ?

(a} Living longer.

(b) Tasks requiring precision.

(¢} Lifting heavy objects and physical
labour.

([d)] Resistance to disease.

73. What strength do women tend to have
over men, according to the passage 7

{a} They are better at lifting heavy
objects,

(b) They live longer and have stronger
resistance to disease.

ic) They can strike forcefully.

(d) They are stronger
labour.

in physical

74. What is the main message of the

76,

77.

78.

79,

Candid

fe} Kind 15]]
[c} Generous (d)
Profane

fa) Assert (b)
{c) Lengthen {d)
Interpolate

(a) Clarify (b]
(c) Reverse (d)
Nadir

(a) Asylum (b)
(¢} Lowest point (d)
Directions (80-84)

Courteous

Frank

Benefit

Desecrate

Investigate

Insert

Heaven
Zenith

Choose  the

alternative that is most nearly opposite in

meaning to the given words.

passage 7

[al Men and women are egually strong 80,
in all areas.

{b) All women are incapable of
running, jumping and doing
physical labour because they are 81.
not strong.

{c] Men and women are strong in
different ways, and the argument
about one being stronger than the aa.
other oversimplifies the topic.

(d) Only physical strength should be
considered when comparing
genders.

. 331
Directions (75-79) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
givern.

gk 84,
75, Vitriolic

(&) Imaginative (b) Sprightly

(e} Vivacious (d] Abusive

(C-13)
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Fiasco

{a) Success

{e} Fun
Confident

(a] Imprudent
e} Diffident
Mammoth

la) Significant
(e} Unruly
Engrossed

{a} Occupied

{c) Engaged
Altruistic

{a) Selfish
(c) Brutal

(b)
(d)

(b}

(d]

(b}
(d)

(b)
(d)

(b)
(d)

Joy

Disaster

Impatient

Eeluctant

Small

Noisy

[nattentive

Absent

Inhuman

Wicked



Directions (85-87) : Choose the Directions (88-90) : Out of the given

alternative which best expresses the meaning aliernatives, choose the one which can best
of the given idioms/proverbs : be substituted for the given words or
sentence.

85, To leave no stone unturmed

(@l to keep clean and tidy 88. One who cannot be corrected.

(b) to try utmost la) Incurable
) to work enthusiastically (b) Incorrigible
(d) tochange the things {c} Hardened
86. Through thick and thin (d) Invulnerable
la) bigand small 89. One filled with excessive and mistaken

enthusiasm in a cause,

jb) large object

(] under all conditions (a) Pedant (b) Patriot
{d) thin and fat {e) Fanatic (d) Martyr

a7. 1l at ease 90. An office with no work, but high pay.
{a) Restless () Weorthless {a) Honorary (b) Sinecure
{c] Listless {d) Sleepless {c) Ex-officio (d) Reticent

(C-14})
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Ve G HIYD] U8 We YRed! Wiem B 7 e WY a9 aF 1 Gl |

T we gl @t

e C

e w17 : 2 =5 ferETH 37 : 90
el & fow fAdy

10,

olEm 6 W @ qew are onvelt aw gt W | 5 gw we-gRae g
e A yPR W R @ B §E T & T TS T U FHrew e g 7w £ AR W g,
o 59 T A 9 9e-gRad § 959 o a|

ATHT O G Fe-gReE ¥ FW Ry T @ § avw ) 5o sfofer swe-gRaw
75 # 7 ford oiv el von =1 sFmaEs fema 9 T |

sl 7 vy B T OMR Sheet ¥ 7ifoq gaarg fuffa o w wen 46 84 9§
od el € ofR Rl wer @1 armevew free @ @ 8 srewgw Ew OMR Sheet W
e E |

W seR-fofed avi @ fore PR @ el @ @ @ e st 39 g W U W RS
T & fiftd 7 B @ ¥ 9RT M B TR B w9 Rl R ® 98 SR 91 7o A
GV |

8 yri-gRaaT § § Rl off o= B oo 7 X | T, OMR SW-TAaG & 6 S F
et | et ThE-wA @ a5 FEE-gae R W o W A Al €

wa ye-gRaer # g 90 W € | WS W # A 1 % | e O @ fory FIF o e
P T |

W F, T, e U o] & W st ud ool < A € | afe s § i
T o OO R aFare A B i 8, o sfeh ¥ AR v @ W g

¥ TeR-gfta A 6 9 fo of g B T #)

wlen @E § dopeey, WE UL /€, A BT S eI Sube WY A e ol
IEE! FUGT FLA N & |

oy g dey ¥ A W 5 OMR Sheet &1 Heaid Sodg i@ A9 BRI A & &
&g, OMR Sheet T e @ ¥81 oda & W amawy #ei g0@! 781 98 GRm 3R qeuid
& B g | 39 FdE @ sERE ure 7 s @) araeer 4 enaefl gue o W ReEw
B0 |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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QUESTION BOOKLET OF THE CLERK (15T SHIFT) EXAMINATION-2022

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO S0

Booklet No. : Booklet Series
Eoll No. : D
Time Allowed : 2 Hours Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
BEries.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on

the OME Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Boolklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi
Translation.

Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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What will be obtained by multiplying the

difference obtained by subtracting 3%

from 9% by 450 7

ja) 2250
() 2540

(b) 2045
(d) 2450

géﬁ# ngﬁwmiﬁd&ﬂ

¥ O wYA UY F491 0 g P

la) 2250 (b) 2045
(e) 2540 (d) 2450
A B _C

=—=— then, what is the value of
3 2 5

ratio (C+Af:(A+BF:(B+CF?

{a) 64:25:49

(b) 54:35:39

lc) 6&4:55:49

(d) 64:25:51

ST
(C+A)y:(A+B) :(B+C) &1 717 a1 87
(a) ©4:25:49
{b) 54:35:39
{c] 64:55:49
{d) 64:25:51

Two numbers are in the ratio 1 : 3, If
their sum is 240, then what is their
difference ?

fa) 120 (b) 108

(e} 100 (d) 96

a1 weEd 1:3 § g A 8§ af
AT AR 240 B, T @ W
e 8 ?
fa) 120
(e} 100

(b) 108
(d) 96

(B-3)
101

5+

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then
E leaves the work. In how many days can
A alone do the remaining work ?

(a) 11 (b) 13
¢ 15 (d 17
A @Al TH B @ 20 79 # wAw
FX HHal & wale B sdell 59 wid @
25 o7 & W @% wHar 81 =

g 5 9 od = € iR B &
orewy e aar &) 9y & @ oa

arper fba 9 & =y ?
fa) 11 b) 13
¢ 15 d) 17

A can do a piece of work in 4 hours, B
and C together in 3 hours and A and C
together in 2 hours. In how much time
B alone can complete the work ?

{b) 12 hours
(c) 8 hours (d] 24 hours
A UE &0 T 4 B H, B T C Heamy
3 HE ¥ gu1 A 3R ¢ fAeeR 99 2
g2 § QN1 N e &1 B bl 3
w1 w1 fare wwy # g s ?
(al 10 B9 (b) 12 T
) 8= (d) 24 57
A man goes from A to B at the speed of
60 km/h and returns from B to A at the

speed of 40 km/h. What is his average
speed for the whole journey ?

{a) 50 km/hr
(b) 48 km/hr
{e) 45 km/hr

(&) 10 hours

(d) 55 km/hr



6.

U W A § B @@ 60 fdHlo Wi
ool H T W AT 2 AT B W A OF
40 faefto wfty gver = nfa & <tear 81
ol ar @ few Swer siwd T
fa & 7

(@) 50 fFHe /Her
b) 48 fadle /e
() 45 e /Her
(@ 55 f@ie /geT

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken to reach rom Bfo A ?

b) 2:3
d) 3:2

(] 5:3

(c)
e @ fig A ¥ g B @@ 4
fafio / gver #1 iy | ST & o= 9
g B § g A 7F 6 fin/ wvEl
# R W ded 81 A 9 B aF g
qT B W A UH MM H O WY H
O 7 ' 7

(a)
le)

Simple interest on a sum of money is

e

5:3 (b) 2:3

2:1 {d) 3:2

equal to % of principal, and number of

years is equal to rate of interest. What 1s
the percentage rate of interest per
annum ?

(8] 2.5% (b) 5%

6] 7=% (d) 10%

B | =

101

(D

4

10.

1ﬂb

11.

11.

et TR R IR @ e 3

£ o gl @ g, ufted e 9 e
2| = o T sX e 2 7

(a) 2.5% (b) 5%
fc) ?%% (d) 10%

Find the compound interest of Es.
125000 at 8% per annum for 9 months,
when the interest is payable quarterly.

(a) (b) Rs. 7605
(c) (d) Rs. 8052

125000 ®0 &1 8% aIfds g¢ ¥ 9 HE &
wmafy @9 W @, wEfs @
femret 29 81

fa) 7651 %0
c)
What is the value of {G.ﬁ +0.48 + D,ﬁ)

Rs. 7651
Rs. 8652

(b} 7605 T0

8652 %0 (d) 8052 %0

a) 187 (b) 214
(c)

(073 +0.48+0.50) 1 W FOT & ?

3.56 d) 412

(a) 187 (b) 214
e} 356

A set of instructions in a sequential
manner telling the computer what to do
is called :

(a) (b) Compiler

(c) Program (d) Key-Board
FHRGEY I, FU Syl ¢, Y8 qO & forg
fea o e AdE (FR) @
set) ] PET oar B
ERieistd

WA

(d) 4.12

Instructor

(b) THETZER
(d) HI-aTS

la]
lc)



12.

12.

13,

13.

14.

14,

15.

15,

Electronic components predominantly
used in first generation computers were

a) Magnetic drum

(b) Transistor

[c] WVacuum tubes

@ 1c

yoe W B wRgeY A Y WY W
TOagITR ged WG s o

(@) TEOEFA  (b) FIOWRR
 faffegm (4 s

A source program is directly converted
to .exe file by which of the following ?

(&) Compiler (b) Interpreter

c) (d) Linker

e R R
A .exe FI5e A ulvafds swr 8 ?

(a) FETERTR (b) ¥R

(c) STEE (d) femv

Which protocol is commonly used on
internet to exchange files ?

a] Telnet (b} Gopher

¢} FTP (d} sp

TEH B IEA-gTel B FETic W
wHre: 6w A & Swan e
A 87

(a) e (b} MY

(c) THoloflo  (d) Todle

Which of the following command is used
to add hyperlink in a document ?

la) Ctrl+F {b) Ctrl+K

fc) Ctrl+B {d) Ctrl+V

UH ERIEAW H EEWfee Sed @ o
1§ 9 e wig & 9EnT fagr o
g7

Assembler

101
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16,

16.

17.

17,

18,

18,

19.

Cirl+ F
Ctrl+ B

(a) (b) Ctrl+K

()
The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called
a8l

(a) HDD (b] ROM

ic) RAM (d) SSD

#41 @1 98 v W Oy & R ererd
W W @Ra gfon dfms! o wufea
vl B

(d) Ctrl+V

HDD
RAM

(b} ROM
(d) SSD

(a)
(c)
A web page is primarily written in the
language

(a) C++ (b) Python

fcj HTML (d) Java

TF 98 U9 T coneien TTET H
feran @ 21

(a) Cr+ (b) 9rEeH

(c) HTML (d) wmar

Every web page has an address
gssociated with it. This address is

known as

(a) URL (b) 1P

{c) TCP (d) Browser

& 99 U9 § WY U U el B 2
fa) URL (b IP

() TCP (d) ATEWR

A popular protocol for sending e-mail is

(a)
(c)

TCP
SMTF

(b) UDP
(d) HTML



19.

20.

20.

21.

21.

22,

22,

§-¥ 49 @ oY 9@ oy Aeiatd
g

(&) TCP (b) UDP
() SMTP (d) HTML

MAC addressis .........ccccovinnee bits long.
(a) 24 (b) 48

(c) 124 (d) 64

HF (MAC) TRF e Rew @ grm &1
(a) 24 (b} 48

c) 124 (d) 64

Temporary storage area that

compensates for differences in data rate
and data flow between devices is known

(a) Bus
fc) Modem (d) Buffer

FTT HUSRY ¥ W 99ExY] & 4
FTT EY 3R ST7 YOTE $ SN Sl 9erE
FH & I8 Heal &

{b) e

(d] 9%

(b) Channel

(@} &9

) i<
FTP stands for
{a) Folder Text Protocol

(b} File Transfer Push

(¢ Fixed Terminology Flacement

{d] File Transfer Protocol

FTP &1 edd &
(a) TieER TRT WIEIBiE

(b) HIEH TTAHY g9
) Treaas eI TH<

d) TEe ETEHT WEhe

(D-6)
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23,

23

24,

24,

25.

23,

information

All the deleted files go to

{a) Recycle Bin

(b Taskbar

{c] Tool bar

(d) My Computer

Wl Recfie o ¢ wrgel Fer 3 o 2
() YreE@a faq

fc) TEEAR (d) HTE FEER

Which of the (following
operating system ?

(b) ETePAR

is not an

la) DOS (b) UNIX
(c) LINUX (d) MS-Office
fr=fefaT & 9 o9 dmfeT frem T8
g7
(a) =19

(c) Torea

(b) e
(d) THOTHO AT

The process of switching from one open
window to another is called

[a) Task switching (b) System call
(e)] Moving (d} None of these

UF AT e ¥ ey e e A
fram wv= @ wihgr @E e £

(a) ©r=s Rafgm  (p) s @i
(c) HfFT (d) 3T @iy FE

Direction (26-29) : Read the following
carefully and answer the

guestions given below it :

Six friends A, B, C, D, E and F are

gitting in a row facing towards Nerth. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at
the right end.



26. How many persons are there to the right
ofD?
(2] One [b) Two
([c] Three (d} Four

27. Which of the following pairs is sitting to

one side of D ?
(a) FB (b} FC
(c} FE (d) AC
28. Who is sitting immediate left of C ?
fa A (b) E
cf B (d) F
20. Who is at the right end ?
(a) A (b) B
fcg E d) F

frdw  (26-29) : Prafefaa el @
graHiEs u¢ ot A Ry g weE @

FR T ¢

UZ ST A, B, C, D, E &R F SOY @
3k g v (@ da A 48 §1 C, A AR E
s dm DA TSI 21 BED O%
g da7 2| F EC | 3| 7 TE 2

26. D% i IR from mfdm 8 7

(a) Y@ () =T
c) (d) =
07, Frefafeag 3 § I9-T TR D & (S
WH T R ?
(a) FB (b} FC
(c) FE (d) AC
28, C @ B1% AN TNE & 997 & 7
(a) A (b) E
e} B {d) F
(D-7)
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29,

T N oY @ deT 7
(al A (b} B
(e} E (d) F
Direction (30-32) : Read the following

information and answer the questions given
below :

B is the mother of A. C, B's sister, has a

son D and a daughter E. F is the maternal
uncle of D.

30,

31.

32.

How is A related to D ?

(a) Cousin (b) Nephew

(¢) Maternal Uncle (d) Brother

How is E related of F ?

(a) Sister (b} Daughter

() Niece (d) Wife

How many nephews does F have ?

(a) Nil (b) One

(e] Two (d} Three

fader (30-32) : Fr=fofea waN 18

aftr i fau v weEl @ oo §—

B, A @ Af &) ¢, B @ 989, @ U@ ¥l

peadRTHE AN E E|F,D W AN E

30.

31.

32,

A, D ¥ fFa yor wefta & ?
(a) Hrewn e (b) W=

(€) A (d) g
E, F ¥ fs wor it 2 ?
(a) W& (b) &€
(c) wTai [@) e
Fw e a8 7

(a) TH W AR (b)) TP
() & (@) o



Direction (33-35) : In each of the
following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

33. NECESSBARY

{a] One (b} Two

[c) Three (d} Four
34. PREAMBLE

(a] One (b} Two

[c) Three (d) Four
35. ORIENTAL

(] One (b} Two

[c) Three (d) Four

ey (33-35) : F=folReg 3§ @ wd®
yeq § Ru v weE # ot & U fhe o
£ fres 49" v & g € foes & s
guiAten # 3o §ra B E 7

33. NECESSARY
(a) B (b)
(c) T (d) =R
34, PREAMELE
(a) ©H (b) =
(c) T (@) IR
35. ORIENTAL
(&) TF (b) &
(e) T () FR

36. The loudness of sound depends upon the

[a) wvelocity of sound waves in the
medium

(b) amplitude of the sound waves
¢) frequency of the sound waves

(d} frequency and velocity of the sound
waves

(O-8)
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36,

37.

37.

38.

38.

39,

39,

el @) wae R w@e @

{a) HEZH H =@ o B AT 1w
(b) el Tt & aH W

(¢) et T @ iy W

@ =afy wet @ emghy @il 9 W

The absolute gzero temperature is 0O

Kelvin. In degree celsius {"C} unit,
which one of the following is the
absolute zero temperature ?

(@ 0°C (b) -100°C
() -273.15°C (d) -173,15°C

o Y AeEE 0 afeas #( fEl
Wfegaa (°C) A5@ & wwH I a9
frfafaa # 9 FR-—T 2 7

la) 0°C (b) -100°C
() -273.15°C  (d) -173.15°C

Brine is an agquecus solution of

(a) NaCl (b) NaOH

(c) NaHCO4 ({d) Na,CO,

A Wil (F124) e Werd fa@as 87
(a) NaCl (b) NaOH

() NaHCO, (d) Na,CO,

Blood is a type of
[a) Epithelial tissue

(b} Muscular tissue

fc) Nervous tissue

(d) Connective tissue
Ya U TER

(a) SYEHE Had B
b) Ul Haw &

(c) @ Fas &
(d) T Eow 8



40.

40.

41,

41,

4z,

‘Lub-Dub’ sound is produced due to
action of :

{a) Large intestine
{b) Lungs

{c) Heart

{d] Oesophagus

we-gg @A fousr fFgr & &
geg—~ Sl 8 ?

(a) TSI 3
(b) HHS

() =<4

(d) TTHEAE

Who was the Education Minister in the
first Cabinet of Independent India ?

{a) Sarvepalli Radhakrishnan

(b) Sardar Vallabhbhai Patel

lc] Maulana Abul Kalam Azad

{d) Acharya Narendra Dev

a4 ANG & UUH #EEves § [Fen 54
w7

(a) T TEFE

(b) WER TeeTIATE ToH

(c) WY gH TEH AT

(d) maTd A= o9

Which one of the following associations
was founded in London by Dadabhai
Naorgji in 1866 ?

{a) The Bengal British India Society
(b] The East India Association
{c) The British Indian Association

(d) The Madras Native Association

(B-9)
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42.

43,

43.

44,

a4 1866 H TIGTHIE ARGl NI dwed ¥,
eferfiaa & @ &9-—4 @9 (wwen) @
WTYAT Y T 7

(@) T 9 A gvsTr e
b g §w e vHIfieeH

() = fafew sitegs wHifeem

d) g #Ew Afes valees

Who is presently the Secretary General
of United Nations Organisation :

fa} Antonio Guterres
[b) AminaJ. Mohammed

[c) Dennis Francis

(d} None of these

adaE ¥ Wgaw W WY & "EmfEg aF
g7

(a) Telfr TvE

(b) SFFT WO HIERTE

(€) = Wik

(d) T W BIE AqE

Jelep La pass is located in

(a) Punjab Himalaya

{b) Siklim Himalaya

(e} Kumaon Himalaya

(d] Kashmir Himalaya
SIeTq—al S¥1 FE( aied 8 ?
(a) gwE RBATea

(o) Tt ey

() TS fe

(d) HEAR feHTeg



45.

435,

46.

46.

47.

47,

Which one among the following is the
coral group of islands of India ?

(a) Andaman (b} Nicobar
{c) Barren
fmfofag § 9 ®9-W UF 9Rg @
vaTd B9-E & 7

(d) Lakshadweep

(a) STUEEE (b} FrEEm
(c) ®E (d) cETEN

Which one among the following is not a
Fundamental Right under the
Constitution of India ?

(a) Right to equality
(b) Right to freedom

{c) Right to citizenship

(d) Right against exploitation

NG @ Afau B sna Aefefaa § 9
FA—w UE Hifos (qel) Sfber T8 & 7
(@) WAHET T HEHN

(b) O @ ARSI

(c) AT &7 BN

(d v % Aeg after

The ‘'Basic Structure Doctrine' was
enunciated by the Supreme Court
during the

la) Golak Nath case

(] Maneka Gandhi case

{c) Kesavananda Bharati case

(d) 8. R. Bommai case

: e g @RE weEn
=ffg=) Sy =y g qE
@ anH et & mn ?

48,

48,

49,

49,

S0,

50,

(D-10)
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(a) TITeTH=T AT

(b) #F@ TN AT

(c) EEFTE AN AHAT
(d) U0 IR0 Y HHAT

Who among the following was not a
member of the Drafting Commitiee of
the Constitution of India ?

(a) B.R.Ambedkar

(b) K. M. Munshi

{¢) Krishnaswamy lyer

(d] M. K. Gandhi

=i ¥ 9 vRg @ WRwE @ e

WAl ®1 ge T8l o7 ?
(a) 0 WO FSHT
(b) @0 THO HIM

(c) FwmEH SR
(d) THO o e

Which one of the following is not an

ASEAN member ?
(#) Cambodia (b] Laos
(] Myanmar (d] Taiwan

f=forfas § & ®9—w1 U& ASEAN &/
e AR B 7

la) FEIfEET (b) TR

(c) WIHAR (d) TrSa™

In the term GIS, ‘G’ stands for

(a) Google (b Geographic
e} Goodness (d) Geological

gsTEd o oo aftug?
(a) OIS (b) Frarmfs
() TEIH (@) Fraeforsa



Directions (51-54) : Read the passage
and then answer the questions based on it
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The debate about whether men are
stronger than women is often unclear
because the word “strong”™ may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease,
They also often excel in tasks requiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different
areas, and fo argue otherwise is to
oversimplify the topic.

51. Why is the debate about whether men
are stronger than women unclear ?

la) Because both genders are equally
strong in all aspects,

{b) Because the word “strong® may
mean many different things.

(c] Because men are always stronger
than women.

{d}] Because strength is only measured
by physical power.

52. According to the passage, men generally
excel at which of the following ?

(a} Living longer.
(b} Tasks requiring precision.

(¢} Lifting heavy objects and physical
labour.

[d) Resistance to disease.

53. What strength do women tend to have
over men, according to the passage 7

{a) They are better at lifting heawy
objects.

(b) They live longer and have stronger
resistance to disease.

[z} They can strike forcefully,
(d) They are stronger in physical
labour.

54. What is the main message of the
passage 7

{8} Men and women are equally strong
in all areas.

(b) All women are incapable of
running, jumping and doing
physical labour because they are
not strong.

(¢} Men and women are strong in
different ways, and the argument
about one being stronger than the
other oversimplifies the topic.

(d) Only physical strength should be
considered when comparing
genders.

Directions [55-59) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
given,

55. Vitriolic
(a) Imaginative  (b) Sprightly

{c] WVivacious {d) Abusive
56. Candid

la) Kind (b} Courteous

ic) Generous (d) Frank
57. Profane

(a) Assert (b) Benefit

(c) Lengthen {d) Desecrate

(D-11)
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58.

59.

Interpolate

ja) Clarify (b) Investigate

[c) Reverse (d} Insert

Nadir

fa] Asylum (b) Heaven

fc] Lowest point (d) Zenith
Directions (60-64) : Choose the

alternative that is most nearly opposite in
meaning to the given words. '

&0,

61.

62.

63.

64,

Fiasco

{a) Success (b) Joy

{c) Fun (d) Disaster
Confident

(a) Imprudent (b} Impatient
(c) Diffident (d) Reluctant
Mammoth

a] Significant (b) Small

(e} Unruly (d) Noisy
Engrossed

a) Occupied (b} Inattentive
jc) Engaged (d) Absent
Altruistic

(a) Selfish (b} Inhuman
(¢} Brutal (d) Wicked
Directions (65-67) Choose the

alternative which best expresses the meaning
of the given idioms/proverbs !

65. To leave no stone unturned

{a) to keep clean and tidy
(b) to try utmost
{c] to work enthusiastically

(d) to change the things

101

be

B6.

B7.

512

70.

Through thick and thin
(a) big and amall
(b) large object

{c) under all conditions

(d) thin and fat

Il at ease
(a) Restless (b) Worthless
{c) Listless {d) Sleepless

Directions (68-70) : Out of the given

alternatives, choose the one which can best
substituted for
sentence.

68.

the given words or

One who cannot be corrected.

(b) Incorrigible
(d] Invulnerable

(a) Incurable
(e} Hardened

One filled with excessive and mistaken
enthusiasm in a cause.

(b) Patriot
(d) Martyr

An office with no work, but high pay.
(a) Honorary (b) Sinecure
() Ex-officio

ja) Pedant

(c) Fanatic

{d) Reticent

fdwr  (71-75) : F=fefes 4 @ g=
T T W8 BT FqUT P
71. (a) fagetemo (b) faeeras
(c) fagemo (d) fereomo
72. f{a) WO (b) ¥EETTOT
(c) ¥rERINTT (d) W
73. (a) wWieE (b) eI
(c) wTElka® (d) wefeas
74, (a) TEEN (b) dfgwEr
(c) @ErEHN (d) aRER
12)



75. (a) TerEiSTedl (b) fererrarel!

(c) feremarier (d) foeerwt

fAdwr (76-80) : F=feifta e wiEl &
fom g@ e § T Ry MU fawedt § | g
76. e w99 90 A 8-

(a) ifHw (b) wafife

(c) Smferem (d) smfew

77. € GOSN 9 W9 Y a9 § U
dred 8-

(a) LN (b) AT

(c) TG e (d) SIS
78. Wl ¥F BN &G BT 8-

a) TFA (b) IR

(e) ST (d) fEdr
79. fo® sR—uR @ 9 HH—

@) FXEE (b) FEat

() wREH (d) arererEd
80. g H T Wik—

(a) FAD (b) aR®

€ % () o

o (s1-s2) : Fr=fofes Hemi/
drpitedl @ o 9 e Ry MY fwedt 7§

T
81, TR B YR W TEAr o a9 2
(a) ST BT
(b) GRIAE @R &
(c) et Fw
(d) HEA T BT

82, ‘BT & e @ aref B

(@) G5 9%
(b) YR A

(c) W&l T

(d) AN T

frdw (83-86) : fr=afofes amawor =
ot e @ fEmreER 8 f{y e e 9
¥ gfo-

@ ae fore awg @ €, oW 98 9Ed
g% VIR B, 4 99 g% @ Wifw, wWeg ar
FUHET [ S TE Wwar | Ay W € oaw
IR-a e a7 avEy fFear @) g9 @ e,
g T B B § wm ww oo 2 o9 wifty
BF 9R o aflv wifly @ gEeT EREN 9 e
2, fowy wqw war oy o wifls & e
9 fagm wea 8 R a8 & 999 & 99,
foramr € 909 ¥ 0= B9 @, 99 9 oraET
& T8 Fee| SHeT 9N ey el
g Eal o 999 fHC @1 & 98 91 &l
| IS, SFa—FHed ¥ U g 8, ek
fow el 4 w8 ewE—wegw @RS 8
ol €, g @ Swer A w6 F9 @ foy g
oTar 2| 9 e dwew T owwer @ @
R 7 9 TEHe FIE WE B B 59 H
Hey wifcad oiad @1 S g T 8|

83, TENY & wel e 8-
(a)
(b) EF-EM
) TN SN ey
(@) m 3R o

(D-13)
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84.

BS.

B6.

WS B HPNVl Wed SMEAd a4l
E R ?
(a) O€ Wiicad GG Wi+ oAl 8

p) forem & 9o9 § v B # 99
T s FE Frerar

() @@ @ Iff ¥ | eETIE el
o Wi % o 8

(@) T & 90 9§ 98 WE-1 & W
2

wifeaes Wi &7 &7 e e mar & ?
(@) & (b) Wy
(c) URIYER (d) wfeRT
g e yen @ g@ wEr T 8§ ?

(@) @ @ off F W @ g AT
e

(b) € WISl 5 B & g A=A T2
(c) AN WIS E H W HAT T

(d) SME-FETT W TEOW §W A
Tar &

fadyr (87-88) : fmfoflaa w=f &

wHETT T @ TEe 99w fRw v fReedi §

¥ #fomg —
87. aife
(a) wEmaT (b) ©TEH
(c) wad (d) aFTa
88, ©d
(a) R (b) STEHN
(c) =T (d) TR

fade (go-90) : fr=afafam w=el @

e == = T4 999 fBv v et # 9

i

89,

(D-14)
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LGl
(a) g (b) F==
(c) FAfem (d) ope
Rl
(a) U0 (b) Herd
() gfe (d) et
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W4 TP AP T8 We YRaPT @ier BY 7 HEl WY 99 TP 7 @le |

gfeaT W gl A

ST : D

freffa w9 : 2 He i 3 : 90
wenhial @ forg fdw

10.

oliET 96 e @ qr ar anadi oz g e o B 2 we-gRee g9 16 el B 8
Mﬁm%aﬁmm&gﬁﬁ%mwﬁﬁmmmaﬁﬁﬁjﬁm%
ol 59 A HEer At wee-gRae ¥ 189 Wl e |

IR T T Fe-gRae § SR Ry T e § e ) g affe se-gike w
7o 4 7 fod AR D yeR &1 aFaegs e [ |

R @ wuee av T OMR Sheet # aifon gaem PuiRe ©F ® wer 9% 89 9
of A ¢ R RN wER 7 araeas Fwr T@ @ 8| srewd A OMR Sheet W
I ¥

w8 T-fiftd a7 @ R Feffa w@ T @ T e dedte 89 EW R | 1 W eRE
e @ ffte 7 &) v ¥ ofe e B o @ w0 A Rt v W 99 I # T A
IR |

70 wer-gtae § ¥ e o o @1 o 7 | wEieRr, OMR TTWR-T% @ $6 digw @
iy & | s e @ @g we-gRawr ST W o W B S B

59 F-gRaE A G 90 WA | URE 0¥ &1 A 1 9@ 8| Ton o @ fg o1 o el
FIe A |

W S, W, e T s @ e B ud sl < A ¥ | R el A At Rl
v SR wwe el argae § a1 M 8, o suen A g v € e e

79 ye-gae ¥ 7% 1 & foy °f § oe T E

wlien e ¥ dergeey, W U /0, A B W ARG S WY H W @
TEE ST B AR B

st g6 9o W a9 @ 75 OMR Sheet @1 qediaa ger@gie w4 g1 fdar @ &
37799, OMR Sheet W e &1 w8 @09 § ¥ orgur e 0@) T8l 98 w S Fedie
T8 Tx A | 59 FEw @ s o q o @ s § ol g ford e freaw
e |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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QUESTION BOOKLET OF THE CLERK (2ND SHIFT) EXAMINATION-2022

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Booklet Series
Eoll Na. H A
Time Allowed : 2 Hours Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc, If so, get it replaced by a New Question Booklet of same
series.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and aveid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one cirele. Darkening more than one

circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
CQuestion Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi

Translation.
Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it, Failure to comply
with this instruction will be the sole responsibility of the candidates.
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Directions (01-04) : Read the passage
and then answer the questions based on it
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The rule of the road means that, to
protect everyone's freedoms, we must
sometimes restrict individual freedoms. When
a policeman steps into the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we
can create a society where freedom is real for
everyone. We must preserve both our
individual freedom and our social freedom.
This requires a thoughtful balance. While no
one should tell me exactly what my child
must study, if | were to say my child should
have no education, society would step in and
insist that my child must go to school,
whether I like it or not.

1. What does “the rule of the road” suggest

in the passage ?

{a) Freedom should not be restricted
at any time.
jb) Individual freedoms must

sometimes be limited to protect
everyone's freedom,

(¢} Only policemen have the right to

restrict freedom on the road.

Freedom cannot coexist with rules,

d)

2.  According to the passage, when a
policeman stops traffic, he represents
{a) tyranny (b) power
{c} freedom {d) fear

3. The author suggests that society would

intervene if

(&)

a parent wants his child to attend
a specific school

102

(A-3)

a parent insists that his child
should not receive any education,

(b)

i} & child prefers studying science
over arts.
(d] & child wants to study abroad.
4, What is required to maintain both

individual and social freedom, according
to the passage ?

(a)] A strong government.

(b] Complete individual freedom
without limits.

{c) A balance between individual and
social freedom.

[d] Restrictions on only social
freedom.

Directions (05-09) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
given.

5. Ostentation
(a] Calmness (b] Egquanimity
{¢] Declaration (d) Pageantry
6. Primordial
{a} Feeling of elation
(b}  Small
(c] Elementary
(d] Daunting
7. Massive
(a) Enormous {b] Erronecus
(e} Hazardous {d) Perilous
8. Stubborn
(a) Observant (b} Obnoxious
(e} Obatinate (d) Corpulent
. Astronomical
{a] Exorbitant (b} Commercial
{c) Durable [d} Mlogical



Directions (10-14) : Choose the 17. Teo fly off the handle

alternative that is most nearly opposite in

: 7 a to dislocate
meaning to the given words, @]

(b} tolose one's temper
e} to take off

(d} to beindifferent

10. Anathema

(al Appreciation (b) Cursed

{c) Protection {d) Obstacle
Directions (18-20) : Out of the given
11. Opaque alternatives, choose the one which can best
(a) Vague (b) Firm be substituted for the given words or
sentence.

()] Transparent (d) Poor
18, Constant effort to achieve something.

12. Belittle
(a) Patience (b)] Vigour
(&) Allure (b) Disturb
} (c) Enthusiasm [d) Perseverance
[c) Ascend (d) Magnify . ;
19. Words inscribed on the tomb,
13. Inclement
(2] Eulogy (b} Epitaph
a) Pleasant St
(@ k) L) (2] Memaoir (d) Elogquence
(6] FAsNs (o) Pignified 20, Life history of a man written by himself,
T ety (g) Biography (b) Autobiography
(] Humility {b) Pride {c) Calligraphy (d) Bibliography
(e}  Ostentation (d) Pity 21. Soaps clean surfaces on the principle
Directions (15-17) : Choose the based on
of the given idioms/proverbs :
c)  elasticity (d) surface tension
15, To move heaven and earth ;
21. WA & BRI WAEl B WEH FA B
(a] to pray earnestly T e #

(b) to make every possible effort
() ¥ETIAT T (b) =T W

{c] to sing beautifully
{e] TEORRIET U (d) 9% 1@ W
{d] MNone of the above
22. Which ene of the following waves is used

16. To jump the gun for detecting forgery in currency notes ?
(a) to do something without finishing it (a) Ultraviolet waves
(b) totry and harm someone (b} Infrared waves
{e) to do something before the (¢) Radio waves

appropriate time
{d} Microwaves

{d] None of the above

(A-4)
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22,

23.

23.

24,

29,

25.

P ARl | WrerEel @ uEEE e
# fou fr=fafes & & a9 o<t @
WU BT B 7

(a) INRTHT T (b) Favew 9
() Em EdE  (d) | o

Which one of the following is the

chemical formula of gypsum ?

() 2CaS0,-H,0 (d) CaSO,

frefafag & & FH-—w1 fom @1
At g3 § 7

(a) CaSO, 2H,0 (b) Ca,Si0,
(c) 2CaSO,-H,0 (d) CaSO,

Thyroid gland produces a hormone
called ‘thyroxine' which

(a)] controls blood glucose levels

(b) controls ovulation

(c) controls metabolic rate

(d}] maintains pregnancy

Hag (uradigs) uf grERifee am
e B @7 Sedred B 8 W

(a) waw # To@hie @ W Bl FEE
T B

(b) aweead (segery) @ Faf
GGl

(c) SISt &Y @ Fdf e 2|
(d) TR B 99 TEEaT B

Precursor of which one of the following

vitamins comes from p- carotene ?
(a) Vitamin- A (b) Vitamin- C

(e} Vitamin- D [d) Vitamin- K

(a-5)
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25.

26.

26.

27.

27,

fefofea faerf=t & & 5w v @
ST BB § WIS B 8 7

(@) fEefE—a
(b) REfE-C
() fref=—p
(@ RefE-

Who among the following was the
founder of the Young Bengal Movement ?

{a) Henry Vivian Derozio

{b) David Hare

{c] Dwarkanath Tagore

(d) Prasanna Kumar Tagore

T G ATRIGT BT HaHd AeerE
AE B ?

(a) & AR el

(b) effs 2w

(c) EWN&HMY SR

(d) TES HAR SN

The Indian National Army/Azad Hind
Fauz was organized to fight against

{a) Germany and Japan

(b British in India

jc) Japan

(d] Russia

g g Wsaee e v @
meq e /v e deq @ v
o T o ?

{a) THAT AU HAGH

(b) W # fafewr

(c) TIH

@ wH



28,

28.

29,

29,

30,

30.

31.

Who is the Current Chairperson of the
Mational Women Commission ?

(al Mamta Sharma

(b} Rekha Sharma
[¢) Vijaya Kishore Rahatkar
(d) WNone of these

sty wfger oA @ e ST
BT E?

A I

T

faoran freir <ETE®
A | Bl TE

The Nagarjuna Sagar Project is located
on which one of the following rivers ?

(a)
(b)
c)
(d}

(a) Godavari (b) Krishna
ic) Kavery {d] Mahanadi
et wrR uReE, PR
Afeat # & frw vw W sERem g 7

(a) TirETEE (b) Fwm

(c) TTER (d) HETT

Which one of the following States in

India has the longest coastline ?

{a) Odisha (b) Tamil Nadu
e} Gujrat (d) West Bengal
aRg @ fyefafan § 9§ fow = #
e oftre ol Te § 7

(@) Shfewm (b) g

(c) TSI (d) fE=HA

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

102
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31.

32,

3z.

33

(a) Article- 21 and Article- 446
(b)
(c)
(d) Article- 17 and Article- 143

INT @ GfeuE & 2 9uas, W waiud
W w9 W WflE gk @ e
F WE T B, B9 E 7

Article- 32 and Article- 226
Article- 44 and Article- 152

(a) STWE— 21 TUT e~ 446
(b) IgEE— 32 TIT HTWS— 226
[c) STRIT— 44 TAT FTWE— 152
(d) SFTEEE— 17 TN FIEE— 143
Who among the following can attend the
meetings of both the Houses of

Parliament while not being a member of
either House ?

(a) The Solicitor General of India

(b} The Vice-President of India

(c) The Comptroller and Auditor
General of India

(d) The Attorney General of India

wae ® B A "ea &1 WEw A BN
v 1, feferian § § @9 wwe @ &
=+ & dowr ¥ ouRew & 9@ & 7

(a) TG @ Hife e SR

(o) wTEE =T IoRrsgafer

(c) WG &1 FaEF Td ARTeraRed
(d) WG @ HETaaR)

Which among the following is not a basic
feature of the Constitution of India ?

(a) Fundamental Rights

(b) Independence of Judiciary

{c) Federalism

(d) The unquestioned right of the

Parliament to amend any part of
the Constitution



33.

34.

34,

33,

35.

frefafg & § #F- 980 § |RuE
#1 ey e A€ & 7

(&) T DR

(b) =ETEIfeTST W T

(c) ¥HEE

(d) Wfqur @ fEe A weT @ S
@ B g @ e wfd

According to the Census 2011, the
density of population in which one among
the following States is the lowest 7

(a) Sikkim

(b) Nagaland

{c) Arunachal Pradesh

{d) Mizoram

2011 & SvET & e frEfafea
vt § # fw weg § wAwe @
Y FgATH B 7

(a) Tofewd

(b) ATTRIE

(c} @woTEe WEW

() e

Which one among the following

countries was the top contributor to
India’s total FDI for the year 2023-24.

{a) Mauritius (b] Singapore

(cj USA (d) Japan
feefofag & & ®9-w @ 9d 2023-
24 ® WRAG & F[A [HoSlodMgo H

ot grTeEEal a9 97 ?
(a) WIS ) frmgR
) FoT®oTo  (d) WU

(A7)
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36.

36.

37.

av.

38.

38.

39.

Rs. 561 is to be distributed among A, B,
C in such a way that A gets Rs. 120
more than B and Rs. 120 less than C,
What is the share of B in this ?

(a] Rs.73 (b) Rs. 67

(c) Rs.76 (d) Rs.80

561 To @l A, B, C ¥ 39 yew @i
FoT & 5 A BT B 9 120 To G Tl
C ¥ 120 Yo &9 fHoi| §@H B @ T
fpar 8 ?

fz) 73 %o [b) 67 Fo
fc) 76 %o {d) 80 %o
Ha:b=3:4and b:c=4:7 then
ﬂ+b+c:?

e
a) 1 (b) 2
fc) 3 id) 7

AT a:b=3:4TA b c=4: 78, M
a+b+c=
c

?

@ 1 (b) 2
e} 3 @ 7

Two numbers are in the ratio 3 : 4 and
their LCM is 84, What will be the larger
number out of these ?

@ 21 (b) 24

() 28 (d) 84

B W@ 3 4 B AU § § TAT GBI
TETH TAEE 84 £ 1§ W g9 wEA
FT BT ?

@) 21 b} 24

(e 28 {d) 84

A can finish a piece of work in 12 days. A
and B together can finish it in & days. In
how many days can B alone finish the
work ?

(a) 24
fe) 18

(b} 20
(dy 22



39

40.

40.

41,

41.

A TE B @ 12 RA 4 §Rd @R

wad 8| A o B Peww 59 8 fRa
TATG TR HHd 8| B Aol 56 FA B
fo B9 & W R HE B 7

(@) (b) 20

le] (d) 22

A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worked for 2 days, After that B
was put on the job in place of A. In how

many days the work was completed in
all ?

(a) (b}
(e} (d} & days

Afrfred sr 10 Ra ¥ B, 15 RF H
aur c, 20 &9 A @ R W &) A
e ¢ fiesy 2 fam o fora ) aevey

AT ®FE T B @ @d W o R
T e e e feee e oA [

Bl v
(@) 1213+ (b} 10f2=
€) 6T d) 8fE=

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of
110 km more than Car A in 9 hours.
The ratio of the zpeed of car A and car B
is respectively :

(a) 28:31
(c) 55:2

TR A 7 448 fdto o ot 8 5 & oy
WA FR B A9 HC H FRA A 110

firfio afd® g0 T4 @ | BN A Td FN
B @ TR &7 AU HHE -

(e}
(c)

24
18

12 days 10 days

6 days

(b) 29:32
(d) 62:55

28:31 (b) 29:32

551 2 (d) 62:55
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42,

42,

43.

43,

A lent Rs. 5000 to B for 2 years and Rs.
3000 to C for 4 years at the same rate of
simple interest. He received a total of
Rs. 2200 as interest from them, what is
the rate of interest ?

(a) (b) 7%
(e) ({d) 10%
AT B @ 5000 To 2 T & 30 a2 ¢
W 3000 To 4 T4 & forU wWEWE =i
@ TH B Y ¥ wuN 83| wad §

9 ¥ = @ Y ¥ Hel 2200 o WK
f&d | =re 9 afde =% e 8 7

(b) 7%

5%
8%

(a) 5%

(c)

A sum of money amounts to Rs. 8028 in
3 years and Rs. 12042 in & years at a
certain rate of interest, when the
interest is compounded annually. What
is the principal amount ?

(&)
[ci Rs. 5643
e fafdea vfdwe sow €¢ 7w 3 a6t #
e T s028 B ol 2 ol 6 9ol A

12042 Fo Bl TN 8 TH &I A4S
wU W wUifAd g 8| g i g g ?

8% (d) 10%

Rs. 5352 (b) Rs. 4569

(d) Rs. 4596

5352 Yo (b) 4569 %o

(a)

(e

A man travels a certain distance by a
motoreyvele. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more. But, if he had travelled 4 km/hr

5643 Yo (d) 4596 ®o

faster, he would have

1
taken 4-—
2
minutes less. Find the distance,
(a) (b) 68 lm

(c) (d) 72 km

66 km
76 km



44,

45,

45.

46,

47,

47,

U wfta diex wEfeha g e e
o g weal 81 e 98 6 fdHlo /HvEr
R = o 99 8 fe el @ |
e, afg 98 4 e /uver O9 woen

?r“ra%z%ﬁa'amml@m
HIRAY |

() 66 fFHo (b) 68 falo
c) 76 fFo (d) 72 e
(257-188)=2

(a) 023 b) 0.41

(c) 06 (d) 08

(2,57 -1.68) %7 w7 F4T & ?

@) 023 (b) 041
) 06 (d 08
Junk E-mail is also called

(a) Spam (k) Spoof
[e) Sniffer script  (d) Spool

W g ©F g8 W $E W 2
(&) (b) ¥IF
(c) TR e (d) g

Data transfer rate in networks
modems is measured in

or

{a) Bits per minute
(b} Bits per second
[c] Bandwidth

(d) None of the above

oo O "ierd W Sl WHRNY eY
A Sy &

(a) fAEw ufed fAse 4
(b) faew uflt d@ve A
(c) wefdsy #

(d) SHRET § G FIg TE
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48.

48.

449,

49,

50.

50.

=l

A video consists of a sequence of

(a) Frames (b) Signals

(e] Packets (d) Slots

@ QA v @ o o foes
T & |

GV aiil (b) R

(c) UdeH (d) wEH

Which of the following isfare word
processing software ?

(a) WordPerfect (b) Google Docs
e} MS Word (d) All of these
frfafas & ¥ s 7= e
HifedqaR & ?

() FSWHIT (b)) Tl S

() MSaE (d) T4 |

The types of software used to carry out
tasks, such as writing a letter, is called :

{al GUI software

(b) Utility software

(c) Application software
(d) System software

a8 wiveday fod el e &t @
o & fow oy e W & oW
gy e, weem # -

(a) GUI HIFZag

(b) Feferd! Hiveam
(c) UEiHId Hredgs
(a) foves wivedaR

Which of the following is not a computer
language ?

{a) BASIC
e LOTUS

(b) COBOL
(d) FORTRAN



Sl

52.

52,

53.

53.

4.

o4,

fe d 9 -0 Feger # W T8 87
(b) COBOL
(d) FORTRAN

{a) BASIC
(¢ LOTUS

Which of the following is not a web
browser P

(a) Yahoo (b) Opera

(c) Chrome (d) Mozilla firefox

frefafes & 9§ #9-7 U@ 99 §eux
T E 7

(a) ATg
(c) M

(b) HHTART
(d) T Faveiay

domain is usually used for
educational purpose.

(2] .in (b)

.Org
[c) .com (d) .edua
SEval F forg gy Bem 2|

(a] .in (b) .org

) .com (d) .edu

Which of the following components of a
computer  system, manages and
coordinates the operation of all the other
components ?

() Input Unit

(b Output Unit

e} Control Unit

(d} Arithmetic Unit

fret § & ol Trger Rneg 3 oegex
W N T & WEEd g HEldd adl
TEgT @ B Heel & 7

(a) FYE TP
(b) TSEYE FHIE
(c) WA THIY
(@) orfafes g

54,

23,

56,

56.

57.

B7.

28,

(A-10)
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JPEG stands for

(a) Joint Professional Experts Group
[b) Joint Program Evaluation Group
{c) Joint Photographic Experts Group

(d) Joint FPhotographic Experienced

Group

JPEG & fawm &

(@) ATEE WIS YwRIIEd qd

(b) EE WHATH FACYUAT 4

(c) vaTSE WEHIRE Yaued U9
(d) TETET BIEh® YEUIRGs 79
URL stands for

(a) Uniform Research Limited

(b) Uniform Resource Locator

(c] Uniline Resource Labs

(d) Uniform Research Locator

URL % fawIR 8-

(a) FFwE Red ffcs
(b) TfwE REE drdex
(c) ufremga REm e
(d Ffer Red dwex

Spreadsheet files are generally stored
with an extension-

(a) .doc (b} .xsl
e} .xcl (d) .xlsx
% Wy HelRa gl €1

(a) .doc (b) .xsl
(o) .=xcl (d) .xlsx

Intersection of rows and columns in
spreadsheet are called

(b} Cells
(d} None of these

(a) Box

{c] Line



58. Wedle # ufewdl 3N Wl & uftewgd | 64. () SFEN (b) STTEE

H1 HET T B — ) ; @ :
W A b} W 65. (a) arforergfd (b) SrEfreEIa
i Shr ) W S © o () s

by, is 2 compression technology for .
transmission of video. f&w (e6-70) : Fre=foiftan = 'ﬂ"l'ﬁif @
[c) MPEG (d) 3GP 66. [ora® o= 9 8-

59, e ANMETT B FARY B A7 FirET (a) ST (b) 3o
bl © e @ faw
. ok Vi s 67. WA I BT WA qTAI-
{c) MPEG dy 3GP

&0, cieovaie. 18 a chip which performs (@) fst (b ﬁﬂﬁfﬁ
anthmetlc and logical instructions in (€) s (d) =i
CPLU.

(a) Main memory 68. € T%G W @M B

(b) Microcontroller (&) =EEY (b) ¥IHER

(c) Microprocessor (c) &R (d) et

9] SDRAM 60. Wi el @7 fRw =mEaT B

T e (c) fRod (d) fReramdt

) N 70. 9rET WIHEA dlel—

& R (@ o (b) TES

(d) SDRAM (€ T () 3=

e (61-65) : Frifefas & ¥ = e (71-72) : Fefofaa gem/
Tt arer e @7 999 - drelfamal &1 sef 99a Ry Ty et 4 |
61. (a) daTER® (b) ETEEIRE T

© R ) ATERD 71. B @ M A YA @ 9y -
62. (a) wgHia (b) et N R

c) wTgAE (d) TRIERE R
63. (a) AWEATER  (b) TR (c) T SHERT A

€ FwERE () Swed () @I T

(A-11)
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72. ‘W o @1 aef 8-
(b) eRET &=
(c) BT (d) FrE ge

frdw (73-76) : frafafEs s@eRer &
srTgde 9iey off SR Weldw el &1 9w,
o vEd & fGawgEr 8@, Ry 17 Bt o
¥ giHg-

U UEINEET @ ged d a9 9,
IO 29 O wEplfa aum Wi @& Wiy o el
fte wEw & BT 2| 9% oUW, ST
[ ot 1o O o o e = il
P B Weg TR vEaT B Rw osw @
Prarfrdt & =g & g Sowt Wi A9 B
8 AE, WHE e A gu-wify ok
iy wer @ fay @ dear &) Jwfw sk
wawE fRg & famr wfta wear &1 afww
& 7Ef Y8 §ear| g8 e 99 §9 g @l
T Be @ wRe wea) & 5 98 e 9
Tl @ v FY e & PEre &, g
W fem W N =g & oy o2 wEWe @
1 AR afE @M SeFr UdeA
IENER B ¢, AU §HE B ufd P 9§
79 Hiedy 99 g 7 ¢ |

73. U W @1 g5 -
(@) e wgtE
(b) 3791 HIE]
(c) AU I HIEAl
(d) AT -
74, TETY @ G Al B
@) ST AES
(b) TSI
(c) g T wit FEE
) T B gE-

{a) EHTETAT

(A

102

75. WEIE NISIRAAT @ §a9 A W =
-

@ =w N g @ g
(b) =O @ gE-wWA B o
(c) =ur @t AT & famg
(d) < FHEE D fo
76. S¥mfda WRa wed &-
(a) i & Ao wwe @ forg
(b) =T EY TS B Y
(c) afew & 2g &H & forg
(@) TREFEN & o0 gE e B

frdw (77-78) : frfafaa o=l &
warelt we &1 waw sea Ry v e |
H HIAY —

77. Hi=
(a) TS (b) ufe
©) R (d) T
78. ENA
@) g (b) e
€ wER (d) e

fAdyr (79-80) : fy=ifefEe weE] @
ey wreg @1 =99 99 2y Ty fawedi A @
T

79. FUTHS
(a) YARHS (b) FRoumess
(c) HTATCHE (d) TS
8o, afey
(@) g dfEFE (b)) A
) 3 (d) siferera

12)



Direction (81-84) : Read the following 81.
information carefully and answer the
guestions given below it :

Six persons A, B, C, D, E and F are
sitting in two rows, three in each.

E is not at the end of any row.

D is second to the left of F. i
C, the neighbour of E, is sitting diagonally
opposite to D.

B is the neighbour of F.

81. Which of the following are sitting

diagonally opposite to each other ? 83,

{a) FandC (b} DandA

fc] AandC (d} Aand F
82. Which of the following are in the same

Tow ?

fa Aand E (b)) Eand D 84.

[cj CandB {d) AandB
83. Which of the following are sitting in one

of the two rows ?

{a} FBC (b) CEB

[t} DBF (d} AEF a5
84. After D and E interchanging seats, who

will be the neighbours of D in the new

position ?

fa] CandA (b} FandB

(cj OnlyB (d) Only A

fadw  (81-84) : f=ifarfan waed 1 | ss.
WEETTEE 1€ AR M /Ry M0 5w @

TN T

UE @fR A, B, C, D, E 3R F <
il 4 92 8 wee dfdm § o afd 49
€|
E ol +ff ufd & femme 4 =181 <ot 2 88,
F @ 90 avs gav @fed D der #1
E® e d ¢ #6018 @ D & WHA & a6
fawvfa fada et 21
F & 9 B ¥o1 2|

(A-13)
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Frafafes 4 @ o9 @ T @
wr fawole: fuda dor 2 ?

(@) Fafc (b) DaRA
[©) AdRC (d) ASIRE

frfeifan # @ &9 @ & 9faa J 99
g7

la) ASRE
) C3RB (d) ASRB
frafofeg § 5 ®9—r o 9fEmar § 9
TEHASE?

(a) FBC (b) CEB

() DBF {d) AEF

D 3R E & WM @ Ige-d5e] D
q7E, ¢ WE W D @ 9N HiF dor § ?

(a) C3RA (b) FaREB
(c) HIAB (d) Had A

A and B are brothers. C and D are
sisters. A's son is D' brother, How is B
relatedto C 7

(a) Father

() E3fRD

(b) Brother
(e} Grandfather (d] Uncle

aAdrBaE E caRD T Bl A&
eI D F WS E| B, C 9 59 UBR
e & 7

(a) fAE (b) T8

(¢} =TAT (d) =TT

A, B and C are sisters. D is the brother
of E and E is the daughter of B. How is

Arelated to D ?
|z} Sister (b) Cousin

[c) MNiece {d) Aunt



86. A, B3R C 961 €| D, E & w1 & 3R | 88. BRIGHTER

E, B @ & 8| A, D ¥ &9 uor (a) One (b) Two

v 7 (e} Three (d) Four

() #&H (b) T B 89. HACKLE

(c) ieh @) (a) One (b) Two
{c) Three {d) Four

BY. A and B are married couple in which B
iz husband. X and Y are brothers. X is 90. FICKLE

the brother of A. How is Y related to B ? 8 Two (b) Three

(a) DBrother-in-law () Four (d) Five

(b) Brother fdw  (88-90) : f=fafET § ¥ wede
(c) Cousin we ¥ Ry o e A 9ot & O e wre
(d} None of these g foe 9= 99 & af g, o= & sfeh

87. A 3w B faafea wirer &, fored B oy aofwren % g 9 S € ?
Bixeiwy s &1 x, A g &)y, | 88 BRIGHTER

B ¥ e wae wEfw 2 ? (@) (b) =

(a) T (b) ¢ () (@) =

(c) FHIT WIS d) 39 BE TE 89. HACKLE

Direction (88-90) : In each of the (a) T& (b) &l
following questions, find out how many such (@ @ =R

pairs of letters are there in the given word,
each of which has as many letters between 90. PICKLE
them in the word as is/are between them in (a) 2 (b) o

the English alphabet.
¢ ¥R (d) df=

(A-14}
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W TP AP I§ W IR @ierw B | PE 91N a9 @ | @l |

- A
fFeifa w9 : 2 0 yfrFaw 3@ : 90
el & fow fd

10.

T g6 B B gen 4% el o8 ghiftea @ of 5 a8 ye-gRe qo 16 gei A R
Rl 1 g ¥ amfET @1 w8 g8 T B W gwe v o ww onfe ue e f) of O g
dl ¥4 WA e e WE-gfee © 999 o @ |

! AT ST FE-IRAE A T Ry T we § e # ) g sfie e-aRee W
38 A 7 fod ok il wa @ srmaEs e 7 T |

yeafifal w1 wuer@ w4 OMR Sheet # aifoa qamt feifta e w ol 7w & &
T A R e yer w1 aemave e g 8 sTawws e OMR Sheet W
JUE ¥

el FTR-fufea v @ oy FeiRa 1w e @ @ @ A dfdize O ew W) e d ot
e &1 fifed 7 | 7@ W 9% T 3 o @ WY A Rl oW W S99 O @Y T A
Sl

o9 ge-gitae # ¢ farlt ff o @) ae W ) wEw, OMR SWR-TE @ 5 dee @)
wig | el wE-wEfh & 9 TeE-gRast o wR o O @ e &

T Wi § @ 90 W § | I e @1 AW 1 9% # | T o @ g B ofw
FTE WG |

WA T, T, TEie U eee @ e B ol ool gl ® & | gl el & afw e
7 SN S B Sae A PIg e 8, a1 el 7 gftw e & e s

59 wE-gfas # W 7 9 fog 9w oig T )

W By § degeicy, TR USt/ U9, daEd B s sengife suee oy ¥ v o
THE IYAT FAr affa

apapeffror &9 mea @ e W8 f OMR Sheet &1 qeuiaa geiagie 7o g far & 2|

v, OMR Sheet W T & Wé Tw § WY 97 7Y TH0] 78 93 G SR T
TE H UR | 39 fASW @7 SERY: U 9 e 3 aen ¥ o gue R wg Reaw

Gl

Note : English Version of the instructions is printed on the First Page of this Booklet.
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QUESTION BOOKLET OF THE CLERK (2ND SHIFT) EXAMINATION-2022

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Booklet Series
Eoll No. ; B
Time Allowed : 2 Hours Maximum Marks : 50

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc, If so, get it replaced by a New Question Booklet of same
series.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and aveoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is aver.

This Question Booklet contains 90 Questions. Each guestion carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are

both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi

Translation,
Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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fadw  (01-08) : Fr=fafem # @ g=

TEAT Aol e BT 909 Difulg—
1. (a) ¥aER® (b) STTEING
(c) TEEIRS (@) daEie
2. (a) WIgWE (b) g
(e} WA (d) HETHE
3. (a) STHTRETER (b) STSTETRI
(e) A9 (d) s
4. (a) IgEEH (b) ST
(c) g (d) SFHE
5. (a) SHferergfa (b) arcirefae
fc) orciredyaRil (d) arferergifae
frder (06-10) : Frafefas o wEl &
fore tF v e 2y Y Reed § @ gi-
6. fores o= 9 8-
(a) STSTHT (b) STuIR
(c) I (d) fa
7. WA W g Y@ giel—
(a) faw b) forsTy
(c) I (@)
8. U8 g% W F9EN 8-
(a) YN (b) wTEER
(c) 3R (d) rclifdhes
9. i faelt @1 R =mew 8-
fa) fRasr I RIEGEDE
(c) faerd (d) feemmiy
10. 918l W grefl—
(a) Toqs (b) EES
€ (d) o

102

(B-3)

frder (11-12) : Fe=fafea gemsi/
wrerfaeal @1 arf 9ud Ry v Rt A @
.

11. ‘B & By A GEET & aef &

(a)
(b}

99 H 98 WA
R e

(€) ©T SfERT B
(d) =TE T

‘i T @ I B
AT

gIET g

GRE

12,
(a)
(b)
(c)
(d)

frde (13-16) : F=fofed smeRyr &1
W wEs @ fEwger 8, Ry e fee
¥ gfTe-

e wEfNEE & gSg § s |
H9 S @ Eoly oY W & WR uE e
W WEwl 8 8 51 g8 AU W, 9
s ol W @ faw W & oSeE
Y B ¥ed TR VW & o dm @
et & geg | 9 oo wEe e Bk
T® U, WHE BER I gE-wuifn @i
wiE w1 @ fog @ dew 81 i ek
wdwne fea @ famr wa www @ el
€ 7€ Y8 WEHaT| g§ WiEd 99 g9 99 &6
WaoT Hv @ UG @Rdl & & 98 ey |
el @ v @ e B e R, o
R far @ o =g @ o 92 w9 #®
B UgaeY  ordfEd WM 9o U@eH
SN W Y, AU TS @ Wi e §
TG WIS JY G q 9

EIGECEE]



13, W I G 4o &

() O W&

(b) SO HTHET

(c) ST SEE A

(d) T T
14. e BT GE ONE 8-

(a) A AEA

(b) TSR

(c) WIS B W we

(d) g B G-
15, UEe UEIREE @ gEd A e g
&

(@) = T WG @ foy
(b) 2w # gE—wia @ g
(¢) & @ W & forg
d) ¥ @ e @
16. i YRT He B
(@) srifren &1 Pary w9 & fag
(b) @9 B @S & ferg
) omfe @t 8 ored & fo
@) weeier @ fore gm e A

¥y (17-18) : Pr=fafaa o=l @
et e 1 g oo fou v fawedt |
¥ #ifog -

17. =

(a) TS (b)

() foma (d) |
18, ©!

(a) =@l (b) @res

(c) R (d) srmeT

102

(8-4)

fr¥y (19-20) : Fr=fofae o=l &
Rieiy wres 7 99 999 U e R § 9
i

19. TEUTHSE
(a) EHD (b) Romes
(c) WD (d) TS
20, afa
(a) WET RS (b) IH
(c) o9 (d) arferera

Directions {21-24) : Read the passage
and then answer the questions based on it
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE
The rule of the road means that, to
protect everyone's freedoms, we must

sometimes restrict individual freedoms. When
a policeman steps into the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we
can create a society where freedom is real for
everyone. We must preserve both our
individual freedom and our social freedom.
This requires a thoughtful balance. While no
one should tell me exactly what my child
must study, if | were to say my child should
have no education, society would step in and
insist that my child must go to school,
whether [ like it or not.

21. What does “the rule of the road” suggest
in the passage ?

fa} Freedom should not be restricted
at any time,

Individual freedoms must
sometimes be limited to protect
everyone’s freedom.

(b)

Only policemen have the right to
restrict freedom on the road.

(c)

Freedom cannot coexist with rules,

(d)



22, According to the passage, when a 28. Stubborn

policeman stops traffic, he represents @ Observant (6) ‘Obnoxioig
(8} tyranny (b) power {c) Obstinate {d) Corpulent
(c) ‘freedom (d) fear 29. Astronomical

23. The author suggests that society would (a) Exorbitant (b) Commercial

intervene if
Durabl ical
[a) a parent wants his child to attend (el e {d) Tiogi
a specific school Directions (30-34) : Choose the

alternative that is most nearly opposite in

(b) & parent insists that his child ; :
meaning to the given words,

should not receive any education.

f¢) =& child prefers studying science 30. Anathema
over arts. '-a}

(d) a child wants to study abroad.

24. What is required to maintain both
individual and social freedom, according 31. Opaque

T
to the passape (&} Vague (b) Firm
la) A strong government,

(b} Complete individual freedom

Appreciation (b] Cursed

(c) Protection {d) Obstacle

[c) Transparent (d} Poor

without limits. 32. Belittle
(c) A balance between individual and (@) Allure {b) Disturb
social freedom. ; u
c]  Ascen d agni
{d] Restrictions on only  social (<) (d) gnify
freedom. 33. Inclement
Directions (25-29) : In the following {a) Pleasant (b) Stormy
questions, out of the four alternatives, select
[c) Feeble (d) Dignified

the word nearest in meaning to the words
given. 34. Vanity
25. Ostentation
fa) Calmness {b) Equanimity
{c] Declaration (d) Pageantry

{a} Humility (b) Pride
{c) ©Ostentation (d] Pity
Directions (35-37) : Choose the

26. Primordial
Feait it alternative which best expresses the meaning
() telnguteatn of the given idioms/proverbs :
(b) Small
35. To move heaven and earth
(e) Elementary
(d) Daunting (a) to pray earnestly
27. Massive (b] to make every possible effort
(a) Enormous (b) Erroneous {e) to sing beautifully
(¢} Hazardous {d) Perilous (d) None of the above

(B-5)
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36

37.

. To jump the gun

{a}] to do something without finishing it

(b)

to try and harm someone

{cy to do something before the
appropriate time
(dj None of the above

To fly off the handle
{a] todislocate

(b]
(¢) totake off
(d)
Directions [38-40) : Qut of the given

to lose one's temper

to be indifferent

alternatives, choose the one which can best

be

substituted for the given words or

sentence.

a8

39,

40,

41.

41,

. Constant effort to achieve something.
{a) Patience (b} Vigour

(e} Enthusiasm (d) Perseverance

Words inscribed on the tomb.
(a) Eulogy (b} Epitaph
[c) Memoir (d) Eloguence

Life history of a man written by himself.
(b) Autobiography
(d) Bibliography

(a) Biography
{c} Calligraphy

Soaps clean surfaces on the principle
based on

(a) wiscosity (b foatation

{c) elasticity (d) surface tension

WgT & g ARl B OWH B F
fogr amgRe 2

(@) TWET W (b) ©ET W

() UETRIAT OX (d) S EE W

(B-6)
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432,

42,

43.

43.

44,

44.

Which one of the following waves is used
for detecting forgery in currency notes ?

{a) Ultraviolet waves
(b)
(c] Radio waves
(d)
Gk M | A M I i G e | G M
% fog Frafafes & 3 PR a8 &
v g # Y

(a) URTRTHAT T
(c) e e
Which one of the following is the
chemical formula of gypsum ?

(a) CaSO,-2H,0 (bj Ca,SiO,

Infrared waves

Microwaves

(b) STEaEE ¥
(d) S AT

(c} 2CaS0, H,0 (d) CaSO,
frafafea 4 ¥ sF-—w Rem @
YAEHAE GEF B 7
(a) CaSO, 2H,0 (b)

(d) CasO,

Ca,Si0,
(¢) 2CaSO0,-H,0

Thyroid gland produces a hormone
called ‘thyroxine’ which

(a) controls blood glucose levels

(b}

{c) controls metabolic rate

(d)

yag (amnige) ufy ggdfRE e

U EfHE @1 Swed HYal 8, Wl

(a) & H @I @ W @ e
e § |

(b) SmEET (deger) o At
Far #|

(¢) SurTE gY W AT & g
@) TifgwRT ® 0 @ § |

cantrols ovulation

maintains pregnancy



45.

45,

46.

47.

47,

Precursor of which one of the following
vitamins comes from [ - carotene ?

{b] Vitamin-C
) Vitamin- D {d) Vitamin- K
frefafag RefET 4 9 5w e @
AT B-PBIEH W Wy BT & 7
@) fE@=E—aA (b fEfEE- c
() faefs—p (q) feffA- k

Who among the following was the
founder of the Young Bengal Movement ?

&) Vitamin- A

{a) Henry Vivian Derozio

(b) David Hare

{c) Dwarkanath Tagore

(d) Prasanna Kumar Tagore

W §TE AEled H Gati ArAforiEd
A% P ar?

(a) &I fafdgs fRdfem

b e TR

(e} EREE SR

(@) HE HAR TR

The Indian National Army/Azad Hind
Fauz was organized to fight against

(a) Germany and Japan
(b) British in India

lc) Japan

{d) Russia

R WS W /arare B Wi
Tov fome /e g oo @
femam rar oy ?

(a) TAHAT TYUT WY
(b) wTed # fafee
(e} I

(d) wH

@
ferg

©-7)

102

48,

48,

49,

449,

50.

50.

51.

Who is the Current Chairperson of the
National Women Commission ?

(a) Mamta Sharma

(b) Rekha Sharma

[e) Vijaya Kishore Rahatkar
([d} None of these

e e o o o gl
B E?

(@) e Tt

(b) T T

(c) faorar famemw wEEey
(d) FTH § FE T8

The Nagarjuna Sagar Project is located
on which one of the following rivers 7

(a) Godavari (b} Krishna

{c] Kavery (d)] Mahanadi
s W uRgieer, el
afeat & @ e oo W emRum @ 2

(@) TETER) (b) P

(c) TR (d) WEFTE]

Which one of the following States in
India has the longest coastline ?

(a) Odisha (b) Tamil Nadu

(] Gujrat (d) West Bengal
G & fefafem # W By wog F
Tuy Wit T geva g 7

(a) e (b) TS

(c) T () afEE de

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

[a) Article- 21 and Article- 446
{b) Article- 32 and Article- 226
(c) Article- 44 and Article- 152
(d) Article- 17 and Article- 143



51. ¥RA @ WM & S 9ugs, W 6oitw | 53, fefafes & ¥ - Ing @ wftae

we w9 6 Wifhe [Efdass @ owfer @7 ST faden 98 8 ?

B R T & B E ? @ e SRER

fal FTET— 21 T JATHT- 446 (b AT B weET

(b) ST 32 TAT ATWE— 226 (e) aarg

(c) SFF=TE— 44 Ul IgE— 152 (d) wfREE & B 9@ 9 @ e

&R B WU @ fAfdarg g

54, According to the Census 2011, the

(d) STEE— 17 TUT I 143

52. Who among the following can attend the density of population in which one among
meetings of both the Houses of the following States is the lowest ?
Parliament whil t bei f

; e e not being a member o (a] Sikkim
either House ?
(b} MNagaland

a) The Solicitor General of India
[e) Arunachal Pradesh
(b) The Vice-President of India
{d) Mizoram
{c} The Comptroller and Auditor

Severalof ladia 54. 2011 @ GIOOFT & FTER e
. _ Tl # ¥ P weg § weEem @
{d} The Attorney General of India T 297
52. HEE & O off W5 @7 9Eew T B9 =
i=1 %1&&3:‘
oy o1, Fefefas § & o Wug @ g9
T # Yol F Sufee B wear & 7 (b) TS
(a) WRE B WiREY T () VT HR
(b) WIE & SRy ), TR
) . 55. Which one among the lollowing
(e} R W1 PriEe vd AETerETTeaE countrics was the top contributor to

India's total FDI for the year 2023-24.

(d) ARG & AerEgaE]

53. Which among the following is not a basic
feature of the Constitution of India ?

la) Mauritius (b) Singapore
fe) USA (d) Japan

55. fr=iferfiaa % & ®=—w1 1o af 2023-

{a) Fundamental Rights _ .
24 # WG @ @ UhodlodHo H

b Ind ic
(b) Independence of Judiciary T o Fdvi ot 2
(c) Federalism - .
(a) HiREE (b) Ry
(d) The unquestioned right of the
Parliament to amend any part of (e} TR0 d) ©

the Constitution

(B-8)
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56.

56.

a7,

87,

58.

58.

50,

Fs. 561 is to be distributed among A, B,
C in such a way that A gets Rs. 120
more than B and REs, 120 less than C.
What is the share of B in this ?
{a) Rs.73 (b) Rs. 67
{c) Rs.76 (d) Rs. B0
561 %o F A, B, ¢ ¥ 30 yor Aol
oo & & A ® B ¥ 120 %o 3fde @
C ¥ 120 %o &9 At 3vd B @1 A
e & ?
(a) 73 %o (b} &7 %o
e} 76 Fo (d] B0 %o
Ha:b=3 :4and b:c=4 . 7 then
a+b+c=?

o
{a) 1 (b) 2
e} 3 (dj 7
g a:b=3:4TA b:c=4:78, A
a+b+c=?

o
fa) 1 (b} 2
e} 3 (d) 7
Two numbers are in the ratio 3 : 4 and
their LCM is 84. What will be the larger
number out of these ?
fa) 21 (b) 24
el 28 {d) B84
B W 3 : 4 B I H E T 3T
AYTH 99 84 T M W 99! e
7 By ?
fa) 21 (b} 24
[c) 28 (d} 84
A can finish a piece of work in 12 days. A
and B together can finish it in 8 days. In
how many days can B alone finish the
work ?
a) 24 (b} 20
fc) 18 (d) 22

(B-9)
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59,

5108

60.

61,

B1.

A THE FE F 12 B9 & wWa ww
FHaT B A Gy B e 59 8 faw &
AW @Y U & | B dE 59 Bd @

fFem oA ¥ SR SFaT & 7
(b) 20
(d) 22

fa) 24
fc) 18
A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worlced for 2 days. After that B
was put on the job in place of A. In how

many deys the work was completed in
all ?

[a) 12 days {b) 10 days

(c) 6days (d} B days
AfEd & & 10 39 4, B, 15 &9 4
aur c, 20 faq § @ # W 21 A
wer ¢ faeee 2 B9 B | aoreE
AT W™HE W B H FE W A &ar
T | e e B e fBE A qu
garm ?

@ 12 f@F (b) 10fa&=

(€ 6fed ) 8fes

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of

110 km more than Car A in 9 hours.
The ratio of the speed of car A and car B

is respectively :
(a) 28:31
(¢) 55:2 (d) 62:55

BN A 7 448 it & T 8 B A Ty
B OITHR B A9 T H I AH 110

forifto aifts €8 &9 & R A U7 BN
B 1 T & U HAT —

(b) 29:32

(@) 28:31 (b) 29:32

(c) 55:2 (d) 62:55



62,

62,

63.

63.

64,

A lent Rs. 5000 to B for 2 vears and Rs.
3000 to C for 4 years at the same rate of
simple interest. He received a total of
Es. 2200 as interest from them, what is
the rate of interest ?

(a) 5% (bB) 7%

e} 8% (d) 10%

A ¥ B & 5000 %o 2 9§ & oy @97 €
B 3000 Fo 4 Y & [0 HEROT =T
W UH B X ¥ SR @Y 9wq w9
g | AT $ WY F H 2200 Fo UIE
ol | = o A ov fhe & 7

{a) (b) 7%
(c) (d) 10%

A sum of money amounts to Ks. 8028 in
3 years and Rs. 12042 in 6 years at a
certain rate of interest, when the
interest is compounded annually. What
is the principal amount ?

(a) b} Rs. 4569
() Rs. 5643 (d) Rs. 4596

v FAfvea aftea =9 33 9w 3 39t A
U W 8028 ® wni & 3w 6 ut #
12042 $o B W B, TH =W aiE
®Y W HAST B 8 ) qe ufy w2 ?

(2]

5%
8%

Rs. 5352

@ 5352 Fo 4569 To

5643 To (d) 4596 Bo

(e

A man travels a certain distance by a
motorcycle. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more. But, if he had travelled 4 km/hr

faster, he would have taken 4%
minutes less. Find the distance,
(b] &8 km

(d) 72 km

66 km
76 km

(a)

(c)

(B-

102

G6.

7.

68.

10)

64, Ud wide HieY AEfde g U Mi¥En
o T wwer £ afE 9% 6 o s \vEr
g =om o 99 8 fame afw @
W, afe 98 4 f&dle /gver o9 =er
o 4% e 1 @) T} T
FIfT |
la) 66 fEdte (b) 68 o
(c) 76 fFHlo (d) 72 fFfe
65. [257-188)=7?
(a) 023 (b) 0.41
() 06 (d) 0B
65. (257-1.68) &1 # qar & ?
() 023 (b) 041
() 06 d) 08
Direction (66-69) : Read the following
information carefully and answer the

questions given below it :

Six persons A, B, C, D, E and F are

sitting in two rows, three in each.
E iz not at the end of any row,
D is second to the left of F.

C, the neighbour of E, is sitting diagonally
opposite to D,

B is the neighbour of F.

Which of the
diagonally opposite to each other ?

fa) FandC (b] Dand A
) AandC (d] Aand F

Which of the following are in the same
row ?

g} Aand E (b) Eand D
(c) Cand B {d) Aand B

Which of the following are sitting in one
of the two rows ?

() FBC
(c) DBF

following are sitting

(b) CEB
(d) AEF



69. After D and E interchanging seats, who
will be the neighbours of D in the new
position ?

{a) Cand A (b) Fand B

c) OnlyB {d} Only A

frdw  (66-69) : fr=fafas ga=nalt &
wEaHgdE ug SR A Ry e wwEt @

TR T
g @fdd A, B, C, D, E R F

gferal § 42 & vee ufdm § 99 wfem @

gl

E fordt ot ofm & foreme & 781 d21 &)

F & a1¢ TW% guv @i D T 8

EDTUHCHASTR O D& gEA & RSP

el fAode 9871 2

F& 9B da7 2

66. ffafas & & dF— & T @
e famole: gl der & 7
@) FaRc (b) D3RA
©) A3IRC [d A3RF

67, fa=fafag & 9 &9 e & ofda § €2
B 7
a) AMRE (b) E3RD
) caks (d) A3fNB

68. fre=rfoftas & & #m—r o1 dffegl &4 4§
TGHATE?

(a) FBC (b) CEB
(c) DBF (d) AEF

69, D IR E & Wl @ IHEAT-95en D
9E, AW F WD & I S do1 & ?
(a) cawA (b} FailkB
)] HETAB (d) HadA

70,

7.

7L

TL

T2

T

(B-11)
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A and B are brothers. C and D are
sisters. A's son is D's brother. How is B
related to C 7

g} Father (b) Brother
(c) Grandfather |[d) Uncle

AdwpwE ElcaRpasd €1 A @
421 D @ ¥1¥ 8| B, ¢ ¥ 59 o
g & ?

(a) foam
(c) @T&T

(b) HIE
(d) =T

A, B and C are sisters. D is the brother
of E and E is the daughter of B. How is
A related to D ?

(a) Sister (b} Cousin
{¢) Niece (d) Aunt
A, B3R c 784 €| D, E &1 i & afK
E, B & 9 81 A, D 9 &9 ¥R

Hafm & ?
(a) FEA (b) AT qEA
(c) WG (d) A

A and B are married couple in which B
is husband. X and Y are brothers. X is
the brother of A, How is ¥ related to B ?

(a) Brother-in-law
(b) Brother

{c}] Cousin

(d} None of these

A ¥k B foofes wer g e B ofr
gl xRy E §1X, AT S 21 Y,

B ¥ &9 yor wafeg 8 7
(a) TET

(b) W

(c) IRT HIE

(d) §H BIg el



Direction (73-75) : In each of the
following gquestions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

73. BRIGHTER

(a) One (B} Two

{c) Three {d} Four
74. HACKLE

lz2) One (b) Two

ic] Three {d) Four
7o, PICKLE

la) Two (b) Three

[c) Four (d) Five

e (73-75) : F=fefam & @ 9%
v § Ry Y wm # vl & 09w W
g foa 4 9 & @ €, faes f sieh
aofaren 4 g7 4w e 8 ?

73. BRIGHTER
(a) T (b) =
e} () @
74, HACKLE
(a) TP (b) &
(c) (@) 9N
75. PICKLE
la) < (b) =
(c) N (@ df=
76. Junk E-mail is also called
{a] Spam (b) Spoof
{c] Sniffer script (d) Spocl

76. WE U D T8 W FE W B ¢
(a) (b) 6
e} e fEe  (d) wE

4 2

78,

78.

T,

T3,

80,

(B-12)
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Data transfer rate in networks or
modems is measured in

ja) Bits per minute

(b) Bits per second

fc} Bandwidth

{d) None of the above

Jemed W HiewT H SEl Wi wY
ATdy e ®

(a} facw wfa fAse 4

(b) foew wia d@ve #

(c) H=frsyH

(d) VR # H DE AE

A video consists of a sequence of

(g) Frames (b) Signals
[c) Packets id) Slots

CEGIA

(a) R (o) Rrrer
() HbeH (d) witew

Which of the following
processing software ?

(a] WordPerfect (b) Google Docs
e} MS Word (d}) All of these
Fr=fefan & @ F9—w wm wEmeE
Hioea 8 ?
{a) TEUNHET
¢} MSTS

isfare word

(b) T Siad
(d) FTH & I

The types of software used to carry out
tasks, such as writing a letter, is called :

{a) GUI software
{b) Utility software
(c) Application software

{d) System software



80

81.

81.

B2,

82.

83,

83.

84,

. U8 Wivedsy oW fHEl T @ W
wea & o wam foean omen &, v &
o= forEen, weamn € ¢

(a] GUISiF=aaR

(b) Feferdt Wivedaw

[{sd] Ui Hireday

(d) e givcaw

Which of the following is not a computer
language 7

ia) BASIC (b) COBOL

{c) LOTUS (d) FORTRAN

et o § Pr— wregeR @ W i 27
(a) BASIC (b) COBOL

(c) LOTUS ({d) FORTRAN

Which of the following is not a web

browser ?
(&) Yahoo (b) Opera

[e) Chrome (d) Mozilla firefox

frafafag 4 9§ o9 tF 99 Faen
TEE?

(a) TTE (b) T

() TPH (d) AT EEETE

domain is usually used for
educational purpose.
{a) .in (b) .org
(¢} .com (d) .edu
......................... eEE e o PR
eyl % fow wga B 8|
(a] .in (b} .org
fc) .com id) .edu

Which of the following components of a
computer system, manages and
coordinates the operation of all the other
components ?

84,

BS.

B5.

B6.

Ba.

(B-13)

102

{a) Input Unit

(b] Output Unit

{t] Control Unit
(d) Arithmetic Unit

e d @ 219 Fygey Rwen § e
T W UTHl T OWEEE ¥ wEres our
YT 6 B w7

fa) FAGE FHIE

(b) 3TICYE TR

(c) @z gHIE

(d) eAfe® soE

JPEG stands for

(a) Joint Professional Experts Group
(b} Joint Program Evaluation Group
(e) Joint Photographic Experta Group

(d}) Jeint Experienced
Group

JPEG [ fawR 8-

(a) TETEE WS YHHUSH U

(b) VEIET ST AT o9

(c) TATEE WIerThe TEFIULH 0
(d) SUIET BIEMRS TFUNTR I
URL stands for

(a) Uniform Research Limited

Photographic

(b}  Uniform Resource Locator
(¢} Uniline Resource Labs

(d) Uniform Research Locator

URL &7 faWR -

(a) T R ofes
(b) TFwHE RErd dde
() gfersT RER e
) e Red dee



a87.

87.

29,

Spreadsheet files are generally stored
with an extension—

{a) .doc (b) .xsl

(c] .=xel (d) .xlsx

el BIgd WHAAE e R
T W HERe B ¥

(a) .doc (b) .xsl

[c] .xel (d) .xlsx

Intersection of rows and columns in
spreadsheet are called

(b) Cells

¢} Line (d] None of these
dredie ¥ dfeal oiv wt @ uftreges
™I HE TR e —

(@) dfeE (b) H7H

(c) @mEA (d) T g 7

is a compression technology for
transmission of video.

(a) JPG {b) MP4
(c) MPEG (d) 3GP

{a)] Box

89,

.

90,

(B-14)
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RELICEA
(a) JPG (b) MP4
(c) MPEG (d) 3GP

............ is a chip which performs
arithmetic and logical instructions in
CPUL

(a) Main memory
(b) Microcontroller
[c) Microprocessor

{d} SDRAM
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W T S9H! I8 W YRAIPT @ierw S 7 HEl 9IY q9 76 A Gl |

yfsT e RESEIR

ST - B

fAeffta w9y : 2 2 YfrHan 3% : 90
et @ foy Ady

10.

T E BN B geT arg anaell g giiee o o ¥ a8 ve-gfee g9 16 yei Al B W
Wﬁmﬁaﬁmw&gﬁﬁ%msﬁﬁmmﬁwuﬁa@@%ﬁﬁm%
dt 38 WHH e @ weE-gRae § 95d off W |

AT AT IAEE A-gRae § FW Ry W we § v 8| e afife se-giier w®
79 @ 7 ford aik et var @1 ormavge fam 3 |

arenfifat 31 Sower e T OMR Sheet # aiftn gt Fria =M ® wen 96 89§
qd e § AR 5l yeR @1 sFmEvEe fme wE g 8 oreves AR OMR Sheet W
IUeE B

we sw-fuftn o @ forg P oo et @Y @ @1 A diedige 99 AW W 0 9 ol
e 7 ffts 7 W @ W 9RE T F oW @ w9 A Rfl R W 99 I @ Ter A
ST |

70 g-gie § 9 ) f o @ e 7 ) e, OMR ST-0EE B 58 dEe 3l
i & | smuet whw—wwiy @ T8 weE-gRae o W o W B SrA £

59 WE-gRe ¥ g7 90 W ¥ | U W BT UM 1 3% ¥ o R @ foy % o 76
FIe I |

WA S, T, TEie U4 HRgey @ g B vd ool S A € | ol sl A Afie e
ye oY SUE R aEe A B P &, o S 0 R ue § A e

o -k ¥ 6 F1 9 forg ©1 gm ele Y E|

ol oy ¥ degeer, W U /09, Aga B GUd R SR @Y 4 T W
THST T FA Ao B

arnedfiTY 56 @28 ¥ & & f5 OMR Sheet %1 odi%+ goagii-® 7¥A g fod1 &l & |
¥a7a, OMR Sheet T T @ §él @ & WY g 7 0@ 78 w8 T 3R [
B w¢ e | 50 Py @ Ry WEE q @wd @ s ¥ el g Rl wd freer

B |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Booklet Series
Roll No. o C
Time Allowed : 2 Hours Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and aveid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue bhallpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Beoklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
CJuestion Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English, However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi
Translation.

Two pages have been provided for Rough Work in this Question Boaoklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine, 5o, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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Soaps clean surfaces on the principle
based on

la) viscosity (b) floatation

Ic) elasticity d) surface tension

T F EN Woel @ WG FWA B
fgr amnfa 8

{a) TOEET W (b) wTE 9%
(c) WEOTRIT WX (d) U TG WR

Which one of the following waves is used
for detecting forgery in currency notes ?

fa] Ultraviolet waves
(b} Infrared waves
{c] Radio waves

(d) Microwaves
Tl AR H WTere] @ 9EEE B
% forr fF=forfaT % 9 90 a0 @7
WA B § 7

(a) ORTATAI ORN (b)) ENE a9l
(e) XfEar @t (d) e Tt

Which one of the following iz the
chemical formula of gypsum ?

(8) CaSO,:2H,0 (b} Ca,SiO,
(c} 2CaS0,-H,0 (d) CaSO,
fFrefafeag # | gie—w forss @
e g9 8 v

(a) CaSO,-2H,0 (b) Ca,Si0,

(c) 2CaSO,-H,0 (d) CaSO,

Thyroid gland produces a hormone
called ‘thyroxine' which

(e} controls blood glucose levels
(b controls ovulation
(¢) controls metabolic rate

(d} maintains pregnancy

{C-3)
102

4.

g (arigs) afR curgNifaE ATHG

& BIHM @ 9WIgH a8, @l

(a) Yo ¥ @S ® WX P fraftE
Tl £ |

(b) S (3egeryE) @ A
DI E |

{c) SurrEdr v o FafEe wwar 2

(d) TTTEwE B T T R |

Precursor of which one of the following
vitamins comes from [} —carotene ?

{aj Vitamin-A (b} Vitamin- C
{c) WVitamin-D (d) Vitamin- K
g faer™= 4 9 7w @ @
IO p-HNEH W W BT E 7

() fEm=-aA (m REf@EE- c

() fefs-p (d) feerf@E- k
Who among the following was the
founder of the Young Bengal Movement ?
(a) Henry Vivian Derozio

(b} David Hare

{c) Dwarkanath Tagore

({d) Prasanna Kumar Tagore

T qTA AETEA B ade e

P ar?
@ B R ok
(b) Sfre gar

(c) EN&ATY SR

(d) S BAR SR

The Indian National Army/Azad Hind
Fauz was organized to fight against

(a) Germany and Japan

(b) British in India

([c) Japan

{d) Russia



10,

B
@

TR g /o B
Tea e /fhaa fows a4
fopar Ty @ ?

il
ferg

(a) ST TRAT WA
(b) e A s
(e} UM

{d) =¥

Who is the Current Chairperson of the
National Women Commission ?

(&)
(b)
(c)
d})

[T Afge AT Fr TR aemeT
PHE?

Mamta Sharma
Relkha Sharma
Vijaya Kishore Rahatkar

None of these

(a) ¥ T

(b) a@r wAf

() T fdemR wEEdE
(@) T | P T

The Nagarjuna Sagar Project is located
on which one of the following rivers ?

(a) Godavari (b) Krishna

() Kavery (d) Mahanadi

G O < 1 G 1 s A 2 R
Afeaf & & frw @ o saRya § 7

(a) TIETER (b) T

(c) TR (d) wETT

Which one of the following States in
India has the longest coastline ?

(@) Odisha
(c)

(b} Tamil Nadu

Gujrat (d} West Bengal

(C
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)

10.

11,

1L

12,

12.

qa & Aefofag § | g weg A6
T Afers a7 gevar & 7

anfEem (b) wfrerTg
RG] (d) uf¥es I

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

(a)

(c)

(a} Article- 21 and Article- 446
(b) Article- 32 and Article- 226
fc) Article- 44 and Article- 152
(d) Article- 17 and Article- 143

IRa & WgM & < SuEw, W w9
WE WY W WS gHAfderen @ 9w
H W B 8, DIA—H § 7

- 21 Y] SAAHT— 446
FwE— 32 7Y AJWe— 226

(c) aTT=PI— 44 TAT IAT=T— 152

(d) SFEE— 17 TUT AT 143

Who among the following can attend the
meetings of both the of

Parliament while not being a member of
either House ?

(a) The Solicitor General of India

(b) The Vice-President of India

(c} The Comptroller
General of India

[d} The Attorney General of India

e @ BT A wWeq @ wew A B8
w i, Fafafae & 9 o9 9ve @ a9t
weAl o It F Suftud & |aEar & 7

(a) | @7 Gt ey W

(b) WIRA & I

(¢) WRE T FTFS T4 AEeEIED
(d) WRG & ASAEAa)

(a)
(b)

Houses

and Auditor



13,

13.

14,

14.

15;

Which among the following is not a basic
feamire of the Constitution of India ?

(a] Fundamental Rights
(b) Independence of Judiciary
(¢} Federalism

(d) The unquestioned right of the
Parliament to amend any part of
the Constitution

fraferfera § 9 19— YRa & wfm

) ey e wE & 7

(a) W& ARHER

(b) TETIUTCTET W o=l

(c) HEATg

(d) Tfes & s f amr @ weeE
w3 I e w0 [Affae vfe

According te the Census 2011, the
density of population in which one among
the following States is the lowest ?

(a) Sikkim

{b) Nagaland

(c) Arunachal Pradesh
(d] Mizoram

2011 B IO B AR fr=feria
wou ¥ few v A v @

g WA 8 7
(a) Fifdws

(b) FTTEE

(c) STEYITEA Wew
(d) fhoiE

Which one among the following
countries was the top contributor to

India’s total FDI for the year 2023-24,
(a) Mauritius {b) Singapore

{c) USA (d) Japan

(C-5)
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13.

16.

16.

17.

17,

18,

18,

fre=fofaa § & @$H9-W % ad 2023
24 ¥ WRa @ TA (WodlodHo H

walfers grmeEaal <9 o ?
(a) HiREE (b) TR
(c) YoUHoUo (d) wITHr

Junk E-mail is also called
(a) Spam (b) Spoof
{c} Sniffer script (d) Spool

WE BA FH UE W TET IR B :

(a) ¥ (b) I
() e (9 o
Data transfer rate in networks or

modems is measured in
(a) Bits per minute

(b) Bits per second

{c) Bandwidth

({d) WNone of the above
deudd W ASR A glel WERRY 8%
Adt Rl

(a) facw wfg fase

b) fIew ufy dovs #
(c) Hefgu =

(@ SWE H | g T8

A video consists of a sequence of

(a) Frames (b) Signals
{c) Packets (d) Slots

g1 3 |

(a) W (b) THmTerE

(¢ Hoew (d) Eefew



19.

19.

20.

20.

21.

21.

2z2.

Which of the following is/are word
processing software 7

{a) WordPerfect (b) Google Docs
() MS Word (d) All of these

Feforfaa § 9 ®H-91 Y 99T
Hredmw & ?

(a) TEITDHIC
[c) MSaE

(b) TTel S|
(d) TH | W

The types of software used to carry out
tasks, such as writing a letter, is called :

{a) GUI software

(b) Utility software

{e) Application software
{d) System software

e Wved W fae Tne @ O
w @ forg wanm fmr o @ oW 6
o= fergmn, wgemar & :

la) GuUI HireaaR

(b) gfefard Hiredm
(c) TSI HTETAR
(d) fwen diveda

Which of the following is not a computer
language ?

(a) BASIC (b) COBOL
() LOTUS (d) FORTRAN

e § 9 S wrger A s S 27
(a) BASIC (b) COBOL

(e} LOTUS (d) FORTRAN

Which of the following is not a web

browser ?
{a) Yahoo (b) Opera

{e] Chrome {d} Mozilla firefox

(C-6)
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22,

23.

23,

2%,

24,

25.

frefofga % ¥ oF-a1 (& 98 IS
TR ?

fa) ATE
() A

(b) @i
(d) =ifrer wraveiTs

domain i1s usually used for
educational purpose.

{a) .in (b) .org
(¢} .com {d) .edu
Qevyl & fog gga B 2|
(a) .in (b) .org
{c} .com (d) .edu

Which of the following components of a
computer system, Manages and
coordinates the operation of all the other
components ?

(a] Input Unit

(B) Output Unit

() Control Unit

(d) Arithmetic Unit

e A W o erae faed § s
& W "eH] F WEHT g HEed oyl
WY FT B FHEl 2 7

(a) FTYE IPT
(b) TICYE THE
(c] WIS gHTE
(@) eefafR® FHE

JPEG stands for

(a) Joint Professional Experts Group
[b) Joint Program Evaluation Group
fc) Joint Photographic Experts Group

(d} Joint Experienced
Group

Photographic



25.

26.

26.

27.

27.

28,

28.

JPEG &1 R &—

@) TETEE WIS (HETEd 9
(b) TETEE W AR qW

() ST WEUhe TeaTed 9
(d) vaEe W TEEdiRie g
URL stands for

() Uniform Research Limited

{b) Uniform Resource Locator

(c) Uniline Resource Labs

[d) Uniform Research Locator
URL & fawm 8-

(a) FwH Red e

() e REd dmer

(c) gfemes REH of=g

(d) gFwd Red awex

Spreadsheet files are generally stored
with an extension-

(a) .dec (B} .xsl

] .xecl (d) .xlsx

BT BEd AT v fareame
@ A SN s |

(a) .doc (b) xsl

e} .xcl (d) .xlax

Intersection of rows and columns in
spreadsheet are called

(b) Cells
(d) None of these

{a) Box
fc)
wrede § dfemal ik W\ & wfiee
T Tl W e —
EiE

GIER

Line

(b) T
(d) 79 g TE

(a)

(c]

102

(

L7)

29. is a compression technology for
transmission of video.
(a) JPG (b) MP4
e} MPEG (d) 3GP
. T difear & wane & forv gdrea
TEHIS & |
(a) JPG (b) MP4
() MPEG (d) 3GP
0. . . 18 a chip which performs
arithmetic and logical instructions in
CPLI.
() Main memory
(b) Microcontroller
[c) Microprocessor
(d) SDRAM
30. . G G S WY F iy
iR wfee fAde frenfes ol 21
fa) HF AN
(b) FIEBBZIAR
(c) WTEBHRR
(d SDRAM
frdw  (31-3s) : Fr=feifm & & U=
e ATl WEE W GG DIfeIg—
31, (a) HaTERE (b) @TEEIRE
(c) eaTEIRS (d) dgeii®
32, (a) WIgHd (b) WigHid
(c) WigHE (d) TTEYHID
33. (a) SMUTEOTEI (b) STHEETRE
[c) TR (d) 3o
34, (a) SHIYH (b) LT
(c)  SrFEIET (d) SrEET



35. (a) ftrergfam (b) Srfregifaa
(c) arftydrarit (d) sriererafa

frder (36-40) : Frrferfae v wEl @
o ve = =% Ry 1y fAwe 9 99—

36. fSHaT o= 7 8-
(@) ST (b) U
(c) ol d) fas
37. WA @ $TIT @A qTol—
(a) fast (b) foremyg
() ST (d) =
38. ¥ ¥ Wl A¥EE B
(a) TR (b) SmeE
(c) R (d) arcitfes
39. W fadt @ féw @mEar 8-
(a) fRd@m (b) HfEd®HR
c) fei (d) fRemd
40. STET WA qren—
(a) SHeqs {b] €8s
() g a) Irs

frdw (a1-42) : P=fafes  geedl/
difaal &1 of wwe fir Ty fawedt § @
TH-
41, BT B B A AT B e B

(@) HHH I A

(b) W &

(c) EAT IERT BT

(d) |rE T

(C-8)
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42. ‘offE guer @ o 8-
(b) ereEr 2=

) o (d) =T =

e (43-46) : Fr=fafag smovor &
W 9y SR IWW WalT gl & 9w,
ol e @ freweEr 8, f{u 1y et |
W gg—

wow et & gew § e eW
HUT T B HERf wr aver & w99 oiik
HHAT wEd B BT ¥ 9% e W, e
A R e @ g ol @ S
P P Hag TN VEar g o qw @
fratfeal & gaa H 98 Sead deer 78 B
a8 WE, WHE SR o gu-vify ek
wyle we1 & fou @1 domr ¥ Semifa e
wdwa fea & i weia =g @ e
Bl FE] Y8 Wl | T8 W9 99 39 a4 &
UG e B URa wwel & 5 98 e 9§
gHell B W TR IR B AR B, o
w e w2 3 =y % v @) W &t
B wgEreR  SfeW @M SO THeH
FEER HY T, YT WA B W odd 9
W Aigd oW o 7 § |

43, TWHE W @ 99 8-
(@) SroT wgly
(b) 3 T
(c) 3N ST WIEAT
(@) T A=
44, TENE T G AT 2
(a) T AEE
(b) TSI
() s & ufa s
) T B g

{a) THORTAT



45, Y USIWAW @ §ed # A g
&

(@) T @ e & o

(b) T W gE—wy F

(c) 2% & Hwr & ferg

(@) <7 @t 7w & forg
SyAiaa g Fe 8-

srtforeg @1 Fawe w1 @ fg
g ¥q @e @ fog

(c) 3rgfenT T &Y e B fw
d) TR # fey gE @R By

féw (a7-48) : fafofEg o= &
wEERf e w1 gae 99 ffu v et |
¥ Pt -

46,
(a)
(b)

47. Fi=
(a) TG (b) R
(@ fow (d) FIT
48, oYl
(a) e (b) @
(c) Wl (d) e

frdwr (40-50) : F=fofeg o=t @
fem = & 999 99 fRu 7 et 8§ ¥
o

49, FUTAS
(@) ETETE (b) Romes
(c) HAFTHAS (d) TS
50, 3w
(a) BT dAF (b) arfre
(c) &9 (d) e

102
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L9)

Direction |51-54) : Read the following

information carefully and answer the

guestions given below it :

Six persons A, B, C, D, E and F are
sitting in two rows, three in each.
E is not at the end of any row,
D is second to the left of F.
C, the neighbour of E, is sitting diagonally
opposite to D.
B is the neighbour of F.

51. Which of the following are sitting
diagonally opposite to each other ?
fa) FandQC (b} D and A
e} AandC {d) AandF

52. Which of the following are in the same
row ?
fal Aand E (b) Eand D
fcf CandB (dl Aand B

53, Which of the following are sitting in one
of the two rows ?
(a] FBC (b) CEB
(c) DBF (d) AEF

54. After D and E interchanging seats, who
will be the neighbours of D in the new
position ?
fa) CandA (b} Fand B
{c) OnlyB [d} Only A

iy (51-54) : PrefRen wemmel =t
wEyEgEe 9e o | R’y Ty gt @
TG

UE @ A, B, C, D, E 3R F &
et 4 49 & udw dftm # oW =few &2
g1
E foruT ff ot & fame # =181 dor 81
B @AY oNe T @iw D der B

E® YW A CdeTE W D P AW @ T
el ol o1 81

F @ 99 B 48T £



51

52,

53,

54,

55.

55.

26,

Frefefen & 4 @F-w (@ N @
e faevle: Auda der & ?

fa FaRcC (b) D3NA

€ AsRC (d) ASIRF
Fefofan & @ @9 @ & 9ftdg 7 92
g7

a) A3RE b) E3RD

©) caRB d) A3RB
ffafas § § @9—w1 o ufemal 4 @
m A E?
fa) FBC (b) CEB
(¢ DBF (d) AEF

D 3N E ® WA ¥ ASo-d581 &
e, MW RDPIEITAATE ?

(a) C3RA (b) FaiRB
c) HaAB (d) @ae A

A and B are brothers. C and D are
sisters. A's son is D's brother, How is B
related to C ?
{a) Father {b) Brother
le)] Grandfather (d] Uncle

AIRBHEEICIND 987 &1 A &1
T D FT AR ¥ B, ¢ ¥ frE mer
Hafeg g ?

fa) foam

[c) TTT

(b) =T
(d) =TT

A, B and C are sisters. D is the brother
of E and E is the daughter of B. How is

Arelated to D ?
(a) Sister (b) Cousin

) Niece (d) Aunt

56,

S57.

57.

A B3R CHed €| D, E ¢ Wi & 3
E, B®# 3& & A D ® 59 worR
Hafta & ?

(b) FHY FET
(d) W

) F&A
{c) A

A and B are married couple in which B
is husband. X and Y are brothers. X is
the brother of A. How is ¥ related ta B 2

(a) PBrother-in-law
{b) Brother

{e} Cousin

(d) None of these

A R B faafEa e & s B ofy
EIXolvywE 1 x, awr A &) v,
B ¥ forg wen wafdw 2 ?

(a) T (b) *rg
(c) wwT WE (@) g7 ®Ig e

Direction (58-60) : In each of the

following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

58,

59.

60.

(C-10)

102

BRICHTER
(a}j One {b] Two
e} Three id] Four
HACKLE

(a] ©One (b) Two
(¢} Three {d) Four
PICKLE

{a) Two (b) Three
{c) Four (d) Five



fadw (58-60) : Fr=ifarfag ¥ ¥ v

e # fay U owm # qut @ 09 e W

g R 4 s & oof & Rew 5 sish
o | g A B § 7
58. BRIGHTER
() TP (b) =T
(¢) oM (d) =
59. HACKLE
(a) TD (b) =T
(c) = (d) =M
60. PICKLE
(@) =T (b) o=
() ¥R (d) wfa
61. Rs, 561 is to be distributed among A, B,

61,

62.

62,

C in such a way that A gets Rs. 120
more than B and Rs. 120 less than C.
What is the share of B in this ?

(a] Rs, 73 (b} Rs.67
() Rs. 76 (d) Rs.80

561 %o @ A, B, C ¥ 39 oK faafs
FE 8 f A B B ¥ 120 To AU qor
C ¥ 120 $o F5 M| swd B @1 WU
fame ?

(a) 73 %o (b} &7 To

[c) 76 %o (d) 80 %o
Ha:b=3:4and b.:c=4:7 then

a+b+c
=7
(i

@) 1
e} 3

(b) 2
(@) 7

e a:b=3:4TMbic=4: 78 d
ﬂ+b+c=?
G
fa] 1 (b) 2
] 3 (dy 7

63.

53+

64,

64,

B5.

65.

(C-11)

102

Two numbers are in the ratio 3 : 4 and
their LCM is 84. What will be the larger
number out of these ?

(@) 21 (b) 24

(c) 28 {d) B4

T HEE 3: 4 B U ¥ & den 5w
g WA 84 # | 59 | 79 W
w1 &y 7
fa} 21
{c] 28

A can finish a piece of work in 12 days. A
and B together can finish it in 8 days. In

how many days can B alone finish the
work ?

(a) 24 (b) 20

e 18 (d) 22

ATH Y F 12 R § warw v
Wl 2| A T B Meey 796 8 29
WAIG $) Hdd & | B sdell 56 &1 3
P RT Ay R aFar & ?

(a) 24 (b) 20

(e) 18 (d) 22

A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worked for 2 days. After that B
was put on the job in place of A. In how

many days the work was completed in
all ?

(b) 24
(d) 84

fa) 12 days (b) 10 days

{c] 6 days (d) 8 days

A T&sl & @1 10 R # B, 15 fom &
T ¢, 20 BT ¥ g &% wew €1 a
aur ¢ e 2 &S B | araee
AT WE W B B FE W R
| e ey B e 3§ g
g3 7

@) 12 fes
€) 6

(b) 10 f&=
(d) &fea



66.

66.

87,

67.

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of
110 km more than Car A in 9 hours.
The ratio of the speed of car A and car B
is respectively :
a) 2E:31 {b) 29:32
f[c) 55:2
SR A 7 448 fofto & gt 8 e # 7w
FTNMFRBAOTR FFTRAEH 110
fthle HfE® €31 @7 1| R A T4 &R
B @ TR &1 U HAI —

(d) 62:55

(a) 28:31 () 29:32

() 55:2 (d) 62:55

A lent Rs. 5000 to B for 2 years and Rs.
3000 to C for 4 years at the same rate of
simple interest. He received a total of
Rs. 2200 as interest from them, what is

the rate of interest ?
(a) 5% (b) 7%

(€ 8% d) 10%

A B W 5000 Fo 2 a9 & fow Ten ¢
Pl 3000 To 4 T & 0 IEmOT =S
T TP B SN § R R eud 99

T @ B w9 F A 2200 Fo WE
et | = @ aiffe <% feet & 2

(b) 7%
(d) 10%

@ 5%
(c] 8%

A sum of money amounts to Hs. 8028 in
3 years and Rs. 12042 in 6 years at a
certain rate of interest, when the
interest is compounded annually. What

is the principal amount ?
(a) Rs. 5352 (b) Rs. 4569

() Rs. 5643 (d) Rs. 4596

(C

102

GB.

B89,

B9,

T70.

70.

e e gftee =9 58 w3 9§t #
v Ufdr 8028 8 WAl £ W 6 @ul #
12042 Bo E WM ®, W4 @9 aqse
w9 W Ao gar 8 | g wfdr wmw @ v

fa) 5352 %o (b) 4569 To

[c) 5643 Yo {d) 4596 Jo

A man travels a certain distance by a
motorcycle. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more, But, if he had travelled 4 km/hr

1

faster, he would have taken 45

minutes less. Find the distance,
(a) 66 km (b) 68 km
fc) 76 km (d) 72 km
e @i Aley Wisiod aw U@ AfEe
o0 79 T &) I 9% 6 e /uver

dR TEEr @ 99 8 ffHe Afe
v, afg 98 4 fEe /uver oW Hen

ﬁaﬁ4%fﬁﬁzmm|§@laﬁ
B |

(a) 66 fHo b) 68 fdo
(c) 76 o (d) 72 famflo
(2.57-168)="?

(a) 023 (b) 0.41

€) 086 (d) 0.8

(257 -1.68) @1 57 T & ?

(a) 023 (b) 041

¢l 08 d) 08

Directions (71-74) : Read the passage

and then answer the questions based on it
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

12)



PASBAGE

The rule of the road means that, to
protect everyone's freedoms, we must
sometimes restrict individual freedoms. When
a policeman steps inte the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we
can create a society where freedom is real for
everyone. We must preserve both our
individual freedom and our social freedom.
This requires a thoughtiul balance. While no
one should tell me exactly what my child
must study, if 1 were to say my child should
have no education, society would step in and
insist that my child must go to school,
whether [ like it or not.

71. What does “the rule of the road” suggest
in the passage ?

(a) Freedom should not be restricted

at any time.

(b) Individual freedoms must
sometimes be limited to protect
everyone’s freedom.

()] Only policemen have the right to
restrict freedom on the road.

(d) Freedom cannot coexist with rules.

72. According to the passage, when a
policeman stops traffic, he represents
(a) tyranny (b) power

e} freedom (d) fear

73, The author suggests that society would
intervene if

{a] a parent wants his child to attend
a specific school

(b] a parent insists that his child
should not receive any education.

ic) a child prefers studying science
OVEr arts.

(d) & child wants to study abroad.

(C-

102

74. What is required to maintain both
individual and social freedom, according
to the passage 7

(a) A strong government.

(b) Complete individual
without limits,

freedom

{c] A balanece between individual and
social freedom.

(d) Restrictions on  only
freedom,

Directions (75-79) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
glven.

social

75. Ostentation
() Calmness
(c) Declaration
76. Primordial

(b) Egquanimity
(d} Pageantry

{a] Feeling of elation

(b) Small

(c) Elementary

(d) Daunting
77. Massive

{a] Enormous (b Erroneous

lc) Hazardous (d) Perilous
78. Stubborn

[a] Cbservant (b) Obnoxious

{e} Obstinate {d) Corpulent
79, Astronomical

{a) Exorbitant (b)] Commercial

{c) Durable (d) Mogical

Directions (B0-84) Choose the
alternative that is most nearly opposite in
meaning to the given words.

BO. Anathema
(a} Appreciation (b} Cursed
{c) Protection (d} Obstacle

13)



81,

82.

83.

84,

Opaque

{a) Vague {b) Firm

e} Transparent (d] Poor

Belittle

(a) Allure (b) Disturb

{c) Ascend (d) Magnify 87.

Inclement

{a) Pleasant (b) Stormy

{c) Feeble {d) Dignified

Vanity

(a) Humility (b) Pride

[¢} Ostentation (d) Pity

Directions (B5-87) : Choose the
alternative which best expresses the meaning
of the given idioms/proverbs :
85. To move heaven and earth

(a) to pray earnestly

{b) to make every possible effort

[c] to sing beautifully

[d) None of the above

(C-14)
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89,

90.

To jump the gun
{a} to do something without finishing it
(b} to try and harm someone

[c} to do something before the
appropriate time

(d) MNone of the above

To fly off the handle

(a] to dislocate

(b) to lose one’s temper

e} to take off

{d) to be indifferent

Directions (88-90) : Out of the given

alternatives, choose the one which can best
be substituted for
sentence.

the given words or

88. Constant effort to achieve something.

(a) Patience (b) Vigour

{c] Enthusiasm (d) Perseverance
Words inscribed on the tomb.

{a} Eulogy (b) Epitaph
fc] Memoir {d) Eloquence
Life history of a man written by himself.
(a) Biography (b)

e} Calligraphy (d) Bibliography

Autobiography
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W 7% YD J§ He YREdT Wie $I 7 He1 WY 9 T | @l |

e WA L ESE Tl

HTHHID : C

el w9 : 2 =5 B 3F : 90
yenfiat @ fog fAder

10,

W YW B @ Qi a5 onadl 98 gfied @ o & 98 we-qRaer g 16 gwi 9 8 W@
e o v W sRT o B §E T & 4 ¥9e U ad Hiear anfe ge T8 € Ak v i
1 g9 WA JEe ared WeE-giae § a€d @ |

! SO FPEAE AR 4 SR R T e § w g e e yE-gies w
7B At 7 ford ik et wom @1 apaeTs frem A T |

sfifal w wuerer v T OMR Sheet # aiftra gmand fFuifta WM o e ¥ &9 1
7d vl & o Rl veR @1 aeewe e T8 a9 & | 3gess R OMR Sheet W
SLECRS

we sm-fafte o @ fog i w@ T @ @ @1 e s U9 W W W@ W SR
e ® fifee 7 w1 @ @ 3 e B IR @ w9 A ffed v W 99 S 91 T A
e |

o yr-gftae # @ R ot o B e 7 3¢ WEw, OMR IT-19% &1 38 (8% ol
Wi & | et we-waa & a5 geE-giee W | om # eEi 8

79 Wit 3 g 90 ¥ & | UG WA 1AM 1 ofF ¥ Tew o o for B 3w
FIE TG |

W S, T, TRl U4 mReY @ We R o oot < A £ | ofy oRn A giea R
pe AR IS R e 4 R P @ & Ut o g wee @ A

T we-gfae & v @ @ foe & 9w Bie MU E)

when @5 ¥ dogoey, W U8 /98, WA B $U9 geane SER 9§ v
IHFHT SYANT F afofd E

srgeffTor g eg W S9d ¥ f5 OMR Sheet @1 qeid Soragia w4 g far @ & |
#79, OMR Sheet W 7iel &1 wél tiie ¥ #¢ arye w4 9! T8l Ug TR 3N Feaie
T W R | 39 ST B SR wan T o @t sEwer A ot e ol g R
Ul

Note : English Version of the instructions is printed on the First Page of this Booklet.
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DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Booklet Series
Roll No, . D
Time Allowed : 2 Hours Maximum Marks : 90

10,

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one

circle will be treated as wrong answer,

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator, You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questicns in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi
Translation.

Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine, So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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Rs. 561 is to be distributed among A, B,

C in such a way that A gets Rs. 120
more than B and Rs. 120 less than C.
What is the share of B in this ?

(a) Rs. 73 (b} Rs.67
(¢) Rs. 76 (d] Rs. 80

561 To @ A, B, C ¥ 59 vor o
FAT £ fF A T B ¥ 120 Fo AfDF Ten
C ¥ 120 %o 9 fAe| 398 B &1 W
famm & ?

(a) 73 %e (b) &7 Fo

[c) 76 %o (d) 80D Fo

Fa:b=3:4and b:c=4:7 then
u+b+c=?
e

@ 1 ) 2
fc) 3 (d) 7
g a:b=3 4TI b:c=4:7TE, @

at+b+e
C

(&) 1 (b) 2
fe) 3 (dy 7

Two numbers are in the ratio 3 : 4 and
their LCM is 84. What will be the larger
number out of these ?

(@) 21 (b) 24
() 28 (d) 84

T w3 ;4 F U # # ey o
YT FAE 84 €| T § 9 weA
a1 grfy ?

(@) 21 (b) 24

(c) 28 (d) 84

A can finish a piece of work in 12 days. A
and B together can finish it in 8 days. In
how many days can B alone finish the
work 7

(a) 24 (b) 20

e} 18 (d) 22

7

(D-3)
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AT o @ 12 &9 4 wAa w
W &1 A T2 B Mooy 5@ 8 feq 4
IS @Y W &1 B 3(dell g9 @1d B
R A e g g ?

{a) 24 (b) 20
() 18 (d) 22

A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worked for 2 days. After that B
was put on the job in place of A. In how
many days the work was completed in
all ?

fa) 12 days {b) 10 days

(c) 6&days (d] 8 days

Afedl v &1 10 RA # B, 15 &9 4
ar ¢, 20 RBF 4 @1 F wEA 21 A
e ¢ fieew 2 R o fvar | oeawmm
AWM W B B FE W o B
a1 | Fel Freman B fres fm § gy

g 7
(@) 12f&F b 107
) 6fa (@) 8fa=

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of
110 km more than Car A in 9 hours,
The ratio of the speed of car A and car B
is respectively :
fa) 28:31 (b) 29:32
e} 55:2 (d) 62:55

TN A 7 448 o o T 8 ¥ § T4
FAMFRBAOUEHBNA T 110
forito s o0 70 BT FR A TT FR

B @ 7T W ST HHE —
(@) 28:31 (b) 29:32
(c) 55:2 (d) 62:55



A lent Rs. 5000 to B for 2 years and Rs.

3000 to C for 4 years at the same rate of
simple interest. He received a total of
Rs. 2200 as interest from them, what is
the rate of interest ?

fal 5%
(c] 8% (d] 10%

A 7 B ® 5000 o 2 T @& {30 @ C
T 3000 Fo 4 I§ & 6T WY @@
@ U® B EY 9 wur Bl ewH eH
Tl | A B WY A Gl 2200 Vo WIE
fard | = & Ot ex fsaT 2 7

b} 7%

(d} 10%

(b) 7%

(a] 5%
(c) 8%

A sum of money amounts to Rs, 8028 in
3 years and Rs. 12042 in 6 vears at a
certain rate of interest, when the
interest is compounded annually. What
is the principal amount ?

(a) Rs. 5352 (b) Rs. 4569

() Rs. 5643 (d) Rs. 4596

Us e wfoea =T Y 9% 3 79 H
TH W 8028 B W & ofv 6 awl #
12042 ¥o B Wl 8 WE &S qD
w | WA g &) g i g @ 7

{a) 5352 %o (b) 4560 To

fc) 5643 %o (d} 4596 %o

A man travels a certain distance by a
motorcycle. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more. But, if he had travelled 4 km/hr

faster, he would have taken 4%
minutes less. Find the distance.
(a) 66km (b} 68 km

() T76km (d) 72 km

(D-4)
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8.

10.

10.

11.

11.

12,

12,

UF i Ae] ureldd g s faf¥Ed
T g Y £ Ak 98 6 e suver
d @ o 99 8 fAme afte @
v, afk 98 4 fe /wveEr oW deren

a’raﬁ%ﬁﬂaﬁnmﬁlq&m
Hifdy |

() 66 fFHTe (b) 68 faFHle
(c) 76 f@Hle (d) 72 fadfe
(257 -1.68)=2

(a) 023 (b) 041

c) 06 (d) 038

(257 -1.68) @1 At o & 7

() 023 (b) 041

() 06 (d) 0.8

Junk E-mail is also called

(a) Spam (b) Spoof

(c) Sniffer seript (dl Spool

W& $d B g8 N FET e ?

(a) W (b) B

() ¥R fore (@) w@

Data transfer rate in networks or

modems is measured in
(a) Bits per minute

(b) Bits per second

() Bandwidth

(d) None of the above
Teaed W oAieRT H STel RWFRRY &%
ATY WA B

(a) few ofy fime 4

b) faew wfg dsve
(c) wefrey A

(d) TR H G BE A



13.

13.

14,

14,

15.

15.

16.

A video consists of a sequence of
(a] Frames (b) Signals
(e] Packets (d) Slots
EEGIN!

(a) W (b) FTrers
(c) Udew (d) ¥TEH

Which of the following is/are word
processing software ?

(8) WordPerfect (b) Google Docs
fc) MS Word {d} All of these

frafafag # 9 oF- = 99us
Higeaw & 7

(a) dSRHES (b) TETH S

(@ MsTE (d) T F T
The types of software used to carry out
tasks, such as writing a letter, is called :
(a) GUI software

(b) Utility software

{c) Application software

(d)
TE wivedm e el e @1 W

o & forg wan fegr o B, o
g3 e, weam & ¢

System software

fa) GUI Hgeayw

(b) Tfefed wivedaw
() Tel@Ie Higeddy
(d) Fres dived

Which of the following is not a computer
language ?

{a] BASIC (b) COBOL

(c} LOTUS {d) FORTRAN

102
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16.

17.

17,

18.

18.

19,

19,

o % B30 Fgex 9 W A €7
(a) BASIC (b] COBOL
(c) LOTUS [d] FORTRAN

Which of the following is not a web
browser ?

(a] Yahoo, (b) Opera

(e) {d] Mozilla firefox

fFr=fafen & | Fi—1 v 99 7o
R

(&) ATG
€ M

Chrome

domain is usually used for
educational purpose.

(a) .in (b) .org
e} .com (d) .edu
e ST AR W fREm
el & foy Wyt BT 2|
(a] .in (b) .org
{e) .com (d) .edu
Which of the following components of a
computer system, manages and

coordinates the operation of all the other
components ?

{a} Input Unit
(b} Output Unit
{c} Control Unit

(d) Arithmetic Unit

= A | o9 ey Rren § e
T WU UTH @ Wawd 9 Wured our
HHg @7 B Bl & 7

(a) TYE THE
(b) SNTYE THE
(c) Wgred FHIE
(d) RS g



20,

20.

21,

21

23,

22,

23.

JPEG stands for

{a) Joint Professional Experts Group

{b) Joint Program Evaluation Group

{c} Joint Photographic Experts Group

{d] Joint Photographic Experienced
Group

JPEG &1 faee 8-

(@) TATEE WIHYEE YEETEH 4

(b) ETgE WIATH FITYYAH 9

() wEE BEmfhS gEEdE g

(d) VETEE WEThe TR 0

URL stands for

{a) Uniform Research Limited

(b} Uniform Rescurce Locator

{e] Uniline Resource Labs

{d) Uniform Research Locator

URL &7 R 8-

(@) TFHEH R fofaes

(o) e R draex

() Ffmge Rwt s

(@) FfFeH R ey

Spreadsheet files are generally stored

with an extension-

la) .doc [b) .xsl

(g .xcl (d) .xlsx

i CHICAL I E T o SRR (<5 23 4

o Y Herive 8kt g |

(a) .doc {b) .xsl

c) .xel d) .xlsx

Intersection of rows and columns in
spreadsheet are called

(b) Cells
(d} None of these

(a) Box

(c)

Line
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23.

24,

24,

25,

25.

information

wrevie d offagt i = & wfaees
w wEl el & —

(@)
{c)

ar

EIEz (b) Wed
CIER| (d) 39 B AR

iz a compreesion technology for
transmission of video,

g) JPG (b) MP4

ic) MPEG (d) 3Gp

e, BN T WETOOT B T WSS
THAD E |
(&) JPG
[c) MPEG

(b) MP4
(d) 3GP

is a chip which performs
arithmetic and logical instructions in
CPU.

(a)
(b
(¢} Microprocessor

({d) SDRAM

s, T TG & W WY # R
i wfFs fAdy Fenfeg s 21

(@) FF FEA

(b) FEHIHEIEN

(c) TSN

id) SDRAM

Direction {26-29) : Read the following
carefully and answer the

Main memory

Microcontraller

guestions given below it :

Six persons A, B, C, D, E and F are

sitting in two rows, three in each.

E is not at the end of any row.

D is second to the left of F.

C, the neighbour of E, is sitting diagonally
opposite to D,

B is the neighbour of F.



26,

27.

28.

29,

Which of the following are sitting
diagonally opposite to each other ?

ja) FandC (b) Dand A

(c)
Which of the following are in the same

oW 7
(=)
(c)

Which of the following are sitting in one
of the two rows ?

(a)
fe)
After D and E interchanging seats, who
will be the neighbours of D in the new
position ?

(a)
{c] OnlyB (d) OnlyA

frdw  (26-29) : Fr=fafea gaael =

Aand C (d} Aand F

Aand E

Cand B

(b} Eand D

([d) AandB

FBC (b) CEB

DBF (d) AEF

Cand A (b) Fand B

T 9@ v A Ry Moyt @

TR ¢

BE &fdd A, B, C, D, E 3R F =

dfeeat 4 48 € we ofew ¥ &= afl 8

&

E f&e off ofdm & e o =8 der 2
F & 9% T=% 8% &t p do1 2

EFUEHCHT R W DD U & RS
et ol a1 &1

F & U§ B 99T 21

26.

frefafas & & o9 & T B
HHe el foda dor & 7

FaRcC
AdRC

(a) (b) DRA

(c) (d) ARF
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27,

28,

209,

30,

30.

2l.

31.

?ﬂﬁmﬁﬁﬁﬁﬁw%’r#ﬁﬁﬁ&é
v

&) ARE b) EafRD

) c3RB (d) A¥RB
FReferfaa 9 | &—ar < 9wl § §
TEHASE?

(a) FBC (b CEB

() DBF (d) AEF

D 3R E & WHE @ sEd-d9e 3
g, YU WM QY D % W S deT 8 ?

(a) csiiva b) FaiB
e) ®aAB (d) e A

A and B are brothers. C and D are
sisters, A's son is D's brother. How is B
related ta C ?

(a) Father
() Grandfather (d) Uncle

AIRBAE ElCcaRDusd &) A &
4T D F ME B B, ¢ ¥ 59 war
Hefga § 7

o

GG

(b Brother

(b) T
(d) =

(a)

(<)

A, B and C are sisters. D is the brother
of E and E is the daughter of B. How is
Arelated to D ?

(a)
()
A B3Rcw st €D E T AR 2 3w
E, B @ %21 | A, D © 59 wor
wWaeg & ?
(@) @BA
Gl

(b) Cousin
(d) Aunt

Sister

MNiece

(b} HHET FET

(c) (d) #HT



32. A and B are married couple in which B
is husband, X and Y are brothers. X is
the brother of A. How is Y related to B ?
(a)
(b)
(e}
(d) None of these

A 3k B fRafRe oer & ord B oy
EiIxsywE &I x, AamaE 21y,
B Y 5y vor Wi 2 ?

() T (b) TS
[c) W W (d) 4 FIE AL

Direction (33-35) : In each of the
following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

33. BRIGHTER

Brother-in-law
BErother

Cousin

32.

{a] One (b) Two

[c) Three (d) Four
34, HACKLE

() One (b} Two

el Three (d) Four
35. FICKLE

(a) Two (b) Three

{c) Four (d) Five

o (33-35) : F=fofa 4 & v
e # Ry o o A 9t @ U e ore
g fome 9 o & ool & R fF afeh
goferen # gua 49 8 8 7

33. BRIGHTER

ot
G|

(b) =T
(d) =R

(&)
(c)
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34.

35.

36,

36.

37,

37.

38,

38.

HACKLE
(a) U&F (b) =1
(¢) o (d) ¥R
PICKLE
(a) (b) =
(] R (d) dfe

Soaps clean surfaces on the principle
based on

(a)
[e) elasticity
WY & ENT HOS| @ WH DX DI
fagr e 2
(@) FIEAT ¥

c) TTOTRITOT WY

Which one of the following waves is used
for detecting forgery in currency notes 7

(&)

viscosity (b) floatation

(d) surface tension

(b) =94 O
(d) 9 T91T 9G¥

Ultraviclet waves

(b) Infrared waves
le) Radio waves
(d) Microwaves

T AR d Terel # UgErE @
% foro fyfafea § 99— @@l &1
WA BT 8 7

(@) TETETAT @A (b) SrEvEd oeit

() XMW @T  (d) HeH A

Which one of the [ollowing is the
chemical formula of gypsum ?

(a) CaSO,-2H,0 (b) Ca,SiO,
() (d) caso,
Feafofas % ¥ s fRream @
ITaRE gF 2 ?

(a) CaSO,-2H,0 (b) Ca,SiO,

(c) CasS0,

2CaS0, -H,0

2CaS0,-H,0 (d)



a9,

39.

401

40.

41.

Thyroid gland produces a hormone
called ‘thyroxine' which

[a) controls blood glucose levels

(b} controls ovulation

{c) controls metabolic rate

(d) maintains pregnancy

yag (wmigs) oty CugRifeE S
U BIAM @1 Sedrgs wedl 8, @1

(a) vad ¥ @ @ W B At
Tl el

(b) aerea (srEgerem) @1 A

Hel & |
(c) U=l g% &1 FEET w2
(d) TTHTERIT BT GATY YT & |

Precursor of which one of the following
vitamins comes from P - carotene ?

(a) Vitamin- A (b) Vitamin- C
[e) Vitamin-D

frfofea fRefer & 9 f/w @ @
HOH p- BN F W BT R 7

(@ fFETf=- A
(o) FefE-c
() fef=— D
(d) fEeIfE— K

Who among the following was the
founder of the Young Bengal Movement ?

(d) Vitamin- K

{a)] Henry Vivian Derozio
{b) David Hare
(e} Dwarkanath Tagore

(d) Prasanna Kumar Tagore

(D-9)
102

41.

42,

42,

43.

43,

T G A= @ WaHE [AefeiEd
H W HE gy ?

(@) T Rfme R

b) e Bax
(c) ENEETY SN
(d) WHS FAR SR

The Indian National Army/Azad Hind
Fauz was organized to fight against

(a) Germany and Japan

(b) British in India

[c}] Japan

{d) Russia

wRdE s W/aree R Wi @

Tor e /fowe five @ed @ R
fragr oy oy ?

(a) STEAT AT STATH

(b) W # ey
(¢) U
d) =¥

Who is the Current Chairperson of the
National Women Commission ?

{aj Mamta Sharma

{(b) Rekha Sharma

fc) Vijaya Kishore Rahatkar

({d) MNone of these

wga wfigen s @ adwe semen
&8 ?

(a) AT A

(b) Y& T

(c) Ao feiR wEIEaR
() T W BIg TE



44,

44,

45.

43.

46,

The Nagarjuna Sagar Project is located

on which one of the following rivers 7
{a) Godavari {b) Krishna

(e} Kavery {d) Mahanadi
AR 9rR aREreEn, el
Afeat & | fbw v uv e & 7

(a) TIrETE (b) T

(c) T (d) HETET

Which one of the following States in
India has the longest coastline ?

{a) Odisha (b} Tamil Nadu
[e)] Gujrat (d) West Bengal

g & Frefafaag & @ fow owg §
ey e o gevaEr & 7

la) e (b) aferTg
(€) o (d) Ti¥EH FTE

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

(a) Article- 21 and Article- 446

(b} Article- 32 and Article- 226

[c] Article- 44 and Article- 152

(d) Article- 17 and Article- 143

IRA @ WRus @ 21 euew, @ waifte
W WY W e gAfderss @ oo
h Aad FE L, D9 B 7

(a) FIEE— 21 T FDI— 446

(b) FIEPE— 32 YT ITWE— 226

(¢) T®™T— 44 TUT IATWT— 152

(d) STDE— 17 TAT AWE— 143

47.

47,

48,

48,

(D-10)
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Who among the following can attend the

meetings of both the Houses of
Parliament while not being a member of
gither House ?

(a) The Solicitor General of India
{(b) The Vice-President of India

{c)] The Comptroller and Auditor

General of India

([d}] The Attorney General of India

woe & et ff we= & wew 9 B
v W1, Fr=fefeg § F &9 99g ¢ 4
HEAl B do@ § SuRug e Tear & ?

(@) WRT T AifeRey g

(b) HIRH @1 SRR

(c) WwE & FgEs vd Aererarafies
(d) WRT @ AErFATgae

Which among the following is not a basic
feature of the Constitution of India ?

(a)} Fundamental Rights
(b} Independence of Judiciary
[e} Federalism

({d] The unguestioned right of the
Farliament to amend any part of
the Constitution

Frefafes & & F9- 9ra @ dfaas
@1 reege e € & 7

(a) T FEBR
(b) TATHUTITT T WS
(c) uarg

(d) e & 9 9T F e
Ty & dag A g ofew



49. According to the Census 2011, the
density of population in which one among

the following States is the lowest ?
(a) Sikkim

(b) Nagaland

(e} Arunachal Pradesh

{d) Mizoram

49. 2011 ® WETUAT @ AR fAefafag
veat ¥ @ fFw www § wEeer @

T A 8 7

(a) FHfeerm
(b ATICTS
(c) STHITHA HEY
(d) FeRH

50. Which one among the following
countries was the top contributor to
India's total FDI for the year 2023-24,

{a) Mauritius (b) Singapore
(c) USA (d) Japan

s50. fa=fefaa # & -1 v of 2023-
24 # YNG & F[ol UhoSlodEo #
watfe grremeal g9 o7 ?

(a) Hif (b) TR
) YoTUHoTo (@ W

Directions (51-54) : Read the passage
and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASBAGE

The rule of the road means that, to
protect everyone's freedoms, we must
sometimes restrict individual freedoms. When
a policeman steps into the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we

can create a society where freedom is real for
everyone, We must preserve both our
individual freedom and our social freedom.
This requires a thoughtful balance. While no
one should tell me exactly what my child
must study, if I were to say my child should
have no education, society would step in and
insist that my child must go to school,
whether [ like it or not.
51. What does “the rule of the road” suggest
in the passage ?
{a] Freedom should not be restricted
at any time,

() Individual freedoms must
sometimes be limited to protect
everyone's freedom.

(e} Only policemen have the right to
restrict freedom on the road,

(d) Freedom cannot coexist with rules,
52, According to the passage, when a
policeman stops traffic, he represents
(a) tyranny (b) power
¢} freedom {d) fear
53. The author suggests that society would
intervene if
{a) 'a parent wants his child to attend
a specific school
(b) a parent insists that his child
should not receive any education,
{c} & child prefers studying science
over arts.
(d} & child wants to study abroad.

54. What is required to maintain both
individual and social freedom, according

to the passage ?
(e} A strong government.
(b) Complete individual freedom

without limits.

(e} A balance between individual and
social freedom.

{d] Restrictions on only
freedom.

social

(D-11)
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Directions (55-59) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
givern.

55. Ostentation

(a) Calmness (b} Equanimity
lc) Declaration (d) Pageantry
56, Primordial

(a] Feeling of elation
{b) Small
lc) Elementary
(d) Daunting
7. Massive
{a] Enormous {b) Erroneous

[c) Hazardous {d) Perilous

58. Stubborn
{a) Observant {b) Obnoxious
(c} Obstinate {(d) Corpulent

59, Astronomical

la) Exorbitant (b} Commercial
() Durable (d) Illogical
Directions (60-64) : Choose the

alternative that is most nearly opposite in
meaning to the given words.

60. Anathema
(@) Appreciation (b) Cursed

{c) Protection {d) Obstacle
61, Opague
(a) Vague (b) Firm

ic) Transparent (d) Poor

62, Belittle
(a) Allure (b) Disturb
e} Ascend (d) Magnify

63, Inclement

(&) Fleasant (b) Stormy

{c) Feeble (d) Dignified
64, Vanity
(a)  Humility (b) Pride

fc] Ostentation (d) Pity

Directions (65-67) Choose the
alternative which best expresses the meaning
of the given idioms /proverbs :

65. To move heaven and earth
() to pray earnestly
(b) to make every possible effort
{c) to sing beautifully
{dl None of the above
66. Tojump the gun
{a) to do something without finishing it
(b) to try and harm someone

{c)] to do something before the
appropriate time

{d) None of the above
67. To fly off the handle

{a) to dislocate

{b) tolose one's temper

(c) to take off

({d] to be indifferent

Directions (68-70) : Out of the given
alternatives, choose the one which can best
be substituted for the given words or
sentence.

68. Constant effort to achieve something.
{a) Patience (bl Vigour

{c)] Enthusiasm [(d) Perseverance

(D-12)
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69. Words inscribed on the tomb.
(a) Eulogy (b) Epitaph

[c) Memoir (d) Eloguence

70. Life history of a man written by himself.
(a) Biography (b} Autobiography
(e} Calligraphy

fEe  (71-78) © Feafafea 4 @ g8
qeAl GTel TS @1 9 Bifag—
71. (a) daER®E (b) =TEERE

c) waele (d) TaBIRe

(d) Bibliography

72. (a) WrgHE (b) WA
(c) WTEHTE (d) IRIETHE
73. (a) WS (b) STHEEE

(c) seaRa (d) S
ST (b) FTFETA
(c) SrFEETT (@) SrFEET
75. (a) wforergfee (b) SreTEIfER
fc) arTreaTaRn (d) erforerge
fdw (76-80) : FmfafaT e wEl &

74, (a)

fore va g w Ry MY Rwet ¥ § -
76. e w9 7 81—
(a) ST (b) 3o
(c) & (d) fawr
77. A @Y §TOT TG are—
(a) R (b) forsmyg
() SN (d) ==
78, TE IR W ARG 8-
(@) FTER (b) ¥mEEE
() IR (d) aFetfr®

79. O fai @ fRg amer 8-

(a) fEE®Hr (b) afEeHra

() feddi (d) e
80. oI W aTen—

(a) 9 (b) 9Es

(¢ #d (d) &=

fader (81-82) : fy=fefas wemwi/
deifeeal @1 el ewe Ry Ty fawwt 4 9
T
81. T HI B 7 HIA FT e -

(a) WA ¥ UE W

(b) @A T

(c) EAT e BT

(d) e T
82, ‘Iif TEmMT w I 8-

(a) WET (b Gr@r &=
(c) AT (d) =Ter e
fréer (83-86) : freiforfaa amawer &

i ohEd @ [AENEER 8, Ry Ty Reedr §
@ -

TS USIAET @ g9 H aud o
YA QY B WEPR AT T & WA UH e
AP Wew B BT 2| 98 W I, S
i (R~ | e A T
T B Wag TR wal &1 Fwm tw @
Frafadl @ geg A g8 Sewt wa =9
9 W, W B} HTEl gE-wmin e
wify wer & faw @t dom 2 Swwfdw ik
widwts foa @ fam wsfa s @ et

(D-13)
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£ 981 5 wHar| 98 9E 99 §W 9 &
v wen H aRE el 8 fF ouw ey 9
il 1 @ P s B AR B aH
W fer = o =g ¢ fou @9 e &

B UEWeN oFfAd W@ SO (@ed
AN BN T, AU WEW @ Uy w9
7@ ArSHR 99 9 7§ |

83, WREN U @ go0 8-
(a) ST W
(b) TG AT
(c) YT Soad wWiaA
(d) S E—eE
84. TR & WE HHH B
(a) WS HES
(b} TSR
) W & Wiy e
(d ¥ P gE-wik

85, UH® WEIMAHT $ g5d H JNAM B
&

@) =w P wafg & forg
by =w @ gu-wi @ o
() =T & HEr & forg
(d) T B " b o

86, SImfda WRS T 8-
(a) o @ Ao w9 @ oy
(b) IO =g e & forg
(c) argfEm @y vg deq & oy
(@) i @ foY g8 9 B

fade (s7-88) : fy=fafas w=f &
el v @ "uH 949 B U fawedl |
H Bifeg —

87. Hi=
(@) T (b) f8
e) fow (d) B
88, G¥dl
() HI (b) @rEH
(c) I (d) arEe
fdy (so-00) : fr=feifean w=l @

fasim wee F1 99 999 Ry v fawet ¥ 9
i

BO, THUMTHE
(a) GFTHS (b o=
{c] HIARHS (d) HTHF
g0, afr
(a) WEA AT (b) I
(c) ofed (d) e

(D-14)
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Space For Rough Work / F= B B o0 oE
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V4 TP 39! I8 H¥H YRdT @i B 7 FE Y q9 a7 @il |

e s ke e

— D

e v : 2 92 AT #F @ 90
wieni @ fog ke

10.

wET g6 B B R ae onefl 78 e a¢ & fF 98 we-qRae ga 16 yef @ £ o
5t ot g @ T o v g T ¢ W TP T e BRew At ue W E of dw d
 $0 WA AEan Aol TE-gRae § 986 ol @i |

ST FHA D F-ghRee ¥ SR Ry 0w ¥ w ) e SRR se-gRae m
7w W 7 e iR el vaw @ srave P F = |

il #1 wue® SRR T8 OMR Sheet # aifta gt fuife i ® wden g6 &9 &
@ Al @ AR Rl yww @ smewe fam € e ¥ sevae AT OMR Sheet W
LR

wEl sm-ffed #w @ for feife o2 o9t @ a1 @ A dfedtes 99 g W) @ oftw
et a1 Rifed 7 W 1@ W 9fE TR o e B w7 F RftT T W 99 O @ e A
S |

T we-gRae § 9§ & 0 0= @1 a5 ) 1det, OMR SR-Taw @1 ge dew @
Wiy €| s wher—wi @ 919 FE-gfaw au g™ @ 9 B g 8

T WE-IRaeT H e 90 W § | W@ Ye @ AW 1 3 & | e O @ o o1 o e
P W |

WA T, T, SRuE U segeY @ wed B ud ofeh g A € | Al g & g R
e i wwe R argare # @ B &, o ol # qfea wew & A g

T -y § % e @ forg < ge Bl g E)

TeT w8 # dadecy, WIe U /HE, AaEd B sREl eie Suew @y & v vd
@ YA T A §

e g @2 W o 6 f OMR Sheet @1 7odia geidgig 79 gR1 fay i 2

#yg, OMR Sheet W el 1 W8 7@ 3 W 370 599 39! T8 98y oiR Toares
T FW U | 56 S @ SERE: UEd | od @) oy ¥ onaeff swe R Wy R

i

Note : English Version of the instructions is printed on the First Page of this Booklet.
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MODEL ANSWER OF THE CLERK (2ND SHIFT) EXAMINATION-2022
SET -A

Answer

Q. No.

46
47
48
49
50

51

64
55

56
57
58
59
6O

61

62

63

64
65
66

67

68

69

70
Tl

72
73
74
To
76
77
78
79
30
81

82
83

a4

85

el

87

88
89
80

Answer

Q. No.

10
11
12
13
14
15
16
17
18

19

21

22
23

26

26
27
28

29
30
31

32

33

34

36

37

38
39

41
42

43
44
45




MODEL ANSWER OF THE CLERK (2ND SHIFT) EXAMINATION-2022

SET -B

Answer

A

Q. No.

46

A
48
49
&0

al

52

1)

55

BT

a8

6d

60

61

62

63

64

85

66

67

64
69
70
Tl

72
73
74

76

T8

79

80

81

&2

83

84

86

37

B9
80

Answer

Qt Noi

10
11
12

13
14

15
16

18
19

21

22
23

24

25

26

27

29
30

31

32

33

34
35
il

37

a8
39
40
41
42

43
44




MODEL ANSWER OF THE CLERK (2ND SHIFT) EXAMINATION-2022

SET -C

Answer

0

Q. No.

46

47
48

49

a1
b2

55

&7

59
60
61

63

64

6h

66
B7

B&

69

0
7l

73

i

il

78
79

80
81

82
83
84

86

87

89
80

Answer

Q. No.

10
11
12
13
14
15
16
17
18
19
20
21

23
24
25

26

27

28
29
30
31

32
33

34

35
.36

37

39

41

42
43
4

46




MODEL ANSWER OF THE CLERK (2ND SHIFT) EXAMINATION-2022

Answer

A

Q. No,

46
47

48
49
a0

b1

b2
bd

58
b7
58
59
60

61

62
B3
64

65

67
i)

6y

70

71

72

73

o
76
i

78
i)
g0
8l

82

83

B4

85

a7

85
88
a0

SET -D

Answer

Q. No.

10
11

12
13
14

15
16

13
19
20
2]

23

25

26

27

28

28

ol

31
32

33
34

35
46
37
38
39
410

41

42
43

45






